S8 DR

Ideal Bell Technology

WORK TOGETHER WITH YOU

L3 ENREHR AR AR

ik PENCIA 2LTIVERX FHEEE 56 S
Hi%: 0086 — 574 — 87251225

f£E: 0086 — 574 — 87251216

EBHB: sales@ideal-bell.com

Miik: www.ideal-bell.com

Zhejiang Ideal Bell Technology Co.,Ltd.

Add: No.56 South Huancheng Road, Panan Industrial Park, Zhejiang Province, China
Tel: 0086 - 574 - 8725 1225

Fax:0086 - 574 - 8725 1216

E-mail: sales@ideal-bell.com

Website: www.ideal-bell.com

www.ideal-bell.com



(®idealer”

Y NRER AR AR —ER N FRAMENSETEE~E,
PERIHEERERDIERER IR OEM FR, HINRIFAWNEN, BEEF, BT, MIHES

Ideal bell continually strives to be a leading manufacturer of pneumatic components and systems for distributors and OEMs

worldwide. We want to satisfy our customers, employees, owners and society in equal measure




What We Value
FAEMTA?

B8 AI5 iR ehE
Confident, Honesty, Open, Creative

wi

iy

|
WOVOOHN

i

v

25 a8 SRR

Business Strategy Quality Policy

A0, TR REH—, BAWME, BRI

Stay innovative and professional, work together with Quality first, technology- oriented, pursuit of excellence

customers!

#Z
RSRE
Service Principle

WEAE, B “Ww REBR
Integrity-based, gain a "win-win" goal!

=

01

www.ideal-bell.com

Directory

=B

Certifications
Introduction

Stainless Steel Fittings
Brass Push Fittings
Welding Fittings
Composite Push In Fittings & Valves
Speed Controllers
Brass Pipe Fittings
Barbed Fittings

Brass Push On Fittings
Compression Fittings
Vacuum Generators
Air Tubes

Pneumatic Silencer

Zhejiang Ideal Bell Technology Co.,Ltd. 02




Certifications
NEHES

Certificate of Approval A
Certificate No.: 10114Q16118R0S :20130032‘31
Awarded to
ZHEJIANG IDEAL BELL
TECHNOLOGY CO LTD.

AdGNO SSHUANCHENG SOUTH ROAD PN AN NDUSTRIAL PARKLINHUA, ZHESANGCHINA.

o RUELTE 49

A 0LOGY
e CERTIFICATE OF ADEQUACY

BER GB/1067/3177/11 Issue 1

Bei L enter (2L
Quality Management System of the above organization has been assessed and found to be
i accordance with the requirements of the standard:

1509001: 2008

Product Name:Tube Connector (Stais

connector) SCOPE OF CERTIFICTION/REGISTRATION

PRODUCTION Al

SRS S A AN AN SIS ARSI Wi aananh

L0006 OSI
LO0O6 OSI

Subject to opes it it i System,
11.;; C:mfw!: is valid for a period of three years only,
te from: Now 10th,2014 Ta ‘Nov 9th,2017
Hus tific shall be
Oof ZLTR for tificate will not be in force dentif s
s by ZLTR within approprinte time linit. Fittings

Zhejiang Ideal-beel
Technology (o, » LTD

6QD¥20140080
ed Adjusting Pneumatic Tube

Company Name:ZHEJIANG IDEAL BELL

2160-120030A12009 150 121002
o 2008412008,

Informasion—oT s cersicae e Tound
Ammisuaton gf e Feoplc Repubic of Ch
Beling Zrongian Tianrun e

Entrusteq Test

¥ 3 T

Service Agency:

B

“ﬁikg#ﬁqﬁupm

T 0n 1 Iy
Peton Center of g
UMt Proguyg

(

Beijing Zhongliantianrun Certification Center

01,2602, 2603, Block , o v, Sein, PR China 1001

Page 1/9
MSDS NO.: AOOIRIS09280201
Creation Date: September 30, 2018

est Report No. SHAEC1803936701

Date: 12Mar2018  Pagetof4

Applicant: ~ Zhejiang ideal-belltechnology co. Iid
Address: NO.56 South Huangcheng Road Pan’ an Industrial Park Zhcjiang China

[ZHEJIANG IDEAL BELL TECHNOLOGY CO.LTO
{056, South Huancheng Road, Pan ‘an Industrial Park, Zhefiang, China.

Sample information:
‘Sample name: Sisinless Steel Push In Fitting

Model:

‘Sample composition/raw material (supplied by client): Refer 1o section 3 of the MSDS"Composition/Information on
Ingredient”

Edit period: From September 25, 2018 to September 30, 201

SP18.005975 - SH
a Stainess Steel

Date of Samplo Received : 05 Mar 2018

05 Mar 2018 - 12 Mar 2018

Ploase refer to next page(s).
Please refer to next page(s).

Based on the performed tests on submitied sample(s), the results of Lead,
Mercury, Cadmium,

Required service :  As specified by the client, to edit Material Safety Data Sheet (MSDS) by the submitted

sample information.

1/6S/EU.
Summary . As specified by the client, This safety data sheet was prepared in accordance with UN
GHS Rev, The EU CLP REGULATION (EC) No 127272008, and US OSHA Havard
Communication Stndards (29 CFR 1910,1200). Please refer to the attached report for
details,

signed for and on behaif of
SGS-CSTC Standards Technical Services (Shanghai) Co., Ltd.

Shanghai Changyin Testing Technology Co. Lid

‘Shanghal Changyin Testing Technology Co. Ltd
Room 1018, V6 Times Business Buiding, No 16, Xinyuan Road, Anting Town, Jading Distict, Shanghai
06,

»

SRR SHIARAT

Company Prolife
NEIET

WIURB—RELEFHENMRARS H—EMNRE], HMILTF 2007 F, EFEMUFINIERTIVEX, S#EFR 10000 5K, 7l
REGALAMERRE, TEUFEBUMMTENIERES, BEFER 2500 F M7= mB9EE7 .

WIVREWRM SRS, SEL, BHiR, TRVBMH, [, BHERETR. XEFROZATRERE, TWamk, af, BR,
Efr, BENMEFTIL,

ZEIURERIUKR—ERYREREWAIM—Eatk, AL, Q& 1S09001: 2008, HiEIZTWMHREERAERMERIZMRIE
PR E Y, FINEE CE. SGS F-miAll. ZERIBEIREFR “IDEALER” mrERFISEIF-mEEBERN, LN, fBx
M, M, FRE L0 SPERTMXK, RERZEFOINETHER.

.
X
A
+
X

Ideal-bell originated in 2007 as a professional manufacturer of pneumatic components. We owning and operating “IDEALER®” trademark fittings,
but also is experienced in ODM & OEM service.

We offer a wide range of products to satisfy your requirements. Such as Push in fittings, Pneumatic Cylinders, Solenoid valves, Air source Unit,
Air Tube, Muffler & air gun etc., which are widely used in automotive industry, auto-machinery, environmental protection, medical equipments,
construction, and packaging industries and so on.

Ideal Bell production plant locates in Panan Industrial park, Jinhua, which is 2 hours away from Ningbo port. It covers 10000m?, equipped with dust-
free work shop & auto assembly lines & modernized laboratory, annual production capacity reaches 25 million pcs. Quality is the priority of Ideal
bell, cost efficiency constant! In order to earning that, we passed 1SO9001:2008 to standardize our production procedure and quality control system,
also getting CE, SGS, etc. certifications. Our goods are well recognized in world market, such as Europe, South America, North America, Asia, Middle
East, etc.

To work better with our customers, we will continually develop new and innovative solutions to meet your needs. Our experienced staff and high

equipped facility enabled us to support you competitive in your market!

Zhejiang Ideal Bell Technology Co.,Ltd. 04




Stainless Steel Fittings
RN R IT=Z K

www.ideal-bell.com

Features/ $¥1if
Stainless Steel Fittngs suitable for all those applications where brass nickel-plated and acetal fittings are banned, the new AISI 316L
fitting is conceived to withstand corrosive environments (substances), to channel aggressive fluids and to be used in the food and chemical

industries. Stainless Steel fittings line is standard equipped with Viton seals that will assure endurance at the highest temperatures.

ody (SUS) ock Claw (SUS) ody (SUS) ock Claw (SUS)

ollar (SUS) ollar (SUS)

elease Sleeve (SUS)

Release Sleeve (SUS)

\Back Ring (SUS)
-Packing (FKM)

O-Ring (FKM)

- . irclips (spring steel)
irclips (spring steel)
O-Ring (FKM) O-Ring (FKM)

O-Ring (FKM)

— \ Matal Body (SUS) atal Body (SUS)

Specifications/ I ARKHE

Applicable Fluid Type Air, Water,Vacuum

Working Pressure Range -14 ~225 PSI| -0.99~ 15 Bar

Working Temperature Range [SMERZYREE -15°C ~220°C

Vacuum Rating to 750mmHg

Recommanded Tubings PA11, PA12, PA6, PE, PU,PTFE,FEP

Applications Pneumatics, Food Industry, Chemical, Medical and Pharmaceutical Industry

Tube Outside Diameter You Can Choose As Follows: Thread Size For Your Choice As Follows:
E LUEENSEIMERTWT: {EO] USRI R0

Code No. X3

Thread Size B£8R

Metric Size/ %R~ Inch Size/ EHIR
Code No. {5 4 6 8 10 12 | 5/32 1/4 | 5/16 | 3/8 1/2

Tube Outside Dia
SN 4 | ©6 | ¢8 | 10| d12 |d5/32| dl/4 | d5/16| $3/8 | d1/2 M5

1/2

Zhejiang Ideal Bell Technology Co.,Ltd. 06



www.ideal-bell.com

Stainless Steel Fittings
REENRIERE X

SSPC

I S S S TR

I A N
5 ; SSPC4-GO1 4 G1/8

SSPC4-M5 SSPC4-GO2 23.9 4 G1/4 7 17
SSPC6-GO1 208 6 G1/8 55 14
SSPCA-M6 211 4 M6 45 10 SSPC6.GOD 0.8 . G 1/ 7 17
—— " . - ac B SSPC6-GO3 20.8 6 G3/8 8 19
SSPC6-G04 237 6 G1/2 9 24
SSPCE-M6 217 6 M6 45 12 SSPC8-GO1 27.8 8 G1/8 55 14
SSPC8-G02 2.8 8 G1/4 7 17
SSPC5/32-M5 20.1 5/32 M5 35 10 ST CLHoE S 5 38 A e
SSPC5/32-U10 20.1 5/32 U10-32 35 10 SSPC8-G04 228 8 G1/2 9 24
SSPC10-G01 278 10 G1/8 55 17
5 SSPC5/32-M6 211 5/32 M6 45 10 = SSPC10-G02 29.8 10 G1/4 7 17
B SSPC10-G03 308 10 G3/8 8 19
SSPC1/4-M5 207 14 M5 35 12 SSPC10.G04 Sag 10 612 5 o
SSPC1/4-U10 20.7 1/4 U10-32 35 12 SEIPCIUHCE ElG 2 G1l/4 7 1
ow ow SSPC12-G03 326 12 G3/8 8 19
SSPC1/4-M6 217 1/4 M6 45 12 < SSPC12-G04 276 12 G1/2 9 24

SSPC1/4-U01 247 1/4 UN1/8 6 14

O-ring
e O-Ring e

SSPCF4-M5 23 6 4 7

SSPC SSPCF SSPCF4-M6 236 4 M6 7 12
SSPCF6-M5 237 6 M5 7 12

_-_-— SSPCF6-M6 237 6 Ve 7 L
SSPC4-01 20.7 4 PT1/8 SSPCF4-01 24.6 4 PT 1/8 8 14
SSPC4-02 24.1 4 PT 1/4 11 14 SSPCF4-02 27.6 4 PT 1/4 11 17
SSPCE-01 20.7 6 PT1/8 8 12 SSPCF6-01 24.7 6 PT1/8 8 14
SSPC6-02 24.7 6 PT1/4 11 14 SSPCF6-02 27.7 6 PT 1/4 11 17
SSPC6-03 257 6 PT3/8 12 19 SSPCF6-03 28.7 6 PT3/8 12 19
SSPCE-04 30.7 6 PT1/2 15 2 SSPCF6-04 317 6 PT1/2 15 24
SSPC8-01 2 8 PT1/8 8 14 SSPCF8-01 263 8 PT1/8 8 14
SSPC8-02 25 8 PT 1/4 11 14 SSPCF8-02 29.3 8 PT 1/4 11 17
SSPC8-03 26 8 PT3/8 12 19 SSPCF8-03 303 8 PT3/8 12 19
SSPC8-04 31 8 PT1/2 15 22 SSPCF8-04 333 8 PT1/2 15 24
SSPC10-01 29.1 10 PT1/8 8 iy SSPCF10-01 28.9 10 PT 1/8 8 17
SSPC10-02 322 10 PT1/4 11 1 SSPCF10-02 319 10 PT 1/4 11 17
SSPC10-03 325 10 PT3/8 12 19 SSPCF10-03 329 10 PT3/8 12 19
SSPC10-04 36.5 10 PT1/2 15 22 SSPCF10-04 359 10 PT1/2 15 24
SSPC12-02 34.7 12 PT 1/4 1 19 SSPCF12-02 34.1 12 PT 1/4 11 21
SSPC12-03 34.1 12 PT3/8 12 19 SSPCF12-03 35.1 12 PT3/8 12 21
SSPC12-04 38.7 12 PT1/2 15 2 SSPCF12-04 38.1 12 PT1/2 15 24
SSPC5/32-N01 20.7 5/32 NPT 1/8 SSPCF5/32-M6 236 5/32 M6 7 12
SSPC5/32-N02 24.1 5/32 NPT 1/4 11 14 SSPCF1/4-M5 23.7 14 M5 7 12
SSPC1/4-N01 20.7 1/4 NPT 1/8 8 12 L_jv SSPCF1/4-M6 23.7 1/4 M6 7 12

_ SSPC1/4-N02 24.7 1/4 NPT 1/4 1 14 SSPCF5/32-N01 24.6 5/32 NPT 1/8 8 14
SSPC1/4-N03 25.7 1/4 NPT 3/8 12 14 [% SSPCF5/32-N02 27.6 5/32 NPT 1/4 11 17
SSPC1/4-N04 30.7 1/4 NPT 1/2 15 2 SSPCF1/4-NO1 24.7 1/4 NPT 1/8 8 14
SSPC5/16-NO1 27 5/16 NPT 1/8 8 14 SSPCF1/4-N02 27.7 1/4 NPT 1/4 11 17

< SSPC5/16-N02 25 5/16 NPT 1/4 11 14 SSPCF5/16-N01 26.3 5/16 NPT 1/8 8 14
SSPC5/16-N03 26 5/16 NPT 3/8 12 19 A sw c SSPCF5/16-N02 293 5/16 NPT 1/4 11 17
SSPC5/16-N04 31 5/16 NPT 1/2 15 2 | | SSPCF5/16-N03 303 5/16 NPT 3/8 12 19
SSPC3/8-N01 29.2 3/8 NPT 1/8 8 17 | | . SSPCF5/16-N04 333 5/16 NPT 1/2 15 24
SSPC3/8-N02 317 3/8 NPT 1/4 11 17 SSPCF3/8-NO1 28.9 3/8 NPT 1/8 8 17
SSPC3/8-N03 317 3/8 NPT 3/8 12 19 3 SSPCF3/8-N02 319 3/8 NPT 1/4 11 17
SSPC3/8-N04 35.7 3/8 NPT 1/2 15 2 SSPCF3/8-N03 329 3/8 NPT 3/8 12 19
SSPC1/2-N02 34.7 12 NPT 1/4 1 19 SSPCF3/8-N04 35.9 3/8 NPT 1/2 15 24
SSPC1/2-N03 34.7 12 NPT 3/8 1 19 SSPCF1/2-N02 34.1 12 NPT 1/4 1 21
SSPC1/2-NO4 38.7 12 NPT 1/2 15 2 SSPCF1/2-NO3 35.1 12 NPT 3/8 12 21
SSPCF1/2-N04 38.1 12 NPT 1/2 15 24

07 Zhejiang Ideal Bell Technology Co.,Ltd. 08



www.ideal-bell.com

Stainless Steel Fittings
REENRIERE X

item Code _-_-_-___

SSPL5/32-N01 18.6 5/32 NPT 1/8 2.1
SSPCFA-GOL a4 . o SSPL1/4-N01 18.7 1/4 NPT 1/8 8 234 21 27 12
SSPL1/4-N02 18.7 1/4 NPT 1/4 11 234 205 265 14
SSPCF4-G02 214 4 Gl/a 1 1 SSPL1/4-N03 18.7 1/5 NPT 3/8 12 234 26.5 325 19
SSPCF6-GO1 247 6 G1/8 8 14 SSPL1/4-N04 18.7 1/6 NPT 1/2 15 23.4 30.5 36.5 22
SSPCF6-G02 217 6 G1/4 1 17 SSPL5/16-N01 20 5/16 NPT 1/8 8 25.2 22 29 12
SSPCF8-GO1 268 8 G1/8 8 14 SSPL5/16-N02 20 5/16 NPT 1/4 11 252 245 315 14
SSPCF8-G02 29.8 8 G1/4 11 17 E SSPL5/16-N03 20 5/16 NPT 3/8 12 25.2 275 345 19
p—— 00 a 638 i i A SSPL5/16-N04 20 5/16 NPT 1/2 15 252 315 385 2
I 225 o 12 5 o ‘ SSPL3/8-NO1 24.7 3/8 NPT 1/8 8 312 28 365 17
EE[ SSPL3/8-N02 24.7 3/8 NPT 1/4 11 312 31 39.5 17
SEACAI-E ZE L0 i g Sl SSPL3/8-N03 247 3/8 NPT 3/8 12 312 31 395 19
SSPCFI0-G02 319 10 Gl/4 11 17 °l. SSPL3/8-N04 247 3/8 NPT 1/2 15 312 34 425 2
SSPCF10-G03 329 10 G3/8 12 19 - W SSPL1/2-NO2 272 12 NPT 1/4 11 349 323 o3 17
SSPCF10-G04 35.9 10 G1/2 15 24 e c SSPL1/2-N03 27.2 1/2 NPT 3/8 12 34.9 323 42 19
SSPCF12-G02 341 12 G1/4 11 21 SSPL1/2-N04 27.2 12 NPT 1/2 15 349 353 45 2
SSPCF12-G03 35.1 12 G3/8 12 21
SSPCF12-G04 38.1 12 G1/2 15 24

SSPL4-GO1 186 4 G 1/8 223 205 255
SEIPLEHIE 9 SSPL4-G02 186 4 G1/4 7 23 20 25 17
SSPL4-M6 18.6 4 M6 4.5 223 19.5 245 12 SSPL6-GO1 18.7 6 G1/8 55 23.4 21.5 27.5 14
SSPL6-G02 187 6 G1/4 7 234 21 27 17
SSPL6-M5 187 6 M5 35 234 195 255 12 SR B 5 638 8 il 7 0 s
SSPL6-M6 187 6 M6 45 234 20.5 265 12 SSPL6-GO4 187 6 G1/2 9 234 235 29.5 2
SSPL8-GO1 20 8 G1/8 55 252 25 295 14
SSPL5/32-M5 18.6 5/32 M5 3.5 223 18.5 235 12 SSPL8-G02 20 8 G1/4 7 25.2 22 29 17
SSPL5/32-U10 186 5/32 U10-32 35 23 185 235 2 SEPLECU A0 & Gi3/8 8 2312 Z & 1
SSPL8-G04 20 8 612 9 252 245 355 2
SSPL5/32-M6 186 5/32 M6 45 23 195 245 12 e SSPL10-GO1 2522 10 G1/8 55 317 265 35 17
A SSPL10-G02 2522 10 G1/4 7 317 275 36 17

SSPL1/4-M5 187 1/4 M5 35 234 195 255 12
/ / = SSPL10-G03 252 10 G3/8 8 317 285 27 19
SSPL1/4-U10 187 1/4 U10-32 35 234 195 255 2 ) o] ssPLi0-Go4 252 10 612 9 317 29.5 28 2
Pl I s e i . o s b SSPL12-G02 272 12 G1/4 7 349 28.8 385 17
/4 i / : : : ‘ °|, SSPL12-G03 272 12 G3/8 8 34.9 263 36 19
SSPL1/4-01U 187 1/4 UN1/8 6 234 2 28 14 T SSPL12-G04 272 12 G1/2 9 349 273 37 24
a

SSPL4-01 18. 6 4 PT 1/8
SSPL4-02 18.6 4 PT 1/4 11 22.3 22.5 27.5 14 SSPT4-M5
SSPL6-01 18.7 6 PT1/8 8 23.4 21 27 12
SSPL6-02 18.7 6 PT1/4 1 23.4 235 29.5 14 SSPT4-M6 372 4 M6 4.5 19.5 24.5 12
SSPL6-03 18.7 6 PT3/8 12 23.4 26.5 325 19 e —— i 6 - a5 195 . 5
SSPL6-04 18.7 6 PT1/2 15 234 305 365 22
SSPL8-01 20 8 PT1/8 8 25.2 22 29 12 SSPT6-M6 375 6 M6 45 20.5 26.5 12
SSPLE-02 20 8 PT 1/4 1 25.2 245 315 14 SSPT5/32-M5 37.2 5/32 M5 35 185 235 12
SSPL8-03 20 8 PT3/8 12 25.2 275 345 19
E SSPL8-04 20 8 PT1/2 15 25.2 315 385 22 SSPT5/32-U10 37.2 5/32 U10-32 35 185 235 12
A SSPL10-01 25.2 10 PT1/8 8 317 28 36.5 17
SSPL10-02 %5 10 PT1/4 1 7 3 395 17 SSPT5/32-M6 37.2 5/32 M6 4.5 19.5 24.5 12
| 1?[ SSPL10-03 25.2 10 PT3/8 12 317 31 39.5 19 SSPT1/4-M5 374 1/4 M5 35 195 255 12
SSPL10-04 25.2 10 PT1/2 15 317 34 4.5 22
SSPL12-02 272 1 PT 1/4 i 349 123 P 17 SSPT1/4-U10 37.4 1/4 U10-32 35 19.5 25.5 12
w sw SSPL12-03 27.2 12 PT3/8 12 34.9 323 42 19 SSPT1/4-M6 375 1/4 M6 45 20.5 26.5 12
SSPL12-04 27.2 12 PT1/2 15 34.9 353 45 2
o c SSPT1/4-U01 375 1/4 UN1/8 6 22 28 14

09 Zhejiang Ideal Bell Technology Co.,Ltd. 10



www.ideal-bell.com

Stainless Steel Fittings
REENRIERE X

SSPT
_-_-_-__

SSPT4-02 372 4 PT 1/4 11 22.5 27.5 14
crTeon - . b . o g b SSPUCA 324 105 4 SSPUC5/32 324 105 5/32
SSPT6-02 374 6 PT1/4 1 275 295 14 SSPUC6 326 125 6 SSPUCL1/4 326 125 1/4
SSPT6-03 374 6 PT 3/8 12 265 325 19 SSPUC8 35.6 145 8 SSPUC5/16 35.6 145 5/16
SSPT6-04 374 6 PT1/2 15 30.5 36.5 22 SSPUC10 411 175 10 SSPUC3/8 411 175 3/8
SSPT8-01 40 8 PT1/8 8 2 29 12
SPTE.02 0 o oT 1/ 0 s a5 1 SSPUC12 447 19.5 12 SSPUC1/2 447 195 12
SSPT8-03 40 8 PT3/8 12 275 345 19
SSPT8-04 40 8 PT1/2 15 315 385 2
SSPT10-01 454 10 PT1/8 8 28 365 17
SSPT10-02 45.4 10 PT 1/4 11 31 39.5 17
SSPT10-03 45.4 10 PT3/8 12 31 395 19
SSRTR02 i 2 R il B2 &2 17 SSPUL4 186 23 SSPUL5/32 186 223 5/32
SSPT12-03 54.4 12 PT3/8 12 323 e 19
EEETE e = PT1/2 e =T e o (<[ sspue 187 234 12 6 SSPULI/4 187 23.4 12 1/4
SSPULS 20 25.2 14 8 SSPUL5/16 20 25.2 14 5/16
SSPULL0 24.7 312 17 10 SSPUL3/8  24.7 312 17 3/8
_-_-_-__ e 9 199 . e 9 199 v
SSPT5/32-N01 372 5/32 NPT 1/8
SSPT5/32-N02 372 5/32 NPT 1/4 11 225 275 14
SSPT1/4-NO1 374 1/4 NPT 1/8 8 21 27 12
SSPT1/4-N02 374 1/4 NPT 1/4 11 205 26.5 14
SSPT1/4-NO3 374 1/4 NPT 3/8 12 265 325 19
csTianos 34 Vi NPT 12 5 S0s s » -“-“ --’--’
SSPT5/16-NOL 5 516 NPT 1/8 s = = ) SSPUT4 372 186 SSPUT5/32 186 223 5/32
SSPT5/16-N02 40 5/16 NPT 1/4 11 245 315 14 SSPUT6 18.7 234 12 6 SSPUT1/4 18.7 23.4 12 1/4
SSPT5/16-N03 40 5/16 NPT 3/8 12 275 345 19 SSPUT8 20 25.2 14 8 SSPUT5/16 20 252 14 5/16
SSPT5/16-N04 40 5/16 NPT 1/2 15 315 385 22 SSPUT10 24.7 31.2 17 10 SSPUT3/8 24.7 31.2 17 3/8
SEPE/EIL ol B8 REIRTE g 28 S0 I SSPUTL2 272 349 19.5 12 SPUTL2 272 34.9 195 12
SSPT3/8-NO2 45.4 3/8 NPT 1/4 11 31 395 17
SSPT3/8-NO3 454 3/8 NPT 3/8 12 31 395 19
SSPT3/8-NO4 45.4 3/8 NPT 1/2 15 34 425 2
SSPT1/2-N02 54.4 12 NPT 1/4 11 323 2 17
SSPT1/2-N03 54.4 12 NPT 3/8 12 323 0 19
SSPT1/2-NO4 54.4 12 NPT 1/2 15 353 45 2

CEISEEEECETY [ T T

SSPMM4 324 M12*1 SSPMM5/32 324 5/32  MI12*1

SSPT4-GO1 37.2 4 Gl/8 20.5 25.5 SSPMM8  35.6 8 M16*1 19 12 SSPMM5/16  35.6 5/16  M16*1 19 12

SSPT4-G02 37.2 4 G1/4 11 20 25 17 SSPMM10 411 10 M20*1 24 14 SSPMM3/8  41.1 3/8 M20*1 24 14

SSPT6-GO1 37.4 6 G1/8 8 215 275 14 . )

CePT6.C02 314 . G1/s L o o = SSPMM12 447 12 M22*1 26 17 SSPMM1/2 447 12 M22*1 26 17

SSPT6-G03 37.4 6 G3/8 12 22 28 19

SSPT6-G04 37.4 6 G1/2 15 235 29.5 24

SSPT8-GO1 40 8 G1/8 8 225 29.5 14

SSPT8-G02 40 8 G 1/4 11 22 29 17

SSPT8-G03 40 8 G3/8 12 23 34 19

SSPT8-G04 40 8 G1/2 15 245 35.5 24

SSPT10-GO1 454 10 G1/8 317 26.5 35 17

SSPT10-G02 45.4 10 G1/4 317 275 36 17

SSPT10-G03 454 10 G3/8 317 285 27 19

SSPT10-G04 45.4 10 G1/2 317 29.5 28 24

SSPTIZG2 544 1 614 349 28 385 17 -ﬂ-ﬂll -ﬂ-ﬂﬂ

SSPT12-G03 54.4 12 G3/8 34.9 26.3 36 19 SSPG12-10  42.9 175 19.5 SSPG1/2-3/8  42.9 175 195

SSPT12-G04 54.4 12 G1/2 34.9 273 37 24 SSPG10-8 384 8 10 145 175 SSPG3/8-5/16 38.4 5/16 3/8 14.5 175
1 EL SSPG8-6  34.1 6 8 125 14.5 SSPG5/16-1/4 341  1/4 5/16 125 14.5

SSPG6-4 288 4 6 125 105 SSPG1/4-5/32 28.8  5/32 1/4 125 105

1 Zhejiang Ideal Bell Technology Co.,Ltd. 12



Brass Push Fittings
SHRIGEREE L

www.ideal-bell.com

Structural Diagram

y Body (Brass) v Lock Claw (SUS)

/

ya /" ~Collar (Brass)
ya ///ReleaseSIeeve(Brass)

Back Ring (POM)
U-Packing (NBR. FKM)
~-0-Ring (NBR. FKM)

-Circlips (spring steel)
0O-Ring (NBR. FKM)
O-Ring (NBR. FKM)

-Matal Body (Brass)

Features/ 4¥1iE

* Double O-Ring design make sure the 100% sealing
* The collet made in Stainless Steel ensure the perfect tube clamping with every kinds of materials without damage the surface
*The connection between the tube and the fittings ensure a total tightness even in severe conditions such as impact and vibration

* The particular geometric shape of the seals ensure the perfect tightness even with vacuum.

Specifications/ i ARKHE

Applicable Fluid Type Air, Water(No Drinking Water),Vacuum

Working Pressure Range -14~225 PS| -0.99~15Bar

Working Temperature Range [EZadsRatiiida -15°C~71°C

Vacuum Rating to 28"Hg

Recommanded Tubings PA11, PA12, PA6, PE, PU,FEP,PFA

Tube Outside Diameter You Can Choose As Follows: Thread Size For Your Choice As Follows:
E LUEENSEIMERTWT: {EO] USRI R0

Code No. X3

Thread Size B£8R

Metric Size/ %R~ Inch Size/ EHIR
Code No. {5 4 6 8 10 12 | 5/32 1/4 | 5/16 | 3/8 1/2

T”b‘g’éﬁfg Dial wa | o6 | 8 | 010 | 012 |#5/32| 01/4 | $5/16| 03/8 | ¢1/2 e

1/2

Zhejiang Ideal Bell Technology Co.,Ltd. 14



www.ideal-bell.com

Brass Push Fittings
SR REEL

MPC-BSPT MPC-BSPP

I T O N O B T e | e |

MPC3-01 3 1/8 7.5 19.5 10 2 MPC3-G01 3 14 1/8 5.5 18.5 10 2

MPC3-02 3 1/4 9 18.5 14 2 MPC3-G02 3 17 1/4 6.9 18.5 10 2

MPC3-03 3 3/8 10 20.5 17 2 MPC4-GO1 4 14 1/8 5.5 18.5 10 3

MPC3-04 3 1/2 13 235 21 2 MPC4-G02 4 17 1/4 6.9 18.5 10 3

MPC4-01 4 1/8 7.5 19.5 10 3 MPC6-GO1 6 14 1/8 5.5 18.7 12 5

MPC4-02 4 1/4 9 18.5 14 3 MPC6-G02 6 17 1/4 6.9 20.2 12 5

MPC6-01 6 1/8 7.5 19.7 12 5 MPC6-G03 6 19 3/8 8.2 20.2 12 5

MPC6-02 6 1/4 9 20.2 14 5 MPC6-G04 6 24 1/2 9.2 21.2 12 5

MPC6-03 6 3/8 10 21.2 17 5 MPC8-G01 8 14 1/8 5.5 23 14 5

MPC6-04 6 1/2 13 24.2 21 5 MPC8-G02 8 17 1/4 6.9 214 14 6

MPC8-01 8 1/8 7.5 24 14 5 MPC8-G03 8 19 3/8 8.2 222 14 6

4 MPC8-02 8 1/4 9 22,5 14 6 MPC8-G04 8 24 1/2 9.2 21.7 14 6

MPC8-03 8 3/8 10 21.2 17 6 MPC10-G01 10 14 1/8 5.5 254 17 5

MPC8-04 8 1/2 13 24.2 21 6 MPC10-G02 10 17 1/4 6.9 26.7 17 6

MPC10-01 10 1/8 7.5 26.5 17 5 MPC10-G03 10 19 3/8 8.2 25.2 17 8

MPC10-02 10 1/4 9 26.5 17 6 MPC10-G04 10 24 1/2 9.2 22.7 17 8

_ MPC10-03 10 3/8 10 26.2 17 8 MPC12-G02 12 17 1/4 6.9 28.7 19 6

MPC10-04 10 1/2 13 24.7 21 8 MPC12-G03 12 19 3/8 8.2 29.7 19 8

S MPC12-02 12 1/4 9 30.2 19 6 MPC12-G04 12 24 1/2 9.2 28.3 21 8
® MPC12-03 12 3/8 10 28.3 19 8
MPC12-04 12 1/2 13 28.7 21 8

MPCF-BSPT

I wo | ]

I T S I S N S N

MPC1/8-N01 1/8 1/8 (5] 185 10 2 MPCF3-01 3 10.6 1/8 9.5 24.5 12
MPC1/8-N02 1/8 1/4 9 18.5 14 2 MPCF3-02 3 10.6 1/4 11 26 17
MPC5/32-N01 5/32 1/8 7.5 19.5 10 3 MPCF4-01 4 10.6 1/8 9.5 245 12
MPC5/32-N02 5/32 1/4 9 18.5 14 3 MPCF4-02 4 106 1/4 11 2% 17
MPC1/4-N01 1/4 1/8 7.5 19.7 12 5 MPCF6-01 6 124 18 95 27 14
MPC1/4-N02 1/4 1/4 9 202 14 5 MPCF6-02 6 124 1/4 11 26.2 17
MPC1/4-N03 1/4 3/8 10 21.2 17 5 e ——— g p— 38 . o =
MPC1/4-N04 1/4 1/2 13 242 21 5 MPCF6.04 . 124 12 15 300 "
MPC5/16-NO1 5/16 1/8 7.5 24 14 5 —— s 127 " o5 % “
MPC5/16-N02 5/16 1/4 9 225 14 6 ’ ’
MPCF8-02 8 14.6 1/4 11 275 17
MPC5/16-N03 5/16 3/8 10 21.2 17 6
MPCF8-03 8 14.6 3/8 12 28.5 19
MPC5/16-N04 5/16 1/2 13 242 21 6
MPCF8-04 8 14.6 1/2 15 29.5 24
MPC3/8-N01 3/8 1/8 75 26.5 17 5
MPCF10-01 10 16.8 1/8 9.5 28.4 17
MPC3/8-N02 3/8 1/4 9 26.5 17 6 o
el e 38 38 = s e a MPCF10-02 10 16.8 1/4 11 29.9 17
MPC3/8-N04 38 12 13 27 n s MPCF10-03 10 17.6 3/8 12 30.9 19
- MPC1/2-N02 12 14 g 02 e g o MPCF10-04 10 17.6 1/2 15 339 24
MPC1/2-N03 12 38 10 283 19 s MPCF12-02 12 19.6 1/4 11 321 21
< MPC1/2-N04 12 12 13 28.7 o1 s ‘ B MPCF12-03 12 19.6 3/8 12 33.1 21
o MPCF12-04 12 19.6 1/2 15 36.1 24

15 Zhejiang Ideal Bell Technology Co.,Ltd. 16



www.ideal-bell.com

Brass Push Fittings
SR REEL

MPCF-NPT MPOC-BSPT

MPCF1/8-NO1 1/8 10.6 1/8 9.5 245 12 MPOC 3-01 3 10 1/8 7.5 19.5

MPCF1/8-N02 1/8 10.6 1/4 11 26 17 MPOC 3-02 3 14 1/4 9 185

MPCF5/32-N01 5/32 10.6 1/8 9.5 245 12 MPOC 4-01 4 10 1/8 7.5 19.5

MPCF5/32-N02 5/32 10.6 1/4 11 26 17 MPOC 4-02 4 14 1/4 9 185

MPCF1/4-N01 1/4 12.4 1/8 9.5 24.7 14 MPOC 6-01 6 12 1/8 75 19.7

MPCF1/4-N02 1/4 12.4 1/4 11 26.2 17 MPOC 6-02 6 14 1/4 9 20.2

A MPCF1/4-N03 1/4 12.4 3/8 12 27.2 19 MPOC 6-03 6 17 3/8 10 212

L MPCF1/4-N04 1/4 12.4 1/2 15 30.2 24 MPOC 6-04 6 22 12 13 24.2

L‘/.; MPCF5/16-N01 5/16 13.7 1/8 9.5 26 14 MPOC 8-01 8 14 1/8 65 24
MPCF5/16-N02 5/16 14.6 1/4 11 27.5 17 A MPOC 8-02 8 14 1/4 9 22,5

MPCF5/16-N03 5/16 14.6 3/8 12 28.5 19 - MPOC 8-03 8 17 3/8 10 21.2

- MPCF5/16-N04 5/16 14.6 12 15 29.5 24 MPOC 8-04 8 22 1/2 13 24.2
sw MPCF3/8-NO1 3/8 16.8 1/8 9.5 28.4 17 o MPOC 10-01 10 17 1/8 75 265

o MPCF3/8-N02 3/8 16.8 1/4 11 29.9 17 B MPOC 10-02 10 17 1/4 9 265

N | MPCF3/8-N03 3/8 176 3/8 12 30.9 19 ] MPOC 10-03 10 17 3/8 10 26.2
B MPCF3/8-N04 3/8 176 12 15 339 24 sw & MPOC 10-04 10 22 12 13 26.5

MPCF1/2-N02 1/2 19.6 1/4 11 321 21 MPOC12-02 12 20 14 9 30.7

MPCF1/2-N03 1/2 19.6 3/8 12 331 21 MPOC 12-03 12 20 3/8 10 283

MPCF1/2-N04 12 196 12 15 36.1 24 PO J2H0% = 2 12 13 26.5

MPCF-BSPP MPOC-NPT

mmmmmmmmoﬁmmmmmmwwNNHI ® o o 0 L o U o o o u g a ;W W NN

MPCF3-G01 3 10.6 1/8 8 23 12 MPOC 1/8-NO1 1/8 10 1/8 7.5 19.5
MPCF3-G02 3 10.6 1/4 9 24 17 MPOC 1/8-N02 1/8 14 1/4 9 18.5
MPCF4-G01 4 10.6 1/8 8 23 12 MPOC 5/32-N01 5/32 10 1/8 7.5 19.5
MPCF4-G02 4 106 1/4 9 24 17 MPOC 5/32-N02 5/32 14 1/4 9 185
HIAGREAE € i VE < iz i MPOC 1/4-N01 1/4 12 1/8 75 19.7
MPCF6-G02 6 12.4 1/4 9 242 17 MPOC 1/4-N02 14 M 14 5 20
MPCF6-G03 6 12.4 3/8 10 25.2 19
MPOC 1/4-N03 1/4 17 3/8 10 21.2
MPCF6-G04 6 12.4 1/2 13 28.2 24
A MPOC 1/4-N04 1/4 22 1/2 13 242
MPCF8-G01 8 13.8 1/8 8 24.5 14 R
MPOC 5/16-N01 5/16 14 1/8 7.5 24
MPCF8-G02 8 14.6 1/4 9 25.5 17 / / !
o —— 3 g 38 - p—_ - MPOC 5/16-N02 5/16 14 1/4 9 225
MPCFS-GO4 s 146 12 13 295 24 A MPOC 5/16-N03 5/16 17 3/8 10 212
MPCF10-G01 10 16.8 1/8 8 26.9 17 o MPOC 5/16-N04 5/16 22 1/2 13 24.2
4 MPCF10-G02 10 16.8 1/4 9 27.9 17 MPOC 3/8-N01 3/8 17 1/8 7.5 26.5
MPCF10-G03 10 17.6 3/8 10 28.9 19 MPOC 3/8-N02 3/8 17 1/4 9 26.5
sw MPCF10-G04 10 17.6 1/2 13 31.9 24 S} MPOC 3/8-N03 3/8 17 3/8 10 26.2
[e) B
MPCF12-G02 12 19.6 1/4 9 30.1 21
/ G MPOC 3/8-N04 3/8 22 1/2 13 26.5
R | MPCF12-G03 12 19.6 3/8 10 311 21 N & MPOC 1/2-N02 12 o 14 5 e
B MPCF12-G04 12 19.6 1/2 13 34.1 24 MPOC 1/2-N03 12 2% 38 10 283
MPOC 1/2-N04 1/2 22 1/2 13 26.5

17 Zhejiang Ideal Bell Technology Co.,Ltd. 18



www.ideal-bell.com

Brass Push Fittings
SR REEL

MPOC-M MPL-NPT

It

MPOC 3-M5 3 10 M5 35 19 2 MPL1/8-N01 1/8 10 1/8 7.5 4 18.8 20.6 10

MPOC 3-M6 3 10 M6 4.5 20 2 MPL1/8-N02 1/8 10 1/4 9 o4 18.8 21.1 14

MPOC 4-M5 4 10 M5 3.5 19 2 MPL5/32-N01 5/32 10 1/8 7.5 4 18.8 20.6 10

MPOC 4-M6 4 10 M6 45 20 2 MPL5/32-N02 5/32 10 1/4 9 4 18.8 21.1 14

MPOC 6-M5 6 12 M5 35 19.8 2 MPL1/4-N01 1/4 12 1/8 7.5 o4 20.4 21 10

MPOC 6-M6 6 12 M6 4.5 20.8 2 MPL1/4-N02 1/4 12 1/4 9 4 20.4 215 14

MPL5/16-N01 5/16 14 1/8 7.5 4 23.4 22.5 10

MPOC 1/8-M5 1/8 10 M5 3.5 19 2 MPL5/16-N02 5/16 14 1/4 9 »7 23.4 25.5 14

- MPOC 1/8-M6 1/8 10 M6 4.5 20 2 MPL5/16-N03 5/16 14 3/8 10 o7 234 25.5 17
E MPOC 5/32-M5 5/32 10 M5 3.5 19 2 MPL5/16-N04 5/16 14 1/2 13 7 23.4 285 22
MPOC 5/32-M6 5/32 10 M6 4.5 20 2 w MPL3/8-N01 3/8 17 1/8 7.5 4 272 245 10

. : MPOC 1/4-M5 1/4 12 M5 3.5 19.8 2 3 MPL3/8-N02 3/8 17 1/4 9 7 272 26 14
MPOC 1/4-M6 1/4 12 M6 4.5 20.8 2 o e MPL3/8-N03 3/8 17 3/8 10 10 272 27.5 17

MPL3/8-N04 3/8 17 1/2 13 10 272 30.5 22

,L L BO'Ri"g MPOC 1/8-U10 1/8 10 UNF10-32 3.5 19 2 MPL1/2-N02 1/2 20 1/4 9 7 30.9 28 14
o MPOC 5/32-U10 5/32 10 UNF10-32 35 19 2 MPL1/2-N03 1/2 ®20 3/8 10 ®10 30.9 21.5 17

MPOC 1/4-U10 1/4 12 UNF10-32 35 19.8 2 MPL1/2-N04 12 ®20 172 13 ®10 30.9 30.5 22

MPL-BSPT MPL-M

B S T S S S N B N

I S S S N S B B N

MPL3-01 3 10 1/8 7.5 4 18.8 20.6 10 MPL3-M5 3 10 M5*0.8 35 2 18.8 19.8 10
MPL3-02 3 10 1/4 9 o4 18.8 211 14 MPL3-M6 3 10 M6*1 4.5 2.5 18.8 20.8 10
MPL4-01 4 10 1/8 7.5 o4 18.8 20.6 10 MPL4-M5 4 10 M5*0.8 3.5 2 18.8 19.8 10
MPL4-02 4 10 1/4 9 4 18.8 211 14 MPL4-M6 4 10 M6*1 45 2.5 18.8 20.8 10
MPL6-01 6 12 1/8 7.5 4 20.4 21 10 MPL6-M5 6 12 M5*0.8 3.5 2 20.4 20.2 10
MPL6-02 6 12 1/4 9 4 20.4 21.5 14 MPL6-M6 6 12 M6*1 4.5 2.5 20.4 212 10
MPL8-01 8 14 1/8 7.5 4 23.4 22.5 10
MPL8-02 8 14 1/4 9 7 23.4 25.5 14 MPL1/8-M5 1/8 10 M5*0.8 35 2 18.8 19.8 10
MPL8-03 8 14 3/8 10 7 23.4 25.5 17 - MPL1/8-M6 1/8 10 M6*1 4.5 2.5 18.8 20.8 10
MPL8-04 8 14 1/2 13 o7 23.4 28.5 21 P MPL5/32-M5 5/32 10 M5*0.8 3.5 2 18.8 19.8 10
MPL10-01 10 17 1/8 7.5 o4 27.2 24.5 10 MPL5/32-M6 5/32 10 M6*1 45 2.5 18.8 20.8 10
MPL10-02 10 17 1/4 9 o7 27.2 26 14 MPL1/4-M5 1/4 12 M5*0.8 3.5 2 20.4 20.2 10
MPL10-03 10 17 3/8 10 10 27.2 21.5 17 MPL1/4-M6 1/4 12 M6*1 4.5 2.5 20.4 212 10
MPL10-04 10 17 1/2 13 10 27.2 30.5 21
MPL12-02 12 ®20 1/4 9 o7 30.9 28 14 MPL1/8-U10 1/8 ®10 UNF10-32 35 »2 18.8 19.8 10
= MPL12-03 12 ®20 3/8 10 ®10 30.9 27.5 17 MPL5/32-U10 5/32 ®10 UNF10-32 35 »2 18.8 19.8 10
B MPL12-04 12 ®20 172 13 ®10 30.9 30.5 21 MPL1/4-U10 1/4 ®12 UNF10-32 35 »2 20.4 20.2 10

19 Zhejiang Ideal Bell Technology Co.,Ltd. 20



www.ideal-bell.com

Brass Push Fittings
SR REEL

MPL-BSPP MPLF-BSPT

S

Itme Code

MPL3-GO1 3 10 18 55 v 18.8 206 12 MPLF3-01 3 10 8 1/8 18.8 241 14
MPL3-G02 3 ®10 1/4 6.9 4 18.8 20.5 14 MPLF3-02 3 10 11 1/4 18.8 27.1 17
MPL4-GO1 4 »10 1/8 5.5 4 18.8 20.6 12 MPLF4-01 4 10 8 1/8 18.8 24.1 14
MPL4-G02 4 10 1/4 6.9 4 18.8 20.5 14 MPLF4-02 4 10 11 1/4 18.8 27.1 17
MPL6-GO1 6 12 18 55 4 20.4 21 12 —— g . g 8 Ba a5 2
MPL6-G02 6 ®12 1/4 6.9 4 20.4 20.9 14 MPLF6.02 . b L 4 204 R 17
MPL8-GO1 8 14 18 55 4 234 225 12
® / @ MPLF8-01 8 14 8 1/8 234 26 14
MPL8-G02 8 ®14 14 6.9 o7 23.4 24.9 14
MPLF8-02 8 14 11 1/4 234 28 17
L1 MPL8-G03 8 14 3/8 82 o7 234 24.2 17
MPLF8-03 8 14 12 3/8 23.4 28 19
2 MPL8-G04 8 ®14 12 9.2 o7 23.4 27.2 17
1 MPLF8-04 8 14 15 1/2 234 28 24
MPL10-GO1 10 17 18 55 4 27.2 245 12
%& MPLF10-01 10 17 8 1/8 27.2 28 14
‘ MPL10-G02 10 17 14 6.9 o7 27.2 25.4 14
9 MPLF10-02 10 17 11 1/4 27.2 315 17
MPL10-G03 10 17 3/8 8.2 ®10 27.2 28.7 17
MPLF10-03 10 17 12 3/8 27.2 34 19
MPL10-G04 10 17 12 9.2 ®10 27.2 29.2 17
MPL12-G02 12 20 1/4 6.9 o7 30.9 27.4 14 MPLF10-04 10 1 15 12 212 3 2
MPL12-G03 12 20 3/8 8.2 ®10 309 287 17 AL L2 2 l W 08 B W
MPL12-G04 12 20 1/2 9.2 ®10 30.9 292 17 MPLF12-03 12 20 12 3/8 30.9 34 19
MPLF12-04 12 20 15 12 30.9 37 24

MPLF-NPT
[ncote | we | a | 5 | ¢ | u | o | | - pe P ]
3 10 7 M5 18.8 23.1 12 g ' =

MPLF3-M5

VMPLE3.M6 3 10 7 V6 188 21 L MPLF1/8-NO1 18 10 8 18 18.8 241 14
——— p - - - — _— - MPLF1/8-N02 18 10 1 1/4 18.8 211 17
MPLFA-MG 4 0 7 Ve 188 21 1 MPLF5/32-N01 5/32 10 8 1/8 18.8 24.1 14
——— 5 - - - — . - MPLF5/32-N02 5/32 10 1 1/4 18.8 211 17
MPLF6.M6 6 b ; " 204 s b MPLF1/4-NO1 1/4 12 8 1/8 20.4 245 14
MPLF1/4-N02 1/4 12 1 1/4 20.4 215 17
L1 MPLF5/32-M5 5/32 10 7 M5 18.8 231 12 MPLF5/16-N01 5/16 14 8 1/8 234 26 14
MPLF5/32-M6 5/32 10 7 M6 18.8 231 1 MPLF5/16-N02 5/16 14 11 1/4 234 28 17
MPLF1/4-M5 1a w = - 04 . - MPLF5/16-N03 5/16 14 12 3/8 234 28 19
MPLF5/16-N04 5/16 14 15 1/2 234 28 24

MPLF1/4-M6 14 12 7 M6 204 235 12
MPLF3/8-NO1 3/8 17 8 1/8 21.2 28 14
MPLF3/8-N02 3/8 17 1 1/4 21.2 315 17

MPLF5/32-U10 5/32 10 7 10-32UNF 18.8 231 12
MPLF3/8-N03 3/8 17 12 3/8 21.2 34 19
MPLF1/4-U10 5/32 12 7 10-32UNF 204 235 12 MPLF3/8-N04 38 17 15 12 272 37 24
MPLF1/2-N02 1/2 20 1 1/4 30.9 335 17
MPLF1/2-N03 12 20 12 3/8 30.9 34 19
MPLF1/2-N04 1/2 20 15 1/2 30.9 37 24

21 Zhejiang Ideal Bell Technology Co.,Ltd. 22



www.ideal-bell.com

Brass Push Fittings
SR REEL

MPLF-BSPP MPT-NPT

MPLF3-G01 3 10 8 1/8 18.8 24.1 14 MPT1/8-NO1 18 P10 18 7.5 4 37.6 20.6 10
MPLF3-G02 3 10 11 1/4 18.8 271 17 MPT1/8-N02 1/8 10 1/4 9 4 37.6 211 14
MPLF4-G01 4 10 8 1/8 18.8 24.1 14 MPT5/32-N01 5/32 10 1/8 7.5 4 37.6 206 10
MPLF4-G02 4 10 1 1/4 18.8 27.1 17 MPT5/32-N02 5/32 ®10 1/4 9 4 37.6 211 14
MPLF6-GO1 6 12 8 1/8 20.4 24.5 14 MPT1/4-N01 1/4 ®12 1/8 75 4 40.8 21 10
MPLF6-G02 6 12 1 1/4 20.4 21.5 17 MPT1/4-N02 1/4 ®12 1/4 9 o4 40.8 215 14
MPLF8-G01 8 14 8 1/8 234 26 14 MPT5/16-N01 5/16 »14 1/8 7.5 4 46.8 22,5 10
MPLF8-G02 8 14 11 1/4 23.4 28 17 MPT5/16-N02 5/16 >14 1/4 9 »7 46.8 25.5 14
MPLF8-G03 8 14 12 3/8 234 28 19 MPT5/16-N03 5/16 »14 3/8 10 o7 46.8 25.5 17
MPLF8-G04 8 14 15 1/2 234 28 24 MPT5/16-N04 5/16 ®14 1/2 13 »7 46.8 28.5 21
MPLF10-GO1 10 17 8 1/8 27.2 28 14 MPT3/8-N01 3/8 >17 1/8 75 o4 54.4 24.5 10
MPLF10-G02 10 17 11 1/4 27.2 315 17 MPT3/8-N02 3/8 17 1/4 9 o7 54.4 26 14
MPLF10-G03 10 17 12 3/8 27.2 34 19 MPT3/8-N03 3/8 17 3/8 10 10 54.4 21.5 17
MPLF10-G04 10 17 15 1/2 27.2 37 24 MPT3/8-N04 3/8 17 1/2 13 10 54.4 30.5 21
MPLF12-G02 12 20 11 1/4 30.9 335 17 — MPT1/2-N02 1/2 20 1/4 9 7 61.8 28 14
MPLF12-G03 12 20 12 3/8 30.9 34 19 MPT1/2-N03 1/2 20 3/8 10 10 61.8 27.5 17
MPLF12-G04 12 20 15 1/2 30.9 37 24 MPT1/2-N04 1/2 20 1/2 13 10 61.8 30.5 21

MPT-BSPT MPT-BSPP

I B S R NS RN BTSN BN MR I N S N S O VR A

MPT3-01 3 ®10 1/8 75 >4 37.6 20.6 10 MPT3-GO01 3 10 1/8 55 o4 37.6 20.6 12

MPT3-02 3 »10 1/4 9 (oY) 37.6 21.1 14 MPT3-G02 3 10 1/4 6.9 D4 37.6 20.5 14

MPT4-01 4 10 1/8 7.5 4 37.6 20.6 10 MPT4-G01 4 10 1/8 5.5 D4 37.6 20.6 12

MPT4-02 4 10 1/4 9 4 37.6 21.1 14 MPT4-G02 4 10 1/4 6.9 D4 37.6 20.5 14

MPT6-01 6 D12 1/8 7.5 4 40.8 21 10 MPT6-GO1 6 D12 1/8 5.5 D4 40.8 21 12

MPT6-02 6 ®12 1/4 9 4 40.8 21.5 14 MPT6-G02 6 ®12 1/4 6.9 o4 40.8 20.9 14

MPT8-01 8 14 1/8 7.5 4 46.8 P75 10 MPT8-GO1 8 14 1/8 53 4 46.8 225 12

MPT8-02 8 ®14 1/4 9 o7 46.8 25.5 14 L1 MPT8-G02 8 »14 1/4 6.9 »7 46.8 24.9 14

L1 MPT8-03 8 14 3/8 10 o7 46.8 255 17 W MPT8-G03 8 14 3/8 8.2 o7 46.8 242 17

W e MPT8-04 8 14 12 13 o7 46.8 28.5 21 T < MPT8-G04 8 14 12 92 7 46.8 21.2 17
< MPT10-01 10 17 1/8 7.5 b4 54.4 24.5 10 o sw MPT10-GO1 10 17 1/8 55 4 54.4 24.5 12

o SW MPT10-02 10 D17 1/4 9 o7 54.4 26 14 _ MPT10-G02 10 17 1/4 6.9 (o) 54.4 25.4 14
o MPT10-03 10 P17 3/8 10 ®10 54.4 27.5 17 Ul %E MPT10-G03 10 17 3/8 8.2 10 54.4 28.7 17

ég MPT10-04 10 17 1/2 13 ®10 54.4 30.5 21 5 MPT10-G04 10 17 1/2 9.2 ®10 54.4 29.2 17

LL MPT12-02 12 20 1/4 9 o7 61.8 28 14 MPT12-G02 12 $20 1/4 6.9 o7 61.8 27.4 14

MPT12-03 12 20 3/8 10 10 61.8 27.5 17 MPT12-G03 12 $20 3/8 8.2 ®10 61.8 28.7 17

MPT12-04 12 D20 1/2 13 ®10 61.8 30.5 21 MPT12-G04 12 $20 1/2 9.2 10 61.8 29.2 17

23 Zhejiang Ideal Bell Technology Co.,Ltd. 24



www.ideal-bell.com

Brass Push Fittings
SR REEL

MPT-M MPST-BSPP

L2

MPT3-M5 3 10 M5*0.8 35 ®2 37.6 19.8 10 MPST3-G01 3 ®10 1/8 5.5 o4 18.8 3914 12

MPT3-M6 3 10 M6*1 4.5 2.5 37.6 20.8 10 MPST3-G02 3 ®10 1/4 6.9 4 18.8 39.3 14

MPT4-M5 4 10 M5+0.8 35 2 376 19.8 10 MPST4-GO1 4 ®10 1/8 5.5 >4 18.8 39.4 12

MPT4-M6 4 ®10 M6*1 45 25 376 208 10 MPST4-G02 4 ®10 1/4 6.9 4 18.8 39.3 14

MPT6-M5 6 12 M5*0.8 35 2 408 202 10 MPST6-GO1 6 ®12 1/8 5.5 >4 20.4 414 12

MPT6-M6 6 12 M6*1 45 25 408 212 10 MPST6-G02 6 ®12 1/4 6.9 4 20.4 413 14

MPST8-GO1 8 14 1/8 55 4 23.4 45.9 12

MPT1/8-M5 1/8 10 M5*0.8 35 2 37.6 19.8 10 MPST8-G02 8 »14 1/4 6.9 o7 23.4 483 14

L1 MPT1/8-M6 1/8 10 M6*1 45 2.5 37.6 20.8 10 = L1 MPST8-G03 8 »14 3/8 8.2 »7 23.4 476 17

m Mﬁ | wersiz2ms 5/32 ®10 M5*0.8 35 ®2 376 19.8 10 MPST8-G04 8 ®14 1/2 9.2 o7 234 50.6 17
MPT5/32-M6 5/32 10 M6*1 4.5 2.5 37.6 20.8 10 ‘ MPST10-G01 10 o117 1/8 5.5 >4 27.2 51.7 12

Y MPT1/4-M5 1/4 ®12 M5*0.8 35 »2 40.8 20.2 10 N MPST10-G02 10 ®17 1/4 6.9 o7 27.2 52.6 14
o MPT1/4-M6 1/4 12 M6*1 45 ®2.5 40.8 21.2 10 - MPST10-G03 10 P17 3/8 82 ®10 27.2 55.9 17
TJ sw.— MPST10-G04 10 »17 1/2 9.2 ®10 27.2 56.4 17
MPT1/8-U10 u10 ®10 UNF10-32 815 ®2 37.6 19.8 10 ﬁ MPST12-G02 12 ®20 1/4 6.9 7 30.9 58.3 14

MPT5/32-U10 u1o 10 UNF10-32 35 D2 37.6 19.8 10 0] % MPST12-G03 12 ®20 3/8 8.2 ®10 30.9 59.6 17

MPT1/4-U10 u10 12 UNF10-32 3.5 2 40.8 20.2 10 B"l MPST12-G04 12 ®20 1/2 9.2 10 30.9 60.1 17

MPST-BSPT MPST-NPT

B S I S S S R BN N

I T T N N NS NN B SN NE

MPST3-01 3 ®10 1/8 73 ®4 18.8 39.4 10 MPST1/8-N01 1/8 ®10 1/8 25, ®4 18.8 39.4 10

MPST3-02 3 ®10 1/4 9 >4 18.8 39.9 14 = MPST1/8-N02 1/8 ®10 1/4 9 >4 18.8 39.9 14

MPST4-01 4 ®10 1/8 {25 ®4 18.8 39.4 10 MPST5/32-N01 5/32 ®10 1/8 {25, P4 18.8 39.4 10

MPST4-02 4 ®10 1/4 9 4 18.8 39.9 14 MPST5/32-N02 5/32 @10 1/4 9 4 18.8 39.9 14

MPST6-01 6 ®12 1/8 75 4 20.4 41.4 10 MPST1/4-N01 1/4 P12 1/8 7.5 4 20.4 41.4 10

MPST6-02 6 ®12 1/4 9 4 20.4 41.9 14 MPST1/4-N02 1/4 12 1/4 9 4 20.4 41.9 14

MPST8-01 8 ®14 1/8 75 ®4 23.4 45.9 10 MPST5/16-N01 5/16 ®14 1/8 13 ®4 23.4 45.9 10

L1 MPST8-02 8 ®14 1/4 9 o7 23.4 48.9 14 MPST5/16-N02 5/16 ®14 1/4 9 @7 23.4 48.9 14

L’":é'_’ MPST8-03 8 ®14 3/8 10 o7 234 48.9 17 MPST5/16-N03 5/16 ®14 3/8 10 o7 234 48.9 17

‘ MPST8-04 8 ®14 1/2 13 7 234 51.9 21 MPST5/16-N04 5/16 ®14 1/2 13 @7 234 51.9 22

= MPST10-01 10 ®17 1/8 7.5 o4 27.2 Bl 10 MPST3/8-N01 3/8 ®17 1/8 25, P4 27.2 51.7 10

9 ﬁ < MPST10-02 10 ®17 1/4 9 7 27.2 53.2 14 MPST3/8-N02 3/8 17 1/4 9 o7 27.2 53.2 14
sw | N MPST10-03 10 ®17 3/8 10 @10 27.2 54.7 17 MPST3/8-N03 3/8 17 3/8 10 10 27.2 54.7 17
T MPST10-04 10 ®17 12 13 @10 27.2 57.7 21 MPST3/8-N04 3/8 17 12 13 10 27.2 571.7 22
o i; MPST12-02 12 ®20 1/4 9 o7 30.9 58.9 14 MPST1/2-N02 1/2 ®20 1/4 g o7 30.9 58.9 14
:E. MPST12-03 12 ®20 3/8 10 ®10 30.9 58.4 17 o <; MPST1/2-N03 1/2 ®20 3/8 10 @10 30.9 58.4 17

g MPST12-04 12 ®20 1/2 13 ®10 30.9 61.4 21 ;'g MPST1/2-N04 1/2 ®20 1/2 13 @10 30.9 61.4 22

25 Zhejiang Ideal Bell Technology Co.,Ltd. 26



www.ideal-bell.com

Brass Push Fittings
2 RIEREL

MPST-M MPMF-BSPP

MPMF3-G01 3 M12*1 1/8 8 45 23.5 14 14
MPST3-M5 3 10 M5*0.8 35 2 18.8 38.6 10
MPMF3-G02 3 M12*1 1/4 9 45 24.5 14 17
MPST3-M6 3 10 M6*1 45 2.5 18.8 39.6 10
MPMF4-G01 4 M12*1 1/8 8 45 23.5 14 14
MPST4-M5 4 10 M5*0.8 35 2 18.8 38.6 10
MPMF4-G02 4 M12*1 1/4 9 45 24.5 14 17
MPST4-M6 4 10 M6*1 45 2.5 18.8 39.6 10 e 6 —_ 18 2 6 213 7 7
MPST6-M5 6 12 M5*0.8 3.5 2 20.4 40.6 10 MPMF6-G02 6 M14*1 14 9 6 2%.7 17 17
MPST6-M6 6 ®12 M6*1 4.5 ®2.5 20.4 41.6 10 MPMF6-G03 6 M14*1 3/8 10 6 27.7 17 19
MPMF6-G04 6 M14*1 1/2 13 6 30.7 17 24
L1 MPST1/8-M5 1/8 10 M5*0.8 35 2 18.8 38.6 10 % swi MPMF8-G01 8 M16*1 1/8 8 6 24.2 19 17
] i :
T MPST1/8-M6 18 ®10 M6*1 45 2.5 18.8 39.6 10 ° MPMF8-G02 8 M16%1 1/4 9 6 251 19 17
MPST5/32-M5  5/32 ®10 M5%0.8 35 ®2 1838 38.6 10 " 3 MRS g Nl S 1 ® 201 12 1
MPMF8-G04 8 M16*1 1/2 13 6 30.7 19 24
MPST5/32-M6 5/32 ®10 M6*1 45 2.5 18.8 39.6 10
8/ MPMF10-G01 10 M18*1 1/8 8 10.5 21.7 21 19
~ MPST1/4-M5 1/4 ®12 M5*0.8 3.5 2 20.4 40.6 10
3 < MPMF10-G02 10 M18*1 1/4 9 10.5 28.2 21 19
MPST1/4-M6 1/4 12 M6*1 4.5 2.5 20.4 416 10
sw MPMF10-G03 10 M18*1 3/8 10 10.5 31.7 21 19
MPMF10-G04 10 M18*1 1/2 13 10.5 35.2 21 24
MPST1/8-U10 1/8 ®10 UNF10-32 35 ®2 18.8 38.6 10 MPMF12-G02 12 M22°1 14 9 12 30 24 2
i © MPST5/32-U10 5/32 10 UNF10-32 3.5 o2 18.8 38.6 10 MPMF12-G03 12 M22*1 3/8 10 12 31 24 24
i MPST1/4-U10 1/4 12 UNF10-32 3.5 2 20.4 40.6 10 MPMF12-G04 12 M22*1 1/2 13 12 36.5 24 24

MPMF-BSPT MPMF-NPT

MPMF3-01 3 M12*1 1/8 9.5 4.5 25 14 14 MPMF1/8-N01 1/8 M12*1 1/8 9.5 4.5 25 14 14

MPMF3-02 3 M12*1 1/4 11 4.5 26.5 14 17 MPMF1/8-N02 1/8 M12*1 1/4 11 4.5 26.5 14 17

MPMF4-01 4 M12*1 1/8 .5 45 25 14 14 MPMF5/32-N01 5/32 M12*1 1/8 €5 45 25 14 14

MPMF4-02 4 M12*1 1/4 11 4.5 26.5 14 17 MPMF5/32-N02 5/32 M12*1 1/4 11 45 26.5 14 17

MPMF6-01 6 M14*1 1/8 €3 6 25.7 17 17 MPMF1/4-N01 1/4 M14*1 1/8 €5 6 25.7 17 17

MPMF6-02 6 M14*1 1/4 11 6 28.7 17 17 A MPMF1/4-N02 1/4 M14*1 1/4 11 6 28.7 17 17

A MPMF6-03 6 M14*1 3/8 12 6 29.7 17 19 MPMF1/4-N03 1/4 M14*1 3/8 12 6 29.7 17 19

MPMF6-04 6 M14*1 1/2 15 6 32.7 17 24 ‘% MPMF1/4-N04 1/4 M14*1 12 15 6 32.7 17 24

% MPMF8-01 8 M16*1 1/8 G15) 6 25.7 19 17 MPMF5/16-N01 5/16 M16*1 1/8 O5) 6 25.7 19 17

o MPMF8-02 8 M16*1 1/4 11 6 27.7 19 17 o § o MPMF5/16-N02 5/16 M16*1 1/4 11 6 21.7 19 17

4 § MPMF8-03 8 M16*1 3/8 12 6 29.7 19 19 MPMF5/16-N03 5/16 M16*1 3/8 12 6 29.7 19 19
MPMF8-04 8 M16*1 1/2 15 6 32.7 19 24 SW: P MPMF5/16-N04 5/16 M16*1 1/2 15 6 32.7 19 24

SW i MPMF10-01 10 M18*1 1/8 015 10.5 29.2 21 19 i MPMF3/8-N01 3/8 M18*1 1/8 €5 10.5 29.2 21 19
i MPMF10-02 10 M18*1 1/4 11 10.5 30.2 21 19 . MPMF3/8-N02 3/8 M18*1 1/4 11 10.5 30.2 21 19

MPMF10-03 10 M18*1 3/8 12 10.5 B8N 21 19 MPMF3/8-N03 3/8 M18*1 3/8 12 10.5 SEL 21 19

MPMF10-04 10 M18*1 1/2 15 10.5 37.2 21 24 MPMF3/8-N04 3/8 M18*1 1/2 15 10.5 37.2 21 24

MPMF12-02 12 M22*1 1/4 11 12 32 24 24 MPMF1/2-N02 1/2 M22*1 1/4 11 12 32 24 24

MPMF12-03 12 M22*1 3/8 12 12 33 24 24 MPMF1/2-N03 1/2 M22*1 3/8 12 12 33 24 24

MPMF12-04 12 M22*1 1/2 15 12 38.5 24 24 MPMF1/2-N04 1/2 M22%1 1/2 15 12 38.5 24 24

27 Zhejiang Ideal Bell Technology Co.,Ltd. 28



Brass Push Fittings
2 RIEREL

MPUC

: A = I O T D

—
MPUC3 3 10 31 MPUC1/8 1/8 10 31
MPUC4 4 10 31 MPUC5/32 5/32 10 31
o MPUC6 6 12 314 MPUC1/4 1/4 12 314
MPUC8 8 14 34.8 MPUC5/16 5/16 14 34.8
MPUC10 10 17 394 MPUC3/8 3/8 17 394
1, MPUC12 12 20 43 MPUC1/2 12 20 43

MPUL3 3 10 18.8 18.8 MPUL1/8 1/8 10 18.8 18.8
MPUL4 4 10 18.8 18.8 MPUL5/32 5/32 10 18.8 18.8
MPUL6 6 12 20.4 20.4 MPUL1/4 1/4 12 20.4 20.4
MPUL8 8 14 23.4 234 MPUL5/16 5/16 14 234 23.4
MPUL10 10 17 27.2 27.2 MPUL3/8 3/8 17 27.2 27.2
MPUL12 12 20 30.9 30.9 MPUL1/2 12 20 30.9 30.9

MPUT3 3 10 37.6 18.8 MPUT1/8 1/8 10 37.6 18.8
] MPUT4 4 10 37.6 18.8 MPUTS5/32 5/32 10 37.6 18.8
i MPUT6 6 12 40.8 20.4 MPUT1/4 1/4 12 40.8 20.4
MPUT8 8 14 46.8 23.4 MPUTS5/16 5/16 14 46.8 23.4
MPUT10 10 17 54.4 27.2 MPUT3/8 3/8 17 54.4 27.2
MPUTI12 12 20 61.8 30.9 MPUT1/2 1/2 20 61.8 30.9

BN 7 (7272 77 O A T
CEETTIC T o

MAE 12 Mp2 L MPMM5/32  5/32 13 30 M12x1 14
MPMM4 4 13 30 Mi2xl 14

MPMM1/4  1/4 13 314 Ml4xl 17
MPMM6 6 13 314  Ml4xl 17
MPMIMS s s 34 Mex 19 MPMM5/16  5/16 15 334 MI6xl 19
MPMM10 10 18 374 Misxl 21 MPMM3/8  3/8 18 374  Misxl 21
MPMM12 12 22 434 M22x1 24 MPMM1/2  1/2 2 434 M22x1 24

MPG

www.ideal-bell.com

e |
Item
IR

II

MPG6-4 6 4 12 10 312 MPG1/4-5/32 1/4  5/32 12 10 31.2
MPG8-6 8 6 14 12 33.1 MPG5/16-1/4 5/16  1/4 14 12 33.1
MPG10-8 10 8 17 14 37.1 MPG3/8-5/16 3/8  5/16 17 14 37.1
MPG12-10 12 10 20 17 412 MPG1/2-3/8 1/2  3/8 20 17 412

oncee e oo e Ll e e e e L

MPGJ6-4 4 31.8 MPGJ1/4-5/32 6 4 31.8

MPGJ8-6 8 6 12 33 MPGJ5/16-1/4 8 6 12 33

MPGJ8-4 8 4 10 32.8 MPGJ5/16-5/32 8 4 10 328
MPGJ10-8 10 8 14 38.3 MPGJ3/8-5/16 10 8 14 38.3
MPGJ10-6 10 6 12 36.5 MPGJ3/8-1/4 10 6 12 36.5
MPGJ10-4 10 4 10 333 MPGJ3/8-5/32 10 4 10 333
MPGJ12-10 12 10 17 43.7 MPGJ1/2-3/8 12 10 17 43.7
MPGJ12-8 12 8 14 41.9 MPGJ1/2-5/16 12 8 14 41.9
MPGJ12-6 12 6 12 89, MPGJ1/2-1/4 12 6 12 8Y

MPP3 MPP1/8

MPP4 4 25 MPP5/32 5/32 25
MPP6 6 30 MPP1/4 1/4 30
MPP8 8 35 MPP5/16 5/16 35
MPP10 10 40.5 MPP3/8 3/8 40.5
MPP12 12 44 MPP1/2 1/2 44

29

Zhejiang Ideal Bell Technology Co.,Ltd. 30



www.ideal-bell.com

Welding Fittings

iz

Features/ $¥1iE

* Brass body + Brass Button + SUS collect + NBR or Viton Seals
* Add dust Free protector to make sure cleanness of tubing during operation.

*The connection between the tube and the fittings ensure a total tightness even in severe conditions such as impact and vibration.

Specifications/ AKX

Applicable Fluid Type Air

Working Pressure Range -14~225PS| -0.99~15Bar

Negative Pressure -4 °F ~160 °F -15°C~71°C

Working Temperature Range [iopAzl

Recommanded Tubings Weld Spatter Resistant Tubings

Tube Outside Diameter You Can Choose As Follows: Thread Size For Your Choice As Follows:
Ea LUEENSEIMERTIOT: O] BUERRIB R0

Code No. {3

Thread Size B4R~

_ Metric Size/ %R~ Inch Size/ =HIR

Code No. X5 4 6 8 10 | 12 | 5/32| 1/4 | 5/16 | 3/8 1/2

T“b‘"%clgigsbi?; Dia) w4 | o6 | 8 | 010| 012 |45/32| d1/4 | 5/16| $3/8 | $1/2 Ve

1/2

Zhejiang Ideal Bell Technology Co.,Ltd. 32




www.ideal-bell.com

Welding Fittings

IR

WPC WPCF

BSPT BFIE NPT BEFINE BSPT BFINE NPT
IteW Code ‘ Tube OD ‘ B IteW Code Tube OD “ IteW Code Tube OD “ IteW Code Tube OD “

WPC4-01 4 1/8 WPC5/32-N01 5/32 1/8 WPCF4-01 4 1/8 WPCF5/32-N01 5/32 1/8
WPC4-02 4 1/4 WPC5/32-N02 5/32 1/4 WPCF4-02 4 1/4 WPCF5/32-N02 5/32 1/4
WPC6-01 6 1/8 WPC1/4-N01 1/4 1/8 WPCF6-01 6 1/8 WPCF1/4-N01 1/4 1/8
WPC6-02 6 1/4 WPC1/4-N02 1/4 1/4 WPCF6-02 6 1/4 WPCF1/4-N02 1/4 1/4
WPC6-03 6 3/8 WPC1/4-N03 1/4 3/8 WPCF6-03 6 3/8 WPCF1/4-N03 1/4 3/8
WPC6-04 6 1/2 WPC1/4-N04 1/4 1/2 WPCF6-04 6 1/2 WPCF1/4-N04 1/4 12
WPC8-01 8 1/8 WPC5/16-N01 5/16 1/8 WPCF8-01 8 1/8 WPCF5/16-N01 5/16 1/8
WPC8-02 8 1/4 WPC5/16-N02 5/16 1/4 ‘ WPCF8-02 8 1/4 WPCF5/16-N02 5/16 1/4
WPC8-03 8 3/8 WPC5/16-N03 5/16 3/8 WPCF8-03 8 3/8 WPCF5/16-N03 5/16 3/8
WPC8-04 8 1/2 WPC5/16-N04 5/16 1/2 WPCF8-04 8 1/2 WPCF5/16-N04 5/16 1/2
WPC10-01 10 1/8 WPC3/8-N01 3/8 1/8 WPCF10-01 10 1/8 WPCF3/8-N01 3/8 1/8
WPC10-02 10 1/4 WPC3/8-N02 3/8 1/4 WPCF10-02 10 1/4 WPCF3/8-N02 3/8 1/4
WPC10-03 10 3/8 WPC3/8-N03 3/8 3/8 WPCF10-03 10 3/8 WPCF3/8-N03 3/8 3/8
WPC10-04 10 1/2 WPC3/8-N04 3/8 1/2 WPCF10-04 10 1/2 WPCF3/8-N04 3/8 1/2
WPC12-02 12 1/4 WPC1/2-N02 1/2 1/4 WPCF12-02 12 1/4 WPCF1/2-N02 1/2 1/4
WPC12-03 12 3/8 WPC1/2-N03 1/2 3/8 WPCF12-03 12 3/8 WPCF1/2-N03 1/2 3/8
WPC12-04 12 1/2 WPC1/2-N04 1/2 1/2 WPCF12-04 12 1/2 WPCF1/2-N04 1/2 1/2

WPC WPCF
I =7

IteW Code Tube OD

B
IteW Code Tube OD
WPC4-M5 4 M5 " - = ,

WeCos . s WPCF4-G01 4 18
WPC6-M12°1.5 6 M12 WPCF4-G02 4 1/4
WPC8-M12°1.5 8 M12 WPCFE-GOL 6 e

WPC4-GO1 4 s

WPCF6-G02 6 14

WPC4-G02 4 14

WPCE.GOL . e WPCF6-G03 6 3/8

WPC6-G02 6 1/4 WPCF6-G04 6 12

WPC6-G03 6 3/8 WPCF8-GO1 8 18

WPC6-G04 6 12

WPCF8-G02 8 1/4

WPC8-GO1 8 8

WPC8-G02 8 1/4 WPCF8-G03 8 3/8

WPC8-G03 8 3/8 WPCF8-G04 8 12

BPEHEDS & L2 WPCF10-G01 10 8

WPC10-G01 10 18

WPCF10-G02 10 14
WPC10-G02 10 1/4
WPC10.G03 10 38 WPCF10-G03 10 3/8
WPC10-G04 10 612 WPCF10-G04 10 12
RECIZC02 o W WPCF12-G02 2 14
WPC12-G03 2 3/8

WPCF12-G03 12 3/8
WPC12-G04 1 12

WPCF12-G04 12 12

3 Zhejiang Ideal Bell Technology Co.,Ltd. 34



www.ideal-bell.com

Welding Fittings

IR

WPL WPT

B BSPT BFIME NPT BSPT [ | wee [ wer
o IteW Code Tube OD “ IteW Code Tube OD “ IteW Code Tube OD B IteW Code Tube OD B
—a . | | | |

WPL4-01 4 1/8 WPL5/32-N01 5/32 1/8 WPT4-01 4 1/8 WPT5/32-N01 5/32 1/8

WPL4-02 4 1/4 WPL5/32-N02 5/32 1/4 WPT4-02 4 1/4 WPT5/32-N02 5/32 1/4
WPL6-01 6 1/8 WPL1/4-N01 1/4 1/8 WPT6-01 6 1/8 WPT1/4-N01 1/4 1/8
WPL6-02 6 1/4 WPL1/4-N02 1/4 1/4 WPT6-02 6 1/4 WPT1/4-N02 1/4 1/4
WPL6-03 6 3/8 WPL1/4-N03 1/4 3/8 WPT6-03 6 3/8 WPT1/4-N03 1/4 3/8
WPL6-04 6 1/2 WPL1/4-N04 1/4 1/2 WPT6-04 6 1/2 WPT1/4-N04 1/4 1/2
WPL8-01 8 1/8 WPL5/16-N01 5/16 1/8 WPT8-01 8 1/8 WPT5/16-N01 5/16 1/8
WPL8-02 8 1/4 WPL5/16-N02 5/16 1/4 WPT8-02 8 1/4 WPT5/16-N02 5/16 1/4
WPL8-03 8 3/8 WPL5/16-N03 5/16 3/8 WPT8-03 8 3/8 WPT5/16-N03 5/16 3/8
WPL8-04 8 1/2 WPL5/16-N04 5/16 1/2 WPT8-04 8 1/2 WPT5/16-N04 5/16 1/2
WPL10-01 10 1/8 WPL3/8-N01 3/8 1/8 WPT10-01 10 1/8 WPT3/8-N01 3/8 1/8
WPL10-02 10 1/4 WPL3/8-N02 3/8 1/4 WPT10-02 10 1/4 WPT3/8-N02 3/8 1/4
WPL10-03 10 3/8 WPL3/8-N03 3/8 3/8 WPT10-03 10 3/8 WPT3/8-N03 3/8 3/8
WPL10-04 10 1/2 WPL3/8-N04 3/8 1/2 WPT10-04 10 1/2 WPT3/8-N04 3/8 1/2
WPL12-02 12 1/4 WPL1/2-N02 1/2 1/4 WPT12-02 12 1/4 WPT1/2-N02 1/2 1/4
WPL12-03 12 3/8 WPL1/2-N03 1/2 3/8 WPT12-03 12 3/8 WPT1/2-N03 1/2 3/8
WPL12-04 12 1/2 WPL1/2-N04 1/2 1/2 WPT12-04 12 1/2 WPT1/2-N04 1/2 1/2

WPL WPT

| sFME | BSPP ‘ BEFIME ‘ BSPP
IteW Code \ Tube OD \ B IteW Code Tube OD B

WPLA-M5 4 e WPT4-GO1 4 1/8

WPL4-M6 4 M6
WPT4-G02 4 1/4

WPL6-M5 6 M5
WPT6-GO1 6 1/8

WPL6-M6 6 M6
WPL4-G01 4 1/8 PSR g 1/a
WPL4-G02 4 1/4 WPT6-G03 6 3/8
WPL6-GO1 6 1/8 WPT6-G04 6 12
WPL6-G02 6 1/4 WPT8-GO1 8 1/8
WPL6-G03 6 3/8 WPT8-G02 8 1/4

WPL6-G04 6 12
WPT8-G03 8 3/8

WPL8-GO1 8 1/8
WPT8-G04 8 12

WPL8-G02 8 1/4
WAL 03 . " WPT10-G01 10 1/8
WPL8-G04 8 12 WPT10-G02 10 1/4
WPL10-G01 10 1/8 WPT10-G03 10 3/8
WPL10-G02 10 1/4 WPT10-G04 10 12
WPL10-G03 10 3/8 WPT12-G02 12 1/4

WPL10-G04 1 12
0-Go 0 / WPT12-G03 12 3/8

WPL12-G02 12 1/4
WPT12-G04 12 1/2

WPL12-G03 12 3/8

WPL12-G04 12 12

35 Zhejiang Ideal Bell Technology Co.,Ltd. 36



Welding Fittings

IR

WPST

WPST4-01 1/8
WPST4-02 4 1/4
WPST6-01 6 1/8
WPST6-02 6 1/4
WPST6-03 6 3/8
WPST6-04 6 1/2
WPST8-01 8 1/8
WPST8-02 8 1/4
WPST8-03 8 3/8
WPST8-04 8 1/2
WPST10-01 10 1/8
WPST10-02 10 1/4
WPST10-03 10 3/8
WPST10-04 10 1/2
WPST12-02 12 1/4
WPST12-03 12 3/8
WPST12-04 12 1/2
WPST
BS Tube
WPST4-G01 4 1/8
WPST4-G02 4 1/4
WPST6-GO1 6 1/8
WPST6-G02 6 1/4
WPST6-G03 6 3/8
WPST6-G04 6 1/2
WPST8-G01 8 1/8
WPST8-G02 8 1/4
WPST8-G03 8 3/8
WPSTS-G04 3 1/2
WPST10-G01 10 1/8
WPST10-G02 10 1/4
WPST10-G03 10 3/8
WPST10-G04 10 1/2
WPST12-G02 12 1/4
WPST12-G03 12 3/8
WPST12-G04 12 1/2

BSPT
IteW Code ‘ Tube OD ‘ B
4

B

IteW Code
WPST5/32-N01
WPST5/32-N02
WPST1/4-NO1
WPST1/4-N02
WPST1/4-N03
WPST1/4-N04
WPST5/16-N01
WPST5/16-N02
WPST5/16-N03
WPST5/16-N04

WPST3/8-N01
WPST3/8-N02
WPST3/8-N03
WPST3/8-N04
WPST1/2-N02
WPST1/2-N03
WPST1/2-N04

Tube OD

5/32
5/32
1/4
1/4
1/4
1/4
5/16
5/16
5/16
5/16
3/8
3/8
3/8
3/8
1/2
1/2
1/2

T eee [ wr

\ B

1/8
1/4
1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/4
3/8
1/2

www.ideal-bell.com

EFIE EFHE

WPUC4 4 WPUC5/32 5/32
WPUC6 6 WPUC1/4 1/4
WPUCS8 8 WPUC5/16 5/16
WPUC10 10 WPUC3/8 3/8
WPUC12 12 WPUC1/2 1/2

EFIME EFIE

WPUL4 4 WPUL5/32 5/32
WPUL6 6 WPUL1/4 1/4
WPULS 8 WPUL5/16 5/16
WPUL10 10 WPUL3/8 3/8
WPUL12 12 WPUL1/2 1/2

- ey W | wFHE |
IteW Code \ Tube OD IteW Code \ Tube OD
WPUT4 4 WPUTS5/32 5/32
WPUT6 6 WPUT1/4 1/4
WPUTS 8 WPUT5/16 5/16
WPUT10 10 WPUT3/8 3/8
WPUT12 12 WPUT1/2 172

00000 | @ wye W 00000000000 | @ EFhE |
IteW Code ‘ Tube OD IteW Code ‘ Tube OD
WPMM4 4 WPMM5/32 5/32
WPMM6 6 WPMM1/4 1/4
WPMM8 8 WPMM5/16 5/16
WPMM10 10 WPMM3/8 3/8
WPMM12 12 WPMM1/2 1/2

37

Zhejiang Ideal Bell Technology Co.,Ltd. 38




Structural Diagram

www.ideal-bell.com

@ Collar(Zinc)
HE HED)

@ Lock Claw(SUS)
& (FHW)

@ Back Ring(POM)
FIER (RPE)

@ U-Packing(NBR)
T (THRERR)

@ Plastic Body(PBT)
2RE (PBT)

@ O-Ring(NBR)
O B (THEIRE)

© Thread
L4

@ Tube(Polyurethane,Nylon)
wE (PUE, ERE)

@ Release Sleeve(POM)
Br (RRE)

@ Metal Body(Brass)
EEHMH (R

Features/ 431

- One-Touch push-to-connect conflguration allows an instant tubing connection.

- Smoth-Edge release sleeve design facilitates a quick tubing disconnection.

- we can make both Brass or Nickel plated color. Nickel plated ensures anti-contamination properties for an extended product life.

- Pre-applied sealant on all external threads eliminates the additional sealing requirement.

- Internal and/or external flat-to-flat hexagonal configurations for both metric and inch specifications allow a proper tightening or directional

orientation upon installation by using L key or allen wrench for the applicable model types.

Specifications/ AR

Air, Water(No Drinking Water/Hot water)

Applicable Fluid Type

Working Pressure Range -14~150 PSI

-0.99~9.9Kgf/m?('-99~990Kpa)

Negative Pressure -29.5in Hg(-14PSl)

-750mmHg(-750Torr)

VTCIERI PRI LV ETa Tl 23~140 °F (Air)  32~104 °F (Water)

-5~60°C (Air) 0~40°C (Water)

M UEN L (SCRITST R PALL, PA12, PA6, PE, PU,FEP,PFA

Tube Outside Diameter You Can Choose As Follows:
E LUEENSEIMERTWT:

Thread Size For Your Choice As Follows:
{EO] USRI R0

Code No. X3

Metric Size/ %R~ Inch Size/ FEHIR~F
CodeNo. K53 | 4 | 6 | 8 | 10 | 12 | 532 | 1/4 | 516 | 3/8 | 12
T“b‘%oégshi?; Dia\ w4 | o6 | 8 | 010| 012 |05/32| ®1/4 | 5/16| #3/8 | 1,2

Thread Size B£8R

M5 12

Zhejiang Ideal Bell Technology Co.,Ltd. 40



www.ideal-bell.com

Composite Push In Fittings
2y SAPSTEE-SS

PC PC

[ [ TubeoD Bser | [ ]
| _ltemCode | Tubeo | B ___ | __C_ L | __sw_____sw__|
3 10

[ [ Tweoo [ [ eee [ [ [ [ |
[ _itemCode | _Tubeo | Ao | B | ___C__ | L __ | _sw SW2

PC3-01 1/8 74 20.5 2 PC3-G01 3 14 1/8 5.5 19.5 10 2
PC3-02 3 1/4 9 19.5 14 2 PC3-G02 3 17 1/4 6.9 19.5 10 2
PC4-01 4 1/8 [£5) 20.5 10 3 PC4-G01 4 14 1/8 55 19.5 10 B
PC4-02 4 1/4 9 19.5 14 3 PC4-G02 4 17 1/4 6.9 19.5 10 3
PC6-01 6 1/8 7.5 20.9 12 5 PC6-GO1 6 14 1/8 55 19.9 12 5
PC6-02 6 1/4 9 21.4 14 5 PC6-G02 6 17 1/4 6.9 21.4 12 5
PC6-03 6 3/8 10 224 17 5 PC6-G03 6 19 3/8 8.2 214 12 5
PC6-04 6 1/2 13 25.4 21 5 PC6-G04 6 24 1/2 9.2 22.4 12 5
PC8-01 8 1/8 7159 2255 14 5 PC8-GO1 8 14 1/8 515 245 14 5
PC8-02 8 1/4 9 24 14 6 PC8-G02 8 17 1/4 6.9 229 14 6
PC8-03 8 3/8 10 22.7 17 6 PC8-G03 8 19 3/8 8.2 23.7 14 6
PC8-04 8 1/2 13 25.7 21 6 PC8-G04 8 24 1/2 9.2 23.2 14 6
PC10-01 10 1/8 75 27.9 17 5 PC10-G01 10 14 1/8 55 26.8 17 5
PC10-02 10 1/4 9 27.9 17 6 PC10-G02 10 17 1/4 6.9 28.1 17 6
PC10-03 10 3/8 10 276 17 8 PC10-G03 10 19 3/8 8.2 26.6 17 8
PC10-04 10 1/2 13 26.1 21 8 PC10-G04 10 24 1/2 9.2 24.1 17 8
PC12-02 12 1/4 9 L3 19 6 PC12-G02 12 17 1/4 6.9 30 19 6
PC12-03 12 3/8 10 29.6 19 8 PC12-G03 12 19 3/8 8.2 Bl 19 8
PC12-04 12 12 13 30 21 8 PC12-G04 12 24 1/2 9.2 29.6 21 8
PC16-02 16 1/4 9 355 24 o] PC16-G02 16 20 1/4 8.2 34.4 24 $9
PC16-03 16 3/8 10 36.5 24 $12.5 PC16-G03 16 22 3/8 9.2 35.7 24 $12.5
PC16-04 16 1/2 13 355 24 ®15 _ PC16-G04 16 24 1/2 10 36.7 24 ®15
PC16-06 16 3/4 14 29 27 ®15 PC16-G06 16 30 3/4 10 28 24 ®15

II
II
(%]
=
=
(%]
=
N

ltem Code | Tubeop [ B |
PC5/32-N02 5/32 1/4 9 19.5 14 3 POC 3-01 3 10 1/8 7.5 20.5 2
PC1/4-NO1 1/4 1/8 7.5 20.9 12 5 00C 302 s o Ui . Lo 5
PC1/4-N02 1/4 1/4 9 21.4 14 5 - / :
- PC1/4-N03 1/4 3/8 10 224 17 5 POC 4-01 4 10 1/8 7.5 20.5 3
o B PC1/4-N04 1/4 1/2 13 25.4 21 5 bOC 4.02 . 0 1a 5 195 5
; PC5/16-N01 5/16 1/8 7.5 25.5 14 5 ) :
— PC5/16-N02 5/16 1/4 9 24 14 6 POC 6-01 6 12 1/8 7.5 20.9 5
PC5/16-N03 5/16 3/8 10 2.7 17 6 POC6.02 . M Vs 5 - 5
_ PC5/16-N04 5/16 1/2 13 25.7 21 6 i ’
PC3/8-NO1 3/8 1/8 7.5 27.9 17 5 T POC 6-03 6 17 3/8 10 224 5
- PC3/8-N02 3/8 1/4 9 27.9 17 6
POC 6-04 6 22 1/2 13 25.4 5
% < >)> g PC3/8-N03 3/8 3/8 10 27.6 17 8 /
(] PC3/8-N04 3/8 1/2 13 26.1 21 8 POC 8-01 8 14 1/8 7.5 25.5 5
PC1/2-N02 1/2 1/4 9 315 19 6 A POC 8-00 5 1 14 9 24 6
I PC1/2-N03 1/2 3/8 10 29.6 19 8 -
PC1/2-N04 1/2 1/2 13 30 21 8 POC 8-03 8 17 3/8 10 2.7 6
= POC 8-04 8 22 1/2 13 25.7 6
o \ POC 10-01 10 17 1/8 7.5 27.9 5
B
POC 10-02 10 17 1/4 9 27.9 6
| —
g POC 10-03 10 17 3/8 10 27.6 8
| | ftweoo [ 7 [ | SwW POC 10-04 10 2 112 13 279 8
ltemCode | _Tupe¢p [ B | ¢ [ L | _sw [ |
L 7 i 55 = 0 POC 12-02 12 20 1/4 9 32 6
PC3-M5 3 M5 35 20 10 POC 12-03 12 20 3/8 10 29.6 8
P 3 M 4 2 10 POC 12-04 12 22 1/2 13 27.8 8
PC4-M5 4 M5 35 20 10
PC4-M6 4 M6 45 21 10 POC 16-03 16 24 3/8 10 36.5 8
PC6-M5 6 M5 35 20.2 12 POC 16-04 16 24 12 13 36.5 10
PC6-M6 6 M6 45 21.4 12

N Zhejiang Ideal Bell Technology Co.,Ltd. 42



www.ideal-bell.com

Composite Push In Fittings

POC PCF

[ [ tweoo [ | Nt [ | |
_-____ -

e | e |4 | o | < | | o |

POC5/32-N01 5/32 1/8 205 3
POC5/32-N02 532 10 14 9 195 3 PCF5/32-N01 5/32 10.6 1/8 9.5 255 12
POC1/4-NO1 1/4 12 1/8 75 209 5 PCF5/32-N02 5/32 10.6 1/4 11 27 17
POC1/4-N02 1/4 14 1/4 9 214 5 PCF1/4-NOL 1/4 12.4 18 9.5 259 14
POC1/4-N03 1/4 17 3/8 10 224 5
POCL/4-NO4 14 » 12 13 5.4 5 PCF1/4-N02 1/4 124 1/4 11 274 17
POC5/16-N01 5/16 14 1/8 75 255 5 PCF1/4-N03 1/4 124 3/8 12 284 19
P°C5j 16-N02 5; 16 14 17‘ 9 24 6 PCF1/4-N04 14 12.4 12 15 314 24
POC5/16-N03 5/16 17 3/8 10 2.7 6
POC5/16-N04 516 » 12 13 %57 6 PCF5/16-N01 5/16 13.7 1/8 9.5 275 14
POC3/8-N01 3/8 17 1/8 75 27.9 5 PCF5/16-N02 5/16 14.6 1/4 11 29 17
- POC3/8-N02 3/8 17 1/4 9 27.9 6 PCF5/16-N03 5/16 14.6 3/8 12 30 19
POC3/8-NO3 3/8 17 3/8 10 27.6 8
— POC3/B-N04 38 » 12 3 570 s PCF5/16-N04 5/16 14.6 12 15 31 24
o POC1/2-N02 1/2 20 1/4 9 32 6 - PCF3/8-N01 3/8 16.8 1/8 9.5 29.8 17
B
1 POC1/2-N03 12 20 3/8 10 29.6 8 PCF3/8-N02 3/8 16.8 1/4 11 313 17
sw ROGH/ZNGE L2 22 L2 L 2L 8 o PCF3/8-N03 3/8 17.6 3/8 12 323 19
B PCF3/8-N04 3/8 17.6 12 15 353 24
& PCF1/2-N02 1/2 19.6 1/4 11 33.4 21
SwW.
PCF1/2-N03 12 19.6 3/8 12 344 21
POC PCF1/2-N04 1/2 19.6 1/2 15 374 24
T | | Tueoo [ | Metrc [ | [
Item Code _-__
POC 3-M5 3 M5 35 20 2
N POC 3-M6 3 10 M6 45 21 2 PCF
POC 4-M5 4 10 M5 35 20 2
POC 4-M6 4 10 v 45 21 2 | mweeoo [ ] eee [ | [
POC6-M6 6 12 Mo 45 2 2 PCF3-GO1 3 10.6 1/8 8 24 12
<T O-Ring PCF3-G02 3 10.6 1/4 9 25 17
Ji B PCF4-GO1 4 10.6 1/8 8 24 12
sw
PCF4-G04 4 10.6 12 13 29 24
PCF6-GO1 6 124 1/8 8 24.4 14
) C F PCF6-G02 6 124 1/4 9 254 17
PCF6-GO03 6 12.4 3/8 10 26.4 19
| | Tuweoo | | T [ | [ ] . PCF6-GO4 6 124 12 13 294 2
Item Code -———
PCF8-GO1 8 13.8 1/8 8 26 14
PCF3-01 10.6 1/8 9.5 25.5 !
PCF3-02 3 10.6 1/4 11 27 17 PCF8-G02 8 14.6 1/4 9 27 17
PCF4-01 4 10.6 1/8 9.5 25.5 12 PCF8-G03 8 14.6 3/8 10 28 19
PCF4-02 4 10.6 1/4 1 27 L PCF8-G04 8 14.6 12 13 31 24
PCF6-01 6 12.4 1/8 9.5 25.9 14
PCF6.02 6 124 14 1 274 17 | PCF10-G01 10 16.8 1/8 8 283 17
PCF6-03 6 12.4 3/8 12 284 19 PCF10-G02 10 16.8 1/4 9 293 17
:Zgg'g‘l‘ g gf‘l i; ; ;55 ;;‘5‘ i: SW PCF10-G03 10 176 3/8 10 303 19
PCF8.02 8 146 a 1 2% 17 o PCF10-G04 10 17.6 12 13 333 24
PCF8-03 8 14.6 3/8 12 30 19 PCF12-G02 12 19.6 1/4 9 314 21
T
PCF8-04 8 14.6 1;2 15 31 24 B PCF12-G03 12 19.6 3/8 10 324 21
PCF10-01 10 16.8 1/8 95 29.8 17
PCF10-02 10 16.8 1/4 1 313 17 FFADHEDS = 1 L2 - B 2
PCF10-03 10 17.6 3/8 12 323 19 PCF16-G02 16 23.7 1/4 9 37 24
PCF10-04 10 17.6 1/2 15 35.3 24 PCF16-G03 16 23.7 3/8 10 38 24
PCF12-02 12 19.6 1/4 11 334 21 I, 1 - " = " 9
PCF12-03 12 19.6 3/8 12 344 21 :
PCF12-04 12 19.6 1/2 15 37.4 24 PCF16-G06 16 23.7 3/4 16 42 32
PCF16-02 16 23.7 1/4 11 37 24 PC16-G06 16 30 3/4 10 28 24
PCF16-03 16 237 3/8 12 38 24
PCF16-04 16 237 1/2 15 41 24
PCF16-06 16 237 3/4 16 4 32

Vk} Zhejiang Ideal Bell Technology Co.,Ltd. 44



www.ideal-bell.com

Composite Push In Fittings
2y SAPSTEE-SS

PL PL
remcacel e o | x| oo | ¢ | o | € | | o | & | | |

PL3-01 3 7.5 11 1/8 8 3.2 6 17.8 233 28.7 10
PL3-02 3 9 11 1/4 8 3.2 6 17.8 233 30.2 14
PL4-01 4 7.5 11 1/8 8 3.2 6 17.8 233 28.7 10 PL4-M5 4 11 7.4 35 M5 3.2 21 17.8 8 10
PL4-02 4 9 11 1/4 8 3.2 6 17.8 23.3 30.2 14 PL4-M6 4 11 74 45 M6 29 22 17.8 8 10
PL6-01 6 7.5 13 1/8 9 32 6.5 20.8 27.3 322 12
PL6-M5 6 13 9.3 35 M5 3.2 23.8 20.9 9 12
PL6-02 6 9 13 1/4 9 3.2 6.5 20.8 27.3 337 14
PL603 6 10 13 3/8 9 32 65 208 213 357 17 PLE-ME 6 13 93 43 Ve 32 28 209 o 12
PL6-04 6 13 13 1/2 9 3.2 6.5 20.8 27.3 38.7 21
PL8-01 8 7.5 14.6 1/8 10 3.2 6.5 23.4 30.7 37.4 14
PL8-02 8 9 14.6 1/4 10 3.2 6.5 23.4 30.7 38.9 14
| temcoce | Tubeo | Al 8o L ¢ 0 e | F o | v | L | W]
PL8-03 8 10 14.6 3/8 10 3.2 6.5 23.4 30.7 40.9 17 H
PL8-04 8 13 14.6 1/2 10 3.2 6.5 23.4 30.7 43.9 21 G PL3-G01 3 5.5 11 1/8 8 3.2 6 17.8 233 26.7 14
H PL10-01 10 7.5 17.6 1/8 11 3.2 6.5 25.7 34.5 40.9 17 — 1 PL3-G02 3 6.9 11 1/4 8 3.2 6 17.8 233 28.2 17
G -
PL10-02 10 9 17.6 1/4 11 32 6.5 25.7 34.5 42.3 17 i @ PL4-GO1 4 5.5 11 1/8 8 32 6 178 233 26.7 14
PL10-03 10 10 17.6 3/8 11 3.2 6.5 25.7 345 44.3 17 o H
M 5 PL4-G02 4 6.9 11 1/4 8 32 6 17.8 233 28.2 17
© PL10-04 10 13 17.6 1/2 11 3.2 6.5 25.7 34.5 473 21 b £
A
PL12-02 12 9 21 1/4 12.75 32 6.5 29.7 40.2 47.1 19 PL6-GO1 6 5.5 13 1/8 9 3.2 6.5 20.8 213 30.2 14
= PL12-03 12 10 21 3/8 12.75 3.2 6.5 29.7 40.2 49.6 19 (1, o_?q\?rl‘g PL6-G02 6 6.9 13 1/4 9 32 6.5 20.8 273 31.6 17
4
- c
PL12-04 12 13 21 1/2 12.75 3.2 6.5 29.7 40.2 52.6 21 PL6-GO3 6 82 13 3/8 9 32 65 20.8 273 33.9 19
PL16-02 16 9 26 1/4 15 42 8 345 47.5 56.7 24
PL6-G04 6 9.2 13 1/2 9 3.2 6.5 20.8 27.3 349 24
PL16-03 16 10 26 3/8 15 4.2 8 345 47.5 57.7 24
PL16-04 16 13 26 1/2 15 42 8 34.5 475 60.7 24 PL8-G0O1 8 5.5 14.6 1/8 10 3.2 6.5 23.4 30.7 35.4 14
PL16-06 16 14 26 3/4 15 4.2 8 345 475 61.7 27 PL8-G02 8 6.9 14.6 1/4 10 3.2 6.5 23.4 30.7 36.9 17
PL8-G03 8 8.2 14.6 3/8 10 3.2 6.5 23.4 30.7 39.1 19
PL8-G04 8 9.2 14.6 1/2 10 32 6.5 23.4 30.7 40.1 24
PL10-GO1 10 55 17.6 1/8 11 32 6.5 25.7 34.5 38.8 17
PL10-G02 10 6.9 17.6 1/4 11 3.2 6.5 25.7 34.5 40.4 17
PL10-G03 10 8.2 17.6 3/8 11 32 6.5 25.7 34.5 42.4 19
P L PL10-G04 10 9.2 17.6 1/2 11 32 6.5 25.7 34.5 43.5 24

PL12-G02 12 6.9 21 1/4 12.75 3.2 6.5 29.7 40.2 45 19

PL5/32-NOL 532 -z . — 18" - - PL12-G03 12 8.2 21 3/8 1275 32 6.5 29.7 402 476 19
PL5/32-N02 5/32 9 25 18.8 1/4" 1 14 PL12-G04 12 9.2 21 12 12.75 32 6.5 29.7 40.2 486 24
PL1/4-NO1 1/4 72 22 208 8 = 12 PL16-G03 16 8.2 26 3/8 15 42 8 345 475 55.4 24
PL1/4-N02 1/4 9 245 206 1/4" 13 14
PL16-G04 16 9.2 26 12 15 42 8 345 475 56.4 24
PL1/4-N03 1/4 10 255 206 3/8" 13 17
PLL/4-NO4 14 13 295 206 12" 13 ” PL16-G06 16 10 26 3/4 15 42 8 345 475 577 30
PL5/16-N01 5/16 75 2 2.8 1/8" 145 1
PL5/16-N02 5/16 9 245 228 1/4" 145 14
PL5/16-N03 5/16 10 28.5 238 3/8" 145 17
H S PL5/16-N04 5/16 13 315 22.8 172" 145 21
PL3/8-NO1 3/8 75 2 252 1/8" 17.8 17
] I PL3/8-N02 3/8 9 275 2522 1/4" 17.8 17
® PL3/8-NO3 3/8 10 29.5 252 3/8" 17.8 17
i PL3/8-NO4 3/8 13 325 25.2 172" 17.8 21
PL1/2-N02 12 9 285 30.7 1/4" 21 17
PL1/2-N03 12 10 305 307 3/8" 21 17
PL1/2-NO4 12 13 335 307 1/2" 21 21

45 Zhejiang Ideal Bell Technology Co.,Ltd. 46



Composite Push In Fittings
2y SAPSTEE-SS

NPL

- HEE0 MS/MG ----
Tube OD
4 35 1815 18.8 11 12

/j PL4-M5

PL4-M6 4 4.5 20.5 18.8 11 12
PL6-M5 6 35 19 20.6 13 12
PL6-M6 6 4.5 20 20.6 13 12

NPL

IS O R B R N BN

NPL4-01 4 [65) 22.5 18.8 1/8" 11 12
NPL4-02 4 9 25 18.8 1/4" 11 14
NPL6-01 6 [65) 22 20.6 1/8" 13 12
NPL6-02 6 9 24.5 20.6 1/4" 13 14
NPL6-03 6 10 25153 20.6 3/8" 13 17
NPL6-04 6 13 29.5 20.6 1/2" 13 21
NPL8-01 8 73 22 22.8 1/8" 14.5 12
NPL8-02 8 9 24.5 22.8 1/4" 14.5 14
NPL8-03 8 10 28.5 22.8 3/8" 14.5 17
NPL8-04 8 13 315 22.8 1/2" 14.5 21
NPL10-01 10 3 26 25.2 1/8" 17.8 17
NPL10-02 10 9 27.5 25.2 1/4" 17.8 17
NPL10-03 10 10 29.5 25.2 3/8" 17.8 17
NPL10-04 10 13 325 25.2 1/2" 17.8 21
NPL12-02 12 9 28.5 30.7 1/4" 21 17
NPL12-03 12 10 30.5 30.7 3/8" 21 17
NPL12-04 12 13 88ES) 30.7 1/2" 21 21

NPL

PLF

IS S T S NN N S SN N

NPL5/32-NO1
NPL5/32-N02
NPL1/4-NO1
NPL1/4-N02
NPL1/4-N03
NPL1/4-N04
NPL5/16-NO1
NPL5/16-N02
NPL5/16-N03
NPL5/16-N04
NPL3/8-N01
NPL3/8-N02
NPL3/8-N03
NPL3/8-N04
NPL1/2-N02
NPL1/2-N03
NPL1/2-N04

PLF4-02

3

3

4

4
PLF6-01 6
PLF6-02 6
6

6

8

8

8

8

PLF6-03
PLF6-04
PLF8-01
PLF8-02
PLF8-03
PLF8-04
PLF10-01 10
PLF10-02 10
PLF10-03 10
PLF10-04 10
PLF12-02 12
PLF12-03 12
PLF12-04 12
PLF16-03 16
PLF16-04 16

5/32
5/32
1/4
1/4
1/4
1/4
5/16
5/16
5/16
5/16
3/8
3/8
3/8
3/8
1/2
12
12

10.5
13
14
17

10.5

12,5
14
17

6.1

1.1

13.6

171

12.5
17

16.7

14.6
14.6
14.6
14.6
17.6
17.6
17.6
17.6
21
21
21
26
26

[65

©o

10
13
[25

10
13

10
13

1/4
1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/4
3/8
1/2
3/8
1/2

2003

28.5
315
26
275
29.5
325
28.5
30.5
8SiS

12.75

12.75

12.75
15
15

18.8
18.8
20.6
20.6
20.6
20.6
22.8
22.8
22.8
22.8
25.2
25.2
25.2
25.2
30.7
30.7
30.7

1/8"
1/4"
1/8"
1/4"
3/8"
12"
1/8"
1/4"
3/8"
1/2"
1/8"
1/4"
3/8"
12"
1/4"
3/8"
1/2"

17.8
20.8
20.8
20.8
20.8
23.4
23.4
23.4
234
25.7
25.7
25.7
25.7
29.7
29.7
29.7
34.5
34.5

233
27.3
27.3
2113
27.3
30.7
30.7
30.7
30.7
34.5
34.5
34.5
345
40.2
40.2
40.2
47.5
47.5

www.ideal-bell.com

11 12
11 14
13 12
13 14
13 17
13 21
145 12
14.5 14
14.5 17
14.5 21
17.8 17
17.8 17
17.8 17
17.8 21
21 17
21 17
21 21

28.7 12 05!
30.2 17 11
28.7 12 8.5
30.2 17 11
31.2 12 €5
33.7 17 11
34.7 19 12
37.7 24 15
36.4 14 9.5
38.4 17 11
8919 19 12
42.9 24 15
35.4 17 O35/
40.4 17 11
42.9 19 12
46.4 24 15
40.1 19 11
46.6 19 12
51.1 24 15
471.7 24 12
58.4 24 15

47

Zhejiang Ideal Bell Technology Co.,Ltd. 48




www.ideal-bell.com

Composite Push In Fittings
2y SAPSTEE-SS

PLF PLL

[emcon o] & [ oo | ¢ | o £ |+ o | & | | [emcose [tweo | 3 oo | | o | & | | o | v | |

PLF5/32-N01 5/32 L5 11 1/8 8 3.2 6 17.8 233 28.7 12 €5 PLL3-01 3 75 11 1/8 8 3.2 6 17.8 2253 43.7 10

PLF5/32-N02 5/32 13 11 1/4 8 3.2 6 17.8 23.3 30.2 17 11 PLL3-02 3 9 11 1/4 8 3.2 6 17.8 233 45.2 14

PLF1/4-NO1 1/4 10.5 13 1/8 9 32 6.5 20.8 27.3 Bi)] 12 9.5 PLL4-01 4 7.5 11 1/8 8 32 6 17.8 233 43.7 10

PLF1/4-N02 1/4 13 13 1/4 9 3.2 6.5 20.8 27.3 33.7 17 11 PLL4-02 4 9 11 1/4 8 3.2 6 17.8 233 45.2 14

PLF1/4-NO3 1/4 14 13 3/8 g 3.2 6.5 20.8 27.3 34.7 19 12 PLL6-01 6 75 13 1/8 & 3.2 6.5 20.8 3 48.2 12

PLF1/4-N04 1/4 17 13 1/2 9 3.2 6.5 20.8 27.3 37.7 24 15 PLL6-02 6 13 1/4 9 3.2 6.5 20.8 27.3 49.7 14

PLF5/16-N01 5/16 10.5 14.6 1/8 10 32 6.5 23.4 30.7 36.4 14 9.5 PLL6-03 6 10 13 3/8 9 &2 6.5 20.8 27.3 Sl 17

PLF5/16-N02 5/16 1255 14.6 1/4 10 3.2 6.5 23.4 30.7 38.4 17 11 PLL6-04 6 13 13 1/2 9 3.2 6.5 20.8 27.3 54.7 21

. G PLF5/16-N03 5/16 14 14.6 3/8 10 82 6.5 23.4 30.7 39.9 19 12 H PLL8-01 8 75 14.6 1/8 10 3.2 6.5 23.4 30.7 56.4 14

— PLF5/16-N04 5/16 17 14.6 1/2 10 3.2 6.5 23.4 30.7 42.9 24 15 e PLL8-02 8 9 14.6 1/4 10 3.2 6.5 23.4 30.7 57.9 14

] I - PLF3/8-N01 3/8 6.1 17.6 1/8 11 32 6.5 25.7 345 35.4 17 9.5 E I o PLL8-03 8 10 14.6 3/8 10 BY) 6.5 23.4 30.7 59.9 17

a i PLF3/8-N02 3/8 111 17.6 1/4 11 3.2 6.5 25.7 345 40.4 17 11 ol |H PLL8-04 8 13 14.6 1/2 10 3.2 6.5 23.4 30.7 62.9 21

o S PLF3/8-N03 3/8 13.6 17.6 3/8 11 3.2 6.5 25.7 34.5 42.9 19 12 D f\ PLL10-01 10 7.5 17.6 1/8 11 3.2 6.5 25.7 34,5 64.9 17
= & PLF3/8-N04 3/8 17.1 17.6 1/2 11 3.2 6.5 25.7 34.5 46.4 24 15 o PLL10-02 10 9 17.6 1/4 11 3.2 6.5 25.7 34.5 66.3 17

SWJEI— < PLF1/2-N02 1/2 6 21 1/4 12.75 32 6.5 29.7 40.2 40.1 19 11 sw PLL10-03 10 10 17.6 3/8 11 BY) 6.5 25.7 34.5 68.3 17
PLF1/2-NO3 1/2 125 21 3/8 12.75 3.2 6.5 29.7 40.2 46.6 19 12 PLL10-04 10 13 17.6 1/2 11 3.2 6.5 25.7 345 71.3 21

cS PLF1/2-N04 1/2 17 21 1/2 12.75 3.2 6.5 29.7 40.2 51.1 24 15 < c PLL12-02 12 9 21 1/4 12.75 3.2 6.5 29.7 40.2 71.1 19

— PLL12-03 12 10 21 3/8 12.75 3.2 6.5 29.7 40.2 73.6 19

PLL12-04 12 13 21 1/2 12.75 2 6.5 29.7 40.2 76.6 21

PLF PLL

I - [ I 2 ) N
T R I Y N I A N O R T

[ Goe [uneo| 5| 0 | ¢ | o | & | ¢ | & | w | o]

AL 2 - 1l 18 g 2 g e I = g PLL5/32-NO1  5/32 7.5 11 18 8 32 6 178 233 437 10

PLF3-G02 3 1 1 1/4 8 32 6 178 233 282 17 9
PLL5/32-N02  5/32 9 1 14 8 32 6 178 233 452 14

PLF4-GO1 4 10 11 1/8 8 32 6 178 233 272 12 8
PLLI/4-NOL  1/4 75 13 18 9 3.2 6.5 208 273 482 12

PLF4-G02 4 1 1 1/4 8 32 6 178 233 282 17 9
oLEe.COL . 5 5 N . - TR b . PLLI/4-NO2  1/4 9 13 1/4 9 32 6.5 20.8 273 49.7 14
PLFG-GO2 6 1 13 1a 9 1 65 208 273 317 17 9 PLLI/4-NO3  1/4 10 13 3/8 9 32 6.5 208 273 517 17
PLF6-G03 6 12 13 3/8 9 ED) 65 208 273 327 19 10 PLLI/4-NO4  1/4 13 13 102 9 32 6.5 20.8 273 547 21
PLF6-G04 6 15 13 102 9 32 65 208 273 357 24 13 PLL5/16-NOL  5/16 7.5 146 1/8 10 32 6.5 B4 307 564 14
PLF8-GO1 8 9 14.6 1/8 10 3.2 6.5 234 30.7 34.9 14 8 Ho PLL5/16-N02  5/16 9 14.6 1/4 10 32 6.5 234 30.7 57.9 14
PLF8-G02 8 105 146  1/4 10 32 6.5 234 307 364 7 9 — PLL5/16-N03  5/16 10 146 38 10 32 6.5 234 30.7 59.9 17

Y PLF8-G03 8 12 146 38 10 ED) 65 234 307 379 19 10 I
o PLL5/16-NO4  5/16 13 14.6 12 10 3.2 6.5 234 307 62.9 21
G PLF8-G04 8 15 146 12 10 32 65 234 307 409 2 13 af |l

PLL3/8-NOL  3/8 75 176 18 11 32 6.5 257 345 64.9 17

- PLF10-G01 10 61 176  1/8 1 32 65 257 345 354 17 8
- o PLFO-G02 10 91 176 1/4 11 32 65 257 345 384 17 9 PLL3/8-NO2  3/8 9 176 1/4 H 3.2 6.5 257 345 663 w
o I PLF10-G03 10 116 176 3/8 1 32 6.5 257 345 409 19 10 PLL3/8-NO3  3/8 10 176 3/8 u 32 6.5 25.7 345 68.3 17
. . PLF10-G04 10 151 176 172 11 32 65 257 345 444 2 13 PLL3/8-NO4  3/8 13 17.6 1/2 1 32 6.5 25.7 345 713 21

D
S PLF12-G02 12 6 21 v4 1275 32 65 297 402 40.1 19 9 PLLI/2-NO2  1/2 9 21 14 1275 32 6.5 207 402 711 19
< PLF12-G03 12 10.5 21 3/8 12.75 3.2 6.5 29.7 40.2 46.6 19 10 PLL1/2-NO3 1/2 10 21 3/8 12.75 32 6.5 29.7 40.2 73.6 19
SwW r

PLF12:G04 12 15 21 2 1275 32 6.5 2.7 402 5L1 24 13 PLLL/2-NO4  1)2 13 21 12 1275 32 6.5 29.7 402 76.6 21

o PLF16-G03 16 6 26 38 15 42 8 345 415 477 24 10

PLF16-G04 16 147 26 102 15 42 8 345 415 564 2 13

49 Zhejiang Ideal Bell Technology Co.,Ltd. 50



www.ideal-bell.com

Composite Push In Fittings

PLL PT

o Tweoo| [l |
[remcose e 4 e | ¢ | o | & |+ o & | | o

| e T b e | ]
BT R T

PLL3-GO1 3 55 11 1/8 8 32 6 178 233 417 14 S ol T aa | . o
PLL3-G02 3 69 H 4 8 32 6 e 233 432 v PTS/32-N02  5/32 356 302 11 8 16 6 32 1/4 9 14
PLL4-GO1 4 55 11 18 8 32 6 178 233 417 14 o PRy e e 5 5 s o - T s "
PLL4-GO2 4 6.9 11 1/4 8 32 6 178 233 432 17 PNy 14 s 37 5 . s s + Ve . "
PLLEL @ 32 1 Ve 2 O T i Ll PT1/4-NO3  1/4 418 357 13 9 18 6.5 32 3/8 10 17
PLL6-GO2 6 69 13 4 9 3.2 65 208 213 416 i PTI/4N04  1/4 418 387 13 9 18 65 32 12 13 21
PLL-EE ¢ E2 L e 2 32 @3 A0 | A | e = PTS/16-NO1 516 468 374 146 10 20 6.5 32 18 75 14
PLL6-GO4 6 92 13 12 9 32 65 208 273 509 2 PISAGN02  S/6 468 89 146 0 " s . 24 5 "
IPLLE-GL g 32 L e L 32 85 2L | ST | S S PT5/16N03 516 468 409 146 10 20 6.5 32 3/8 10 17
. PLLE-G02 8 6.9 14.6 1/4 10 32 65 234 307559 w | : PTS/16NO4  5/16 468 439 146 10 20 6.5 32 12 13 21
s PLL8-GO3 8 82 146 38 10 32 65 234 307 581 19 P T Ry ey u , s - % s .
[ PLL8-GO4 8 92 1456 12 10 32 65 234 307 501 2 P3/ENZ 3/8 524 423 116 u , s . 24 5 o
ﬂ Il E PLLIO-GOL 10 55 1756 18 11 32 65 257 345 628 17 ) BECHD | 5F | me | 2 | e N 5 o " v 0 .
oL PLLI0-GO2 10 6.9 16 /4 H 32 65 250 345 644 w PT3/8-NO4  3/8 544 473 176 1 » 6.5 32 12 13 21
) —L—i PLLIO-GO3 10 82 176 38 11 32 65 257 345 664 19 TNz 12 s . 0 b7 ass os . 24 5 1
PLLIO-GO4 10 92 1756 12 11 32 65 257 345 615 2 L ey Y o 196 e s . = 0 L
" PLLI2-GO2 12 69 21 ya 1275 32 65 297 402 69 o PTL/2-NO4 112 58 526 21 1275 255 6.5 32 12 13 21
_ PLLI2Z-GO3 12 82 21 38 1275 32 65 297 402 716 19
i — N PLLIZ-GO4 12 9.2 21 12 1275 32 6.5 297 402 726 2%

_“-_-___-_

PT4-M5 4 35.6 24.7 8 32 M5%0.8 85

PT4-M6 4 35.6 25.7 11 8 16 6 3.2 M6*1 4.5 10

PT6-M5 6 41.8 28.2 13 © 18 6.5 3.2 M5*0.8 35 12
PT PT6-M6 6 41.8 29.2 13 9 18 6.5 3.2 M6*1 4.5 12

| fmeeoof ] [ 1 [ [ Jee ] | |

I Y TS N A T N A I B Y O 2 N B

PT3-02 3 36 302 11 8 16 6 32 1/4 9 14 9 PISEEE B |2 8 6 3/8 19
P a ®E | w7y | z = z 32 ys 15 1 g PT3-G04 3 356 312 11 8 16 6 32 12 9.2 2%
PT4-02 4 3s6 300 11 g 16 . 32 14 5 1 5 PT4-GO1 4 356 267 1 8 16 6 32 18 55 14
PT6-01 6 a8 322 13 9 18 65 32 18 15 12 8 PT4-G02 4 36 282 1 8 16 6 32 1/4 6.9 1
PT6.02 p s m7 13 9 18 65 32 14 5 1 5 PT6-G01 6 418 302 13 9 18 6.5 32 18 55 14
PT6-03 6 418 357 13 9 18 6.5 32 3/8 10 17 10 PT6-G02 6 41.8 316 13 9 18 6.5 32 1/4 6.9 i
PT6-04 6 418 387 13 9 18 6.5 32 1/2 13 21 13 PSS ® AL £ L3 9 18 6.5 32 3/8 8.2 19
PT8-01 8 468 314 146 10 20 65 32 18 15 14 8 PT6-G04 6 aLs 349 13 9 18 65 32 12 9.2 24
PT8.02 8 468 389 146 10 20 65 32 14 5 1 5 PT8-G01 8 468 354 146 10 20 6.5 32 18 55 14
PT8-03 8 468 409 146 10 20 6.5 32 3/8 10 17 10 PT8-602 8 468 369 146 10 20 6.5 32 1/4 6.9 7
PT8-04 8 468 439 146 10 20 6.5 32 1/2 13 21 13 a  PIEE g o L1 LD 10 20 6.5 32 3/8 8.2 19
PT10-01 10 514 409 176 11 2 6.5 32 8 15 17 8 PT8-604 8 468 401 146 10 20 6.5 32 172 9.2 2
PT10-02 0 s4 w3 176 11 » 65 32 1 5 17 5 PT10-G01 10 514 388 176 11 2 6.5 32 18 55 17
PT10-03 10 534 443 176 1 2 6.5 32 3/8 10 17 10 PT10-602 10 524 404 176 11 22 6.5 32 1/4 6.9 i
PT10-04 10 544 413 176 1 2 6.5 32 12 13 21 13 PIO-E5 10 e 18 1 2 6.5 32 3/8 8.2 19
PT12-02 12 58 471 21 1275 255 65 32 1/4 9 19 9 PT10-G04 10 544 435 176 = 2 6.5 32 12 9.2 2
PT12-03 12 58 496 21 1275 255 65 32 38 10 19 10 PT12-602 12 8 4 2 1275 255 6.5 32 1/4 6.9 19
| pTi204 1 58 526 21 1275 255 65 32 12 13 ” 13 PT12-G03 12 58 476 21 1275 255 6.5 32 3/8 82 19
p——— = | @ | o6 = p= 3 42 i 5 ” 1 PT12-G04 12 58 486 21 1275 255 65 32 12 9.2 2%
PT16-03 16 69 517 2 15 30 8 42 3/8 10 24 13 PIIEE0S 16 & s 28 15 30 8 4.2 3/8 8.2 24
PT16-04 16 69 607 26 15 30 8 42 12 13 2 10 PT16-6G04 16 69 56.4 26 15 30 8 42 12 9.2 2
PT16-06 16 69 617 26 15 30 8 42 3/4 14 27 13 PIEOE 1 (& ST:1 28 15 30 8 4.2 3/4 10 30

51 Zhejiang Ideal Bell Technology Co.,Ltd. 52



Composite Push In Fittings

B

PST

PSTEESS

PST

 Tweoo| [ e T
[hamcose Tweo | 4 | 5 | co | o | & |+ o | w | i | |

PST3-01
PST3-02
PST4-01
PST4-02
PST6-01
PST6-02
PST6-03
PST6-04
PST8-01
PST8-02
PST8-03
PST8-04
PST10-01
PST10-02
PST10-03
PST10-04
PST12-02
PST12-03
PST12-04
PST16-02
PST16-03
PST16-04
PST16-06

[remcoge [twoeo | & | 5 | o | o | € | | & | v | | s

PST5/32-N01
PST5/32-N02
PST1/4-N01
PST1/4-N02
PST1/4-N03
PST1/4-N04
PST5/16-N01
PST5/16-N02
PST5/16-N03
PST5/16-N04
PST3/8-N01
PST3/8-N02
PST3/8-N03
PST3/8-N04
PST1/2-N02
PST1/2-N03
PST1/2-N04

3

 ®® 0 W OO O O O » b W

e e O o =
o OO O O N N N O ©O O O

5/32
5/32
1/4
1/4
1/4
1/4
5/16
5/16
5/16
5/16
3/8
3/8
3/8
3/8
1/2
1/2
1/2

5815
55
57
60

57.8

59.2

61.2

64.2

65.6

68.1

711

78.2

79.2

82.2

83.2

53
5815
55
57
60
57.8
59.2
61.2
64.2
65.6
68.1
71.1

14.6
14.6
14.6
14.6
17.6
17.6
17.6
17.6
21
21
21
26
26
26
26

13
14.6
14.6
14.6
14.6
17.6
17.6
17.6
17.6

21

21

21

8
8
8
8
g
9
9
9

10
10
10
10
11
11
11
11
12.75
DN
12.75
15
15
15
15

o W VW W o o

10
10
10
11
11
11
11
12.75
12.75
12.75

25.5

25.5

25.5
30
30
30
30

18
20
20
20
20
22
22
22
22
545!
25.5
25.5

6
6
6
6

6.5
6.5
6.5
6.5
6.5
6.5
6.5
6.5
6.5
6.5
6.5
6.5
6.5

© 0 o o

6.5
6.5
6.5
6.5
6.5
6.5
6.5
6.5
6.5
6.5
6.5
6.5

3.2
3.2
3.2
3.2
3.2
3.2
3.2
3.2
3.2
3.2
3.2
32

1/8
1/4
1/8
1/4
1/8
1/4
3/8
12
1/8
1/4
3/8
12
1/8
1/4
3/8
12
1/4
3/8
12
1/4
3/8
1/2
3/4

1/8
1/4
1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/4
3/8
1/2

65
9
15
9
65

10
13
65
9
10
13
65
9
10
13
9
10
13
9
10
13
14

75
9
7.5
9

13
[E5)
9
10
13
{65
9
10
13
g
10
13

10
14
10
14
12
14
17
21
14
14
17
21
17
17
17
21
19
19
21
24
24
24
27

10
14
12
14
17
21
14
14
17
21
17
17
17
21
19
19
21

PST

PST4-M5

PST4-M6

PST6-M5

PST6-M6

PST

T

PST3-G01
% PST3-G02
! PST4-G01
PST4-G02

PST6-G01

PST6-G02
PST6-G03

B PST6-G04

(Sl . PST8-GO1

PST8-G02

PST8-G03

PST8-G04

PST10-GO1

PST10-G02

PST10-G03
PST10-G04
PST12-G02
PST12-G03
PST12-G04
PST16-G03
PST16-G04
PST16-G06

3
3

4

10
10
10
10
12
12
12
16
16
16

445

45.5

A

67.1
76.9
77.9

79.2

215

25.5

255

39.5
47.5
47.5

47.5

11

13

13

11
13
13
13
13
14.6
14.6

14.6
17.6

17.6
17.6
21
21
21
26
26
26

10
10
10
10
11
11
11
11
12.75
12.75
12.75
15
15

S

16

18

18

16
18
18
18
18
20
20
20
20
22
22
22
22
25.5
25,9
25.5
30
30
30

6.5

6.5

6.5
6.5
6.5
6.5
6.5
6.5
6.5
6.5
6.5
6.5
6.5
6.5
6.5

6.5

3.2

82

3.2

3.2
3.2
3.2
3.2
3.2
32
3.2
32
3.2
BY)
3.2
32
3.2
3.2
3.2
3.2
42
42

42

www.ideal-bell.com

M5*0.8

M6*1

1/4
1/8
1/4
3/8
12
1/8
1/4
3/8
12
1/8
1/4
3/8
12
1/4
3/8
12
3/8
12

3/4

4.5

3.5

4.5

6.9
55
6.9
8.2
9.2
515
6.9
8.2
9.2
515!
6.9
8.2
9.2
6.9
8.2
9.2
€2
10

14

10

12

12

14
17
19
24
14
17
19
24
17
17
19
24
19
19
24
24
24

30

53

Zhejiang Ideal Bell Technology Co.,Ltd. 54




www.ideal-bell.com

Composite Push In Fittings
2y SAPSTEE-SS

PTF PTF
I S 2 N I Y 2 O N

[romcose weo | # | 5 | co | o | € |+ | o | v | | | [emcose rwes| % | o | co | o € | 7+ | o v | | o

PTF3-01 3 35.6 28.7 11 8 16 6 3.2 1/8 9.5 12 11.5 PTF3-GO1 3 35.6 27.2 11 8 16 6 3.2 1/8 8 12

PTF3-02 3 35.6 30.2 11 8 16 6 3.2 1/4 11 17 13 PTF3-G02 3 35.6 28.2 11 8 16 6 3.2 1/4 9 17 11
PTF4-01 4 35.6 28.7 11 8 16 6 3.2 1/8 9.5 12 11.5 PTF4-GO1 4 35.6 27.2 11 8 16 6 3.2 1/8 8 12 10
PTF4-02 4 35.6 30.2 11 8 16 6 3.2 1/4 11 17 13 PTF4-G02 4 35.6 28.2 11 8 16 6 3.2 1/4 9 17 11
PTF6-01 6 41.8 31.2 13 9 18 6.5 3.2 1/8 9.5 12 10.5 PTF6-GO1 6 41.8 29.7 13 9 18 6.5 3.2 1/8 8 12 9
PTF6-02 6 41.8 33.7 13 9 18 6.5 3.2 1/4 11 17 13 PTF6-G02 6 41.8 317 13 9 18 6.5 3.2 1/4 9 17 11
PTF6-03 6 41.8 34.7 13 9 18 6.5 3.2 3/8 12 19 14 PTF6-G03 6 41.8 32.7 13 9 18 6.5 3.2 3/8 10 19 12
PTF6-04 6 41.8 37.7 13 9 18 6.5 3.2 1/2 15 24 17 . PTF6-G04 6 41.8 35.7 13 9 18 6.5 3.2 1/2 13 24 15
PTF8-01 8 46.8 36.4 14.6 10 20 6.5 3.2 1/8 9.5 14 10.5 PTF8-GO1 8 46.8 34.9 14.6 10 20 6.5 3.2 1/8 8 14 9
PTF8-02 8 46.8 38.4 14.6 10 20 6.5 3.2 1/4 11 17 12.5 PTF8-G02 8 46.8 36.4 14.6 10 20 6.5 3.2 1/4 9 17 10.5
PTF8-03 8 46.8 39.9 14.6 10 20 6.5 3.2 3/8 12 19 14 PTF8-G03 8 46.8 379 14.6 10 20 6.5 3.2 3/8 10 19 12
PTF8-04 8 46.8 429 14.6 10 20 6.5 3.2 1/2 15 24 17 PTF8-G04 8 46.8 40.9 14.6 10 20 6.5 3.2 1/2 13 24 15
PTF10-01 10 51.4 35.4 17.6 11 22 6.5 3.2 1/8 9.5 17 6.1 PTF10-G01 10 51.4 35.4 17.6 11 22 6.5 3.2 1/8 8 17 6.1
PTF10-02 10 524 40.4 17.6 11 22 6.5 3.2 1/4 11 17 11.1 ‘ A PTF10-G02 10 52.4 38.4 17.6 11 22 6.5 3.2 1/4 9 17 9.1
PTF10-03 10 534 429 17.6 11 22 6.5 3.2 3/8 12 19 13.6 PTF10-G03 10 534 40.9 17.6 11 22 6.5 3.2 3/8 10 19 11.6
PTF10-04 10 54.4 46.4 17.6 11 22 6.5 3.2 1/2 15 24 17.1 PTF10-G04 10 54.4 44.4 17.6 11 22 6.5 3.2 1/2 13 24 15.1
PTF12-02 12 58 40.1 21 12.75 255 6.5 3.2 1/4 11 19 6 PTF12-G02 12 58 40.1 21 12.75 25.5 6.5 3.2 1/4 9 19 6
PTF12-03 12 58 46.6 21 12.75 255 6.5 3.2 3/8 12 19 12.5 PTF12-G03 12 58 46.6 21 12.75 255 6.5 3.2 3/8 10 19 10.5
PTF12-04 12 58 51.1 21 12.75 255 6.5 3.2 1/2 15 24 17 PTF12-G04 12 58 51.1 21 12.75 25,5 6.5 3.2 1/2 13 24 15
PTF16-03 16 69 47.7 26 15 30 8 4.2 3/8 12 24 6 PTF16-G03 16 69 47.7 26 15 30 8 4.2 3/8 10 24 6
PTF16-04 16 69 58.4 26 15 30 8 4.2 1/2 15 24 16.7 — PTF16-G04 16 69 56.4 26 15 30 8 4.2 1/2 13 24 14.7

PTF PWT
| o Jmweeo| [ 7 [ [ ek [ ]

PWT4-01 4 10.9 3.2 41.8 11 27.2 1/8 75 10
PTF5/32-N01  5/32 35.6 28.7 11 8 16 6 3.2 1/8 9.5 12 115 PWTA-02 4 109 12 13 1 8.7 14 9 1
PTF5/32-N02  5/32 35.6 30.2 11 8 16 6 3.2 1/4 11 17 13 PWT6-01 6 129 3.2 428 13.2 428 1/8 75 12
PTF1/4-NO1 1/4 41.8 31.2 13 9 18 6.5 32 1/8 9.5 12 10.5 PWT6-02 6 12.9 32 44.2 13.2 315 1/4 9 14
PTF1/4-NO2  1/4 41.8 33.7 13 9 18 6.5 3.2 1/4 11 17 13 ATISLE g 12E S 62 152 S5 38 L0 i

PWT6-04 6 12.9 32 49.2 13.2 36.5 1/2 13 21
PTF1/4-NO3  1/4 41.8 34.7 13 9 18 6.5 3.2 3/8 12 19 14 e —— 2 W 2% BT TG B4 18 e o
PTF1/4-N04 1/4 41.8 37.7 13 9 18 6.5 3.2 1/2 15 24 17 PWT8-02 8 14.7 3.2 53 14.6 34.7 1/4 9 14
PTF5/16-N01  5/16 46.8 36.4 14.6 10 20 6.5 3.2 1/8 9.5 14 10.5 PWT8-03 8 14.7 32 55 14.6 36.7 3/8 10 17
PTF5/16-N02  5/16 46.8 38.4 14.6 10 20 6.5 32 1/4 11 17 12.5 PWTE-04 8 1a.1 3.2 8 146 397 12 13 2

PWT10-01 10 18 3.2 54.9 17.6 33.9 1/8 75 17
PTF5/16-N03  5/16 46.8 39.9 14.6 10 20 6.5 3.2 3/8 12 19 14 PWT10-02 10 18 1) 6.3 176 353 14 9 17
PTF5/16-N04  5/16 46.8 42.9 14.6 10 20 6.5 3.2 1/2 15 24 17 PWT10-03 10 18 3.2 58.3 17.6 37.3 3/8 10 17
PTF3/8-NO1  3/8 51.4 35.4 17.6 11 22 6.5 3.2 1/8 9.5 17 6.1 PWT10-04 10 18 32 613 17.6 40.3 12 13 21
PTF3/8-N02  3/8 52.4 40.4 17.6 11 22 6.5 3.2 1/4 11 17 11.1 2,02 L 2 £2 2 21 S0 4 2 E

PWT12-03 12 21 3.2 64.7 21 433 3/8 10 19
PTF3/8-NO3  3/8 53.4 42.9 17.6 11 22 6.5 3.2 3/8 12 19 13.6 P—— - p 23 s p G 12 = p
PTF3/8-N04 3/8 54.4 46.4 17.6 11 22 6.5 3.2 1/2 15 24 171 PWT16-02 16 26 42 38.8 26 16 1/4 9 24
PTF1/2-N02  1/2 58 40.1 21 12.75 25.5 6.5 3.2 1/4 11 19 6 PWT16-03 16 26 42 69.8 26 47 3/8 10 24
PTF1/2-NO3  1/2 58 46.6 21 1275 255 6.5 32 38 12 19 125 PWT16-04 16 26 4.2 728 26 50 1/2 13 24
PTF1/2-N04  1/2 58 51.1 21 12.75 25.5 6.5 32 1/2 15 24 17 PWT16-06 16 26 4.2 73.8 26 51 3/4 14 27

55 Zhejiang Ideal Bell Technology Co.,Ltd. 56



www.ideal-bell.com

Composite Push In Fittings
2y SAPSTEE-SS

PWT PH

o meeo | | e I 7 A N
[emcose oo | he | o | 0 a5 | w | w T T W N N - S o R

PH4-01 24.5 15 7.8 1/8 1
PWT5/32-N01 5/32 10.9 3.2 41.8 11 27.2 1/8 7.5 10 PHA-02 4 1 246 26.6 207 105 1/4 15
PWT5/32-N02 5/32 10.9 3.2 433 11 28.7 1/4 9 14 PH6-01 6 13 245 24.5 15 7.8 1/8 12
PWT1/4-N01 1/4 129 32 4238 132 428 1/8 75 12 kL5602 @ L 262 2a/5 201 10 I 1>
PWT1/4-N02 1/4 129 32 44.2 13.2 315 1/4 9 14 PHE-03 6 13 286 35 205 T 3/8 19
1+ / : : : : : / PH8-01 8 14.6 25.8 24.5 15 7.8 1/8 12
PWT1/4-N03 1/4 12.9 3.2 46.2 13.2 33.5 3/8 10 17 PH8-02 8 146 275 26.6 20.7 10.8 1/4 15
PWT1/4-N04 1/4 12.9 3.2 49.2 13.2 36.5 1/2 13 21 PH8-03 8 14.6 30.2 335 20.5 11.7 3/8 19
PWT5/16-NO1  5/16 147 32 517 1456 334 18 75 14 5 PH8-04 8 21 365 402 254 151 1/2 2
PH10-01 10 17.6 29.2 24.5 15 7.8 1/8 12
PWT5/16-N02 5/16 14.7 3.2 53 14.6 34.7 1/4 9 14 T PH10-02 10 176 292 2.6 20.7 108 14 15
PWT5/16-N03 5/16 14.7 3.2 55 14.6 36.7 3/8 10 17 §< PH10-03 10 17.6 30.7 335 20.5 11.7 3/8 19
PWT5/16-N04 5/16 14.7 32 58 14.6 39.7 1/2 13 21 © PH10-04 10 21 36.5 40.2 254 15.7 12 24
PWT3/8-N01 3/8 18 3.2 54.9 17.6 33.9 1/8 7.5 17 ° w] ﬂ;ﬂ\ PH12:02 12 - 36 266 201 108 14 12
: : : : : : R F PH12-03 12 21 34.5 335 20.5 11.7 3/8 19
PWT3/8-N02 3/8 18 3.2 56.3 17.6 353 1/4 9 17 PH12-04 12 21 36.5 40.2 25.4 15.7 1/2 24
PWT3/8-N03 3/8 18 3.2 58.3 17.6 373 3/8 10 17
PWT3/8-N04 3/8 18 3.2 61.3 17.6 40.3 1/2 13 21 P H
o T I W N I W [ Tweeor [ [ T T e [
PWT1/2-N03 12 21 32 64.7 21 433 3/8 10 19 [ itemCode [ Tube¢ [ A9 [ B [ Cc [ oD | E | F | sw_|
PWT1/2-N04 12 21 32 67.7 21 463 12 13 21 GLIS/E2NOE R/E2 i 23 242 1L I8 Y 12
PWT PH5/32-N02 5/32 11 24.6 26.6 20.7 10.5 1/4 15
PH1/4-NO1 1/4 13 245 24.5 15 7.8 1/8 12
L2 PH1/4-N02 1/4 13 26.2 26.6 20.7 10.8 1/4 15
e ok | o fmweeo| [ 0 [ 7 ] LS s - By e 0 7 e I
| emCode | Tueo | Ao B | u | o | 3 | | H | sw PHS6NOL 516 145 258 e 15 78 18 1
PWT4-M5 4 10.9 3.2 37.8 11 232 35 M5*0.8 10 PH5/16-N02 5/16 14.6 275 26.6 20.7 10.8 1/4 15
PWT4-M6 4 10.9 3.2 38.8 11 24.2 4.5 M6*1 10 PH5/16-N03 5/16 14.6 30.2 335 20.5 11.7 3/8 19
I PWT6-M5 6 12.9 3.2 38.7 13.2 26 35 M5*0.8 12 B PH5/16-N04 5/16 21 36.5 40.2 P 15.7 1/2 24
- PWT6-M6 6 129 32 39.7 132 27 45 M6*1 12 _ PH3/8-N01 3/8 17.6 292 24.5 15 7.8 1/8 12
Al w9 T PH3/8-N02 3/8 17.6 29.2 26.6 20.7 10.8 1/4 15
N 3( PH3/8-N03 3/8 176 30.7 335 205 11.7 3/8 19
-Riny _
o H o | PH3/8-N04 3/8 21 36.5 40.2 25.4 15.7 1/2 24
o > i PH1/2-N02 1/2 21 336 26.6 20.7 10.8 1/4 12
PWT Lu] F F PH1/2-N03 1/2 21 345 335 20.5 11.7 3/8 19
— PH1/2-N04 1/2 21 36.5 40.2 25.4 15.7 1/2 24

PWT6-GO1 6 12.9 32 40.7 132 28 55 1/8 14 PH4-M5 4 11 27.1 19.9 122 35 M5 8
PWT6-G02 6 12.9 32 42.1 13.2 29.4 6.9 1/4 17 PH4-M6 4 11 271 209 13.2 4.5 M6
PWT6-GO3 6 12,9 32 444 132 317 8.2 3/8 19 PHE-MS 6 13 245 19.9 122 35 M5 8
PWT6-G04 6 12.9 3.2 45.4 132 327 9.2 1/2 24 PHE-M6 6 13 245 209 13.2 45 Mé 8
PWT8-GO1 8 14.7 32 495 14.6 312 55 1/8 14 pra-GoL ‘ M 2 24 o > o 12
PH4-G02 4 11 24.6 27.1 20.7 6.9 1/4 15
PWT8-G02 8 14.7 32 51 14.6 327 6.9 1/4 17 PHG-GOL 6 13 245 24 15 55 18 -
PWT8-G03 8 14.7 3.2 53.2 14.6 349 8.2 3/8 19 PH6-G02 6 13 26.2 27.1 20.7 6.9 1/4 15
PWT8-G04 8 14.7 32 54.2 14.6 35.9 9.2 1/2 24 PH6-G03 6 13 286 317 20.5 8.2 3/8 19
PWT10-G01 10 18 3.2 52.8 17.6 31.8 5.5 1/8 17 PH8-GO1 8 14.6 25.8 24 15 5.5 1/8 12
PWT10-G02 10 18 32 54.4 17.6 334 6.9 1/4 17 PH8-G02 8 14.6 215 211 20.7 6.9 1/4 15
PWT10-G03 10 18 32 56.4 176 354 8.2 3/8 19 RLISLC03 g L6 02 Sy 20 E2 28 L
PWT10-G04 10 18 32 57.5 17.6 36.5 9.2 1/2 24 PHe-Go4 ¢ - 65 > S 22 12 24
PH10-G01 10 176 292 24 15 55 1/8 12
PWT12-G02 12 21 32 60.6 21 39.2 6.9 1/4 19 PH10-G02 10 176 292 971 207 6.9 14 15
PWT12-G03 12 21 32 632 21 418 8.2 3/8 19 PH10-G03 10 176 30.7 317 205 8.2 3/8 19
PWT12-G04 12 21 32 64.2 21 4.8 9.2 1/2 24 PH10-G04 10 21 36.5 35 254 9.2 1/2 24
PWT16-G03 16 26 42 67.5 26 447 9.2 3/8 24 PH12-G02 12 21 33.6 27.1 20.7 6.9 1/4 12
PWT16-G04 16 26 42 68.5 26 457 10 12 24 PH12-G03 12 21 34.5 3L7 20.5 8.2 3/8 19
PWT16-G06 16 26 42 69.8 26 47 14 3/4 30 RHIZ,G08 i al 26 & 2o 22 12 &

57 Zhejiang Ideal Bell Technology Co.,Ltd. 58



www.ideal-bell.com

Composite Push In Fittings
2y SAPSTEE-SS

PHF PHF

[ tencode [ Theo | a0 | 8 | ¢ | o | | T A N I I A I N
PHF4-M5 4 11 21 24.9 122 35 M5*0.8 8 M5+0.8 7 sl -El0 8 1l Z3 Sl 15 82 e 12 1/8
PHF4-M6 4 11 21 25.9 122 45 M6*1 8 M6*1 7 PHF4-G02 4 u 24.6 R 19.2 6.9 14 7 14
PHF6-M5 6 13 226 24.9 122 35 M5*0.8 8 M5*0.8 7 PHF6-G01 6 13 24.5 315 15 55 1/8 12 1/8
PHF6-M6 6 13 226 25.9 122 45 M6*1 8 M6*1 7 PHF6-G02 6 13 26.2 32 18.9 6.9 1/4 17 1/4
PHF6-G03 6 13 28.6 411 20.5 8.2 3/8 19 3/8 10
PHF8-GO1 8 146 25.8 315 15 55 1/8 12 1/8 8
P H F PHF8-G02 8 14.6 275 32 18.9 6.9 1/4 17 1/4 9
PHF8-G03 8 146 302 411 205 8.2 3/8 19 3/8 10
G B PHF8-G04 8 21 365 473 27 9.2 12 24 12 13
PHF4-01 4 11 23 33 15 7.8 1/8 12 1/8 9.5 IL sw PHF10-GO1 10 17.6 29.2 BI85 15 53 1/8 12 1/8 8
PHF4-02 4 1 24.6 34 192 9 1/4 17 1/4 1 T PHF10-G02 10 176 29.2 32 18.9 6.9 1/4 17 1/4 9
PHF6-01 6 13 24.5 33 15 7.8 1/8 12 1/8 9.5 }“ PHF10-G03 10 17.6 30.7 41.1 20.5 8.2 3/8 19 3/8 10
PHF6-02 6 13 26.2 34 18.9 9 14 7 1/4 1 v L PHF10-G04 10 21 36.5 473 2.7 9.2 12 24 12 13
PHF6-03 6 13 28.6 43.1 205 117 3/8 19 3/8 12 z PHF12.602 b o 226 » 189 6o " b ” 5
PHFS-01 8 146 25.8 33 15 7.8 18 12 1/8 9.5
oHe02 . e e “ oo ; e . s o PHF12-G03 12 21 345 411 2055 8.2 3/8 19 3/8 10
PHF8-03 8 146 30.2 431 205 117 3/8 19 3/8 12 PHFL2:GO4 12 2 63 a3 221 92 12 2 12 2
s 5 PHF8-04 8 21 36.5 493 227 13 172 24 12 15
I@ ksw PHF10-01 10 176 29.2 33 15 7.8 18 12 1/8 9.5
PHF10-02 10 176 29.2 34 189 9 1/4 17 14 11
of 171 :3< PHF10-03 10 176 30.7 431 205 117 3/8 19 3/8 12
\ g | PHF10-04 10 21 36.5 493 2.7 13 172 24 12 15
. i
mI [[:U\F PHF12-02 12 21 33.6 34 18.9 9 1/4 12 1/4 11 P M F
PHF12-03 12 21 345 431 20.5 117 3/8 19 3/8 12

oo | s | A |5 ¢ | o | | s | i

PMF3-01 3 MI12*1 1/8 9.5 45 26 14 14
PMF3-02 3 M12*1 1/4 11 45 275 14 17
P H F PMF4-01 4 M12*1 1/8 9.5 45 26 14 14
| :
_ro 0 8 | c | o | & | F | sw | & | K| o oo N : o ! !
PMF6-02 6 M14*1 1/4 11 6 29.9 17 17
PHF5/32-N01 5/32 11 23 33 15 7.8 1/8 12 1/8 9.5
A PMF6-03 6 M14*1 3/8 12 6 30.9 17 19
PHF5/32-N02 5/32 11 24.6 34 19.2 9 1/4 17 1/4 11 PMF6.04 . 141 12 15 6 339 17 "
PHF1/4-NO1 1/4 13 245 33 15 7.8 1/8 12 1/8 9.5 % PMF8-01 s M161 18 95 6 272 19 17
PHF1/4-N02 1/4 13 26.2 34 18.9 9 1/4 17 1/4 11 PMF8-02 8 M16*1 1/4 11 6 29.2 19 17
PHF1/4-N03 1/4 13 28.6 431 20.5 11.7 3/8 19 3/8 12 x swi PMF8-03 8 M16*1 3/8 12 6 312 19 19
4 s *
PHF5/16-N01 5/16 14.6 25.8 33 15 7.8 1/8 12 1/8 9.5 o PMF8-04 8 M16*1 12 15 6 34.2 19 24
PHF5/16-N02  5/16 146 275 34 189 9 1/4 17 1/4 1 B IFYIFIO-G 0 Sl e 28 105 S0 21 )
sw2 PMF10-02 10 M18*1 1/4 11 10.5 31.6 21 19
G B PHF5/16-N03 5/16 14.6 30.2 43.1 20.5 11.7 3/8 19 3/8 12 /!
= 7 PMF10-03 10 M18*1 3/8 12 10.5 35.1 21 19
. sw PHF5/16-N04 5/16 21 36.5 49.3 2.7 13 1/2 24 1/2 15 B
PMF10-04 10 M18*1 1/2 15 10.5 38.6 21 24
) — PHF3/8-NO1 3/8 176 29.2 33 15 7.8 1/8 12 1/8 9.5 PMF12-00 b M22"1 v/a 1 - 33 ” ”
o < E< PHF3/8-N02 3/8 17.6 29.2 34 18.9 9 1/4 17 1/4 11 PMF12-03 1 M22*1 38 19 1 343 2 2
o - U PHF3/8-N03 3/8 176 30.7 43.1 20,5 11.7 3/8 19 3/8 12 PMF12-04 12 M22*1 1/2 15 12 39.8 24 24
“‘l L FF PHF3/8-N04 3/8 21 36.5 49.3 2.7 13 1/2 24 1/2 15
PHF1/2-N02 1/2 21 33.6 34 18.9 9 1/4 12 1/4 11
PHF1/2-N03 1/2 21 345 43.1 20.5 11.7 3/8 19 3/8 12
PHF1/2-N04 1/2 21 36.5 493 2.7 13 1/2 24 1/2 15

59 Zhejiang Ideal Bell Technology Co.,Ltd. 60



Composite Push In Fittings
2y SAPSTEE-SS

PMF

26
27.5
26.9
29.9
30.9
33.9
27.2
29.2
312
34.2
30.6
31.6
B581)
38.6
3
343
39.8

14
14
17
17
17
17
19
19
19

32

32
33.8
36.4
40.2

24.5
25.5
24.5
25.5
25.4
27.9
28.9
319
25.7
27.2
29.2
322
29.1
29.6
Sl
36.6
313
323
37.8

M12x1
M12x1
M14x1
M16x1
M18x1

14

[ emcose | o | A |5 | ¢ | o | | s | s |
PMF5/32-N01 5/32 M12°1 1/8 9.5 45
PMF5/32-N02 5/32 M121 1/4 1 45
PMF1/4-NO1 1/4 M14*1 1/8 9.5 6
PMF1/4-N02 1/4 M14*1 1/4 1 6
PMF1/4-N03 1/4 M14*1 3/8 1 6
PMF1/4-N04 1/4 M14°1 12 15 6
PMF5/16-N01 5/16 M161 1/8 95 6
PMF5/16-N02 5/16 M16°1 1/4 1 6
PMF5/16-N03 5/16 M16"1 3/8 12 6
PMF5/16-N04 5/16 M16°1 12 15 6
. swi PMF3/8-N01 3/8 M18*1 18 95 105
-z PMF3/8-N02 3/8 M18*1 1/4 1 105
PMF3/8-N03 3/8 M18*1 3/8 12 105
oo 3 PMF3/8-N04 3/8 M18*1 12 15 105
PMF1/2-N02 12 M22°1 1/4 1 12
8/ PMF1/2-N03 12 M22°1 3/8 12 12
PMF1/2-N04 12 M22°1 12 15 12
PMF
[ [ mbeop | | B®P [ [ M
| itemCode | Tubeo | A | B | C | D | L | swi_ sw2 |
PMF3-G01 3 M12°1 1/8 8 45
PMF3-G02 3 M12°1 1/4 9 45
PMF4-GO1 4 M12°1 1/8 8 45
PMF4-G02 4 M12°1 1/4 9 45
PMF6-GO1 6 M14*1 1/8 8 6
PMF6-G02 6 M14*1 1/4 9 6
PMF6-G03 6 M14*1 3/8 10 6
PMF6-G04 6 M14*1 12 13 6
A PMF8-GO1 8 M16*1 18 8 6
PMF8-G02 8 M16°1 1/4 9 6
‘% PMF8-G03 8 M161 3/8 10 6
PMF8-G04 8 M16°1 12 13 6
5 swi PMF10-G01 10 M18*1 18 8 105
-z PMF10-G02 10 M18*1 1/4 9 105
PMF10-G03 10 M18*1 3/8 10 105
w2 > PMF10-G04 10 M18*1 12 13 105
PMF12-G02 12 M22°1 1/4 9 12
h B PMF12-G03 12 M22°1 3/8 10 12
PMF12-G04 12 M22°1 12 13 12
PMM
AMAX
e
T . PMM3 3 13
T
| ‘ i PMM4 4 13
| ‘H\“ ‘.I\ ||’I|| PMM6 6 13
- we
n PMM10 10 18
8 sw PMM12 12 2

46

M22x1

www.ideal-bell.com

[ | weor | wmm | [ | |
W ercoe | tweo | Amao | L5 | W
32 14

PMM5/32 5/32 13 M12x1

PMM1/4 1/4 13 33.8 M14x1 17
PMM5/16 5/16 15 36.4 M16x1 19
PMM3/8 3/8 18 40.2 M18x1 21
PMM1/2 1/2 22 46 M22x1 24

PUC

I T I

L | PUC3 8 10.9 33.5
‘ PUC4 4 10.9 335
] PUC6 6 129 34.6
< PUC8 8 14.7 39
| PUC10 10 18 433
PUC12 12 21 46.3
PUC16 16 26 55.6

PUC
T e
T

t i PUC5/32 5/32 109 335

— PUC1/4 1/4 12.9 34.6

< PUC5/16 5/16 14.7 39
— PUC3/8 3/8 18 433

PUC1/2 1/2 21 46.3

PUL

Twewn| [ T
[ emcose | woeo | A | & | co | 0 | to | Fo |
3 8 3.2 6

— W PUL3 233 17.8 11

(] PUL4 4 233 17.8 11 8 3.2 6
- ‘ 7JM e PUL6 6 27.3 20.8 13 9 32 6.5
@ ss PUL8 8 30.7 23.4 14.6 10 32 6.5
%% & PUL10 10 345 25.7 17.6 11 32 6.5
N PUL12 12 40.2 29.7 21 12.75 32 6.5

PUL16 16 475 345 26 15 42 8

61

Zhejiang Ideal Bell Technology Co.,Ltd. 62




www.ideal-bell.com

Composite Push In Fittings
2y SAPSTEE-SS

PUL PY
I " A N R R I ] I RN N D .
5 T

- = [ e e o u | a
d W PUL5/32 5/32 233 17.8 1 8 32 6 3 PY5/32 5/32 10.9 32 34.6 1 20
- g 7JJH_H o PUL1/4 1/4 27.3 20.8 13 9 3.2 6.5 o \/ D PY1/4 1/4 12.9 3.2 36 13.2 23.3
o )\\E PUL5/16 5/16 30.7 23.4 14.6 10 32 6.5 PY5/16 5/16 14.7 3.2 44.8 14.6 26.5
= X\ PUL3/8 3/8 345 257 176 1 32 6.5 PY3/8 3/8 18 32 485 176 275
) PULL/2 1/2 40.2 29.7 21 12.75 32 6.5 LH " L ruee PY1/2 12 o 32 55.1 il 337

PG4-3 4 3 10.9 10.9 B85
PG6-4 6 4 129 10.9 35.6

PUT

[ fmbeoo| | | ] [ [ ]
| ftemCode | Tubeo | A |8 | Co | D | E_| Fo
8

PG8-6 8 6 14.7 12.9 385
PG10-8 10 8 18 14.7 41.9

PG12-10 12 10 21 18 46
PG16-12 16 12 26 26 55.2

I
PUT3 3 35.6 21.5 11 16 6 82
PUT4 35.6 215 1 1 6.5 32
PUT6 6 41.8 255 13 9 18 6.5 82
PUT8 8 46.8 30.7 14.6 10 20 6.5 32
\ PUT10 10 51.4 345 17.6 11 22 6.5 &2
PUT16 16 69 415 26 15 30 8 42
I
_Go |

—

L
e I ) I I R - 7 22 1 . e
G PUT5/32 5/32 356 215 1 8 16 6.5 3.2 ) g i 3 - Pesney o v 14'7 e %

’ ’ : : - TUBE 2
— PUTL/4 1/4 418 255 13 9 18 6.5 32 TUBE PG3/8-1/4 3/8 1/4 1 Wy FLY
o
a W e PUTS/16 5/16 46.8 30.7 14.6 10 20 6.5 32 PG3/8-5/16 3/8 5/16 21 18 46
o
HH PUT3/8 3/8 514 345 176 1 2 6.5 32 PG1/2-3/8 112 38 - - .
A PUT1/2 12 58 39.5 21 12.75 25.5 6.5 32

 [weeovafweeova| | [P
[ emcode | Tubero | w20 | A | 5 | <o | o | & | o | co |

PGT4-3 4 3 35.6 21.5 11 8 16 6 3.2

PGT6-4 6 4 41.8 25 13 9 18 6.5 3.2

PY PGT8-6 8 6 46.8 30.7 14.6 10 20 6.5 3.2
A | w0 [ [ T 7 AlE = T T R R T T N B

] | remcoe | _mubeo | Ao | B L 1| U o 5 o m ms o w4

= = PGT12-10 12 10 58 39.3 21 12.75 255 6.5 3.2

o )

R % 109 32 S il 20 PGT16-12 16 12 69 471 26 15 30 8 42
a PY6 6 129 32 36 132 233
N
PY10 10 18 32

. 485 17.6 215
PY12 12 21 32 55.1 21 33.7 TUBE 2
PGT1/4-5/32 1/4 5/32 4138 25 13 9 18 6.5 3.2
PR PR PY16 16 26 4.2 59.6 26 36.8 }G
L2 . PGT5/16-1/4 5/16 1/4 46.8 30.7 14.6 10 20 6.5 3.2
Q—T‘ :_9 o PGT3/8-1/4 3/8 1/4 514 341 176 11 b) 65 32
= A LTUBE 1
TuBE/ PGT3/8-5/16 3/8 5/16 514 34.1 17.6 11 22 6.5 3.2
PGT1/2-3/8 1/2 ' 3/8 58 393 21 12.75 255 6.5 3.2

63 Zhejiang Ideal Bell Technology Co.,Ltd. 64



www.ideal-bell.com

Composite Push In Fittings

PW PGJ

T wbeon | meeop | [ [ wwe [T
T T T S B B IS TS Y VS S R R NS

PW6-4 12.9 3.2 35.5 13.2 20 PGJ4-3 105 4 19.5 325
PW8-6 8 6 14.7 3.2 44.8 14.6 233 : PGJ6-4 4 10.5 6 19.5 325
PW10-8 10 8 18 3.2 48.1 17.6 26.5 PGJ8-4 4 10.5 8 20 35.5
PW12-10 12 10 21 3.2 54.9 21 27.5 PGJ8-6 6 12.5 8 20 36.4
PW16-12 16 12 26 42 59.2 26 337 PGJ10-6 6 12.5 10 24 38.4
36.8 PGJ10-8 8 14.5 10 24 39.2

PGJ12-6 6 12.5 12 27.5 43.5

PGJ12-8 8 14.5 12 27.5 44

ﬂ'msm

 Tneeon | meeop [T . rGiiz 10 1 13 2 s 1
famcode | Tubeio | ezo | he |5 0 | o | 5 ' ~
20

il PW3/8-1/4 10 8 18 3.2 48.1 17.6 26.5 PGJ1/4-5/32 5/32 105 6 195 5
PW3/8-5/16 12 10 21 32 54.9 21 27.5 PGJ5/16-5/32 5/32 105 s 20 355

PW1/2-3/8 16 12 26 4.2 59.2 26 33.7 4 PGJ5/16-1/4 1/4 125 8 20 36.4

By TUBE 2 36.8 o PGJ3/8-1/4 1/4 125 10 24 38.4
L PGJ3/8-5/16 5/16 14.5 10 24 39.2
PGJ1/2-1/4 1/4 125 12 275 435

B PGJ1/2-5/16 5/16 14.5 12 275 44

PGJ1/2-3/8 3/8 17.5 12 275 48.1

PLJ

PG) B D A Y

PLJ4 253 17.8 185 34.5

Item Code

PGJ3 3 10.5 3 19.5 36
PG4 4 105 4 195 % PLJ6 6 273 20.8 13 9 32 6.5 6 19.5 373
PGJ6 6 12.5 6 19.5 36.4 PLJS 8 30.7 234 14.6 10 3.2 6.5 8 20 40.1
PGJ8 8 14.5 8 20 38.7 PLJ10 10 345 25.7 17.6 11 32 6.5 10 24 46
PO 10 173 1 2 ca1l PLJ12 12 40.2 29.7 21 12.75 3.2 6.5 12 27.5 53.3
PGJ12 12 19.5 12 27.5 51
PGJ16 16 16 28 55 PLJ16 16 47.5 345 26 15 4.2 8 16 30 60.7
| tbeod | I S I A N
Tube OD B
. |
~ PGJ5/32 5132 4 195 36 Q; \‘ PLJ5/32 532 233 178 1 8 32 6 4 195 345
|_TUBE PGJ1/4 1/4 6 19.5 36.4
/ / TUBE T PLJ1/4 1/4 27.3 20.8 13 9 3.2 6.5 6 19.5 37.3
PGJ5/16 5/16 8 20 38.7 ‘ ~
< L PLJ5/16 5/16 30.7 23.4 14.6 10 3.2 6.5 8 20 40.1
PGJ3/8 3/8 10 24 45.1 L, -
PLJ3/8 3/8 345 25.7 17.6 11 3.2 6.5 10 24 46
12 27.5 51 T
PLJ1/2 1/2 40.2 29.7 21 12.75 3.2 6.5 12 27.5 53.3

- PGJ1/2 1/2
O]
T e |
s
I 72 N O O R O I I
19.5 36

= = = = = B e I < = o
o N A~ N o o N s~ N O o
[N RN S [S IR BT, I T ]

®

PGJ3-4 3
oeses . . . 250 PLI4-3 3 233 17.8 11 8 3.2 6 4 195 345
PLUG-4 4 233 17.8 11 8 32 6 6 195 345
PGJS-10 10 8 20 411
PLIS-6 6 273 208 13 9 32 6.5 8 20 376
PGJ10-12 12 10 2 49
PLJL0-8 8 307 23.4 146 10 32 6.5 10 2 44.1
PGJ12-16 16 25 - 21.5 55 PLJ12-10 10 345 25.7 176 11 32 6.5 12 275 495
PLJL6-12 2 402 20.7 21 1275 32 6.5 16 28 53.1

65 Zhejiang Ideal Bell Technology Co.,Ltd. 66



Composite Push In Fittings

B

PSTEEESS

PLJ

TUBIg

N
gy

PYJ

L S O S R AN BON TR B B
233 17.8 11 8 3.2 6 6 19.5 34.5

PLJ1/4-5/32 5/32

PLJ5/16-1/4 1/4 273 20.8 13 9 32 6.5 8 20 376
PLJ3/8-5/16 5/16 30.7 234 14.6 10 3.2 6.5 10 24 441
PLJ1/2-3/8 3/8 345 257 176 11 32 6.5 12 275 495

o | | e o

PYJ4 4 10.9 32 4 SILE 11 36.7 19.5
PYJ6 6 12.9 3.2 6 51.7 132 39.5 19.5
PYJ8 8 14.7 3.2 8 61.5 14.6 432 20

PYJ10 10 18 3.2 10 68.4 17.6 47.8

PYJ12 12 21 3.2 12 78.5 21 577,38}

PYJ16 16 26 42 16 82.9 26 60.5

N
= NOSN
II 3 B

IS I N I B N T BN

PYJ5/32 5/32 10.9 32 4 SILE 11 36.7 19.5
PYJ1/4 1/4 12.9 3.2 6 51.7 132 39.5 19.5
PYJ5/16 5/16 14.7 3.2 8 61.5 14.6 432 20
PYJ3/8 3/8 18 32 10 68.4 17.6 47.8 24
PYJ1/2 1/2 21 3.2 12 78.5 21 57.3 27.5

67

Speed Controlle
VAR ]

Applications/ RZf3

* Speed controllers used to control the speed of the air
pressure actuator
VR A F 6 eI T TR E,

* Mainly installed in the air actuator.
FELREESHRITITH L.

e

Features/ 43
* Accurate regulation of an optimal airflow rate for precise motion control.
RAARSREXERE, NMERIESIE®RE,

* Tube direction and angle air controlled according to piping as the main body can
rotate up to 360 ° after assembly. ,
RECEEREINES 360 B, RAIRESEMRERERSESR.

* Easy speed control with drive tools in limited and crowded spaces.
ERRMBUNN=EA, EF AR TREHIERE,

* Miniaturized products occupy small space attaching to devices.
NEUMEEY e, RRCEIEE ENAERRI=E,

* Control-In and Control-Out are available for all size.
FrE R~ EB T plt S EL A HE S B I,

Zhejiang Ideal Bell Technology Co.,Ltd. 68




Speed Controllers
VAR ]

Specifications/ AR
* Fluid type fER{A : Air (No other gases or
liquids)/ =5 (REEREMSATRE)

* Working Pressure T{E[£77 :0-150psi/0-9.9kgf/
cm’ (0-990Kpa)

* Working Temperature T{ERE :0-60°C
* Negative Pressure fa[E :-100Kpa(10Torr)

* Applicable Tube fEA#E : Polyurethane, Nylon
PUE (REEEE) , BRE

HOT

High Accurancy
SRR

JSC

JSC4-01
JSC4-02
JSC6-01
JSC6-02

JSC6-03
JSC8-01
JSC8-02

B JSC8-03
JSC8-04
JSC10-01

o 3 < JSC10-02

)| 3 JSC10-03

a
w NF JSC10-04

JSC12-02

JSC12-03
JSC12-04

4

© 0 0 o o o O H»

@ Handle(Brass)
PEREE A C:o)]

@ Lock Nut(Brass)
MER (35

Body(Brass)
@i (57)

@ O-Ring(NBR)
O B (THERAR)

@ O-Ring(NBR)
O B (THIRKR)

@ Body(PBT)
Bk (PBT)

© Needle(Brass)
@A (§8)

@ U-Packing(NBR)
B (THERR)

(® V-Seal(NBR)
B (THERR)

Collar(Zinc)
i #HE (Ha®)

() Release Sleeve(POM)
BHF (RPE)

@ O-Ring(NBR)
O B (THEIRAR)

g (PUE, BRE)

® Lock Claw(SUS)
@ Thread +E CREM)

23

@ Back Ring(POM)
@ Needle Hole(Brass) TR (BREER)

B (57)

(© Tube(Polyurethane,Nylon)

o o | e | 5|

11 23
11 24.6
13 24.5
13 26.2
13 28.6
14.6 25.8
14.6 RIS
14.6 30.2
21 36.5
17.6 29.2
17.6 29.2
17.6 30.7
21 36.5
21 33.6
21 34.5
21 36.5

43 38.9 15 7.8 1/8
46 39.9 20.7 10.5 1/4
43 38.9 15 7.8 1/8
46 39.9 20.7 10.8 1/4
52 44.5 20.5 11.7 3/8
43 38.9 15 7.8 1/8
46 BIIY) 20.7 10.8 1/4
52 44.5 20.5 117 3/8
5919 50.5 25.4 15.7 1/2
43 38.9 15 7.8 1/8
46 39.9 20.7 10.8 1/4
52 44.5 20.5 11.7 3/8
59.9 50.5 25.4 15.7 1/2
46 39.9 20.7 10.8 1/4
52 44.5 20.5 11.7 3/8
59.9 50.5 25.4 15.7 12

19
12
12
19
24
12
12
19
24
12
19
24

JSC

JSC5/32-N01
JSC5/32-N02
JSC1/4-N01
JSC1/4-N02
JSC1/4-N03
JSC5/16-N01
JSC5/16-N02
JSC5/16-N03
JSC5/16-N04
JSC3/8-No1
JSC3/8-N02
JSC3/8-N03
JSC3/8-N04
JSC1/2-N02

JSC1/2-N03
JSC1/2-N04

JSC

JSC4-M5
JSC4-M6
JSC6-M5
JSC6-M6

JSC4-G01
JSC4-G02
JSC6-GO1
JSC6-G02
JSC6-GO3
JSC8-G01

JSC8-G02

JSC8-G03

JSC8-G04

JSC10-G01
JSC10-G02
JSC10-G03
JSC10-G0o4
JSC12-G02
JSC12-G03
JSC12-G04

3/8
3/8
1/2
1/2
1/2

4
4
6
6
4
4
6
6
6
8
8
8
8

10
10
10
10
12
12
12

11

21

14.6
14.6
14.6
21
17.6
17.6
17.6
21
21
21
21

27.1
27.1
24.5
24.5
23
24.6
24.5
26.2
28.6
25.8
27.5
30.2
36.5
29.2
29.2
30.7
36.5
33.6
34.5
36.5

59.9
43
46
52

5£19)
46
52

59.9

Max
30.5
315
30.5
315
41.2
42.4
41.2
42.4
48.7
41.2
42.4
48.7
55.9
40.2
42.4
48.7
55.9
42.4
48.7
55.9

Min
27.6
28.6
27.6
28.6
Brsl
36.3
37.1
36.3
41.2
371
36.3
41.2
46.5
Bi7Al)
36.3
41.2
46.5
36.3
41.2
46.5

12.2
13.2
12.2
13.2
13.2
17.1
13.2
17.1
17.2
13.2
17.1
17.2
21.4
13.2
17.1
17.2
21.4
17.1
17.2
21.4

6
7.2

7.2
8.4

7.2
8.4
117

7.2
8.4
11.7
7.2
8.4
11.7

3/8
1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/4
3/8
12

M5
M6
M5
M6
1/8
1/4
1/8
1/4
3/8
1/8
1/4
3/8
1/2
1/8
1/4
3/8
1/2
1/4
3/8
1/2

www.ideal-bell.com

[ Jmeoo| ] | e | ] [ e | |

oo e | e | 5| IR A R

8
8
8
8
12
12
12
12
19
12
12
19
24
12
12
19
24
12
19
24

69

Zhejiang Ideal Bell Technology Co.,Ltd. 70




Speed Controllers

PA

PA4 4

PA6 6
PA8 8
PA10 10
PA 12 12

53.1

56.6

65.1

70.3

39.7

39.7

48.8

48.8

341

34.1

40.9

40.9

PA5/32 5/32
PAl/4 1/4
PA5/16 5/16
PA3/8 3/8
PA1/2 12

49.6

53.1

56.6

65.1

70.3

39.7

48.8

48.8

34.1

341

341

40.9

40.9

17

17

21

21

17

17

17

21

21

155

153

21.5

2115

155

155

155

215

215

18

18

24

24

18

18

18

24

24

25

25

31

31

25

25

25

31

31

BN I S I SR S B 7
49.6 39.7 34.1 17 15.5 18 25 4.3

4.3

43

4.3

43

T Tew| | e [

43

4.3

43

4.3

43

n

Hand Valves

Applications/ RZF3

* Used for switching compressed air.
AT EHIESSUARRE,

* Hand Valve switches compressed air on/off air pressure devices by simply turning the handle.
FiRRIAFRMHEDFRERF | XSEEE.

* Maintenance or inspection is possible when the remaining pressure in the device is removed.
EREEHTUENOENIREHE, BICRREENNRIRES.

* There are 4 types available depending on the method applied to air pressure flow.
RIESUERENFTREN S 7%, HEMFEERHER,

Zhejiang Ideal Bell Technology Co.,Ltd. 72



www.ideal-bell.com

Hand Valves
Fif

HVU HVF

I T S I I I B I BT
4 49.6 37.5 17 15.5 18 25 4.3

Item Code

HVU 4 HVF5/32-NO1  5/32 56.8 375 17 155 18 25 43 18 7.5
HVU 6 6 53.1 375 7 155 18 25 43 HVF5/32-N02  5/32 58.3 375 17 155 18 25 43 1/4 9
as s ol 375 7 1505 . - a3 HVF1/4-N01 1/4 59.9 375 17 155 18 25 43 18 7.5
HVU10 10 5.1 s ”n s ” 3 43 HVF1/4-N02 1/4 613 375 17 155 18 25 43 1/4 9
—— - " e - .8 - - g HVF1/4-N03 1/4 633 375 17 155 18 25 43 3/8 10
HVF1/4-N04 1/4 66.3 375 17 155 18 25 43 12 13
HVF5/16-NO1  5/16 635 375 17 155 18 25 43 1/8 7.5
HVF5/16-N02  5/16 64.8 375 17 155 18 25 43 1/4 9
HVF5/16-N03  5/16 66.8 375 17 155 18 25 43 3/8 10
HVF5/16-N04  5/16 69.8 375 17 155 18 25 43 1/2 13
HVF3/8-NO1 3/8 715 425 21 215 2 31 43 18 7.5
HVF3/8-N02 3/8 729 425 21 215 24 31 43 1/4 9

HVF3/8-N03 3/8 74.9 42.5 21 215 24 31 4.3 3/8 10

HVF3/8-N04 38 779 425 21 215 24 31 43 102 13
HVUS5/32 5/32 49.6 375 17 155 18 25 43

HVF1/2-N02 12 77.9 425 21 215 24 31 43 14 9
HVU1/4 14 53.1 375 17 155 18 25 43

HVF1/2-N03 12 79.9 425 21 215 24 31 43 3/8 10
HVUS5/16 5/16 56.6 375 17 155 18 25 43

HVF1/2-N04 12 82.9 24 43 12 13
HVU3/8 3/8 65.1 425 21 215 2 31 43
HVU1/2 112 703 425 21 215 24 31 43 HVC

‘ HVC 4-01

IS
S
3]

4 56.8 37.5 17 15.5 18 25 43 1/8 75
HVC 4-02 4 58.3 375 17 15.5 18 25 43 1/4 9
HVC 6-01 6 59.9 37.5 17 155 18 25 43 1/8 7.5
HVC 6-02 6 61.3 375 17 15.5 18 25 43 1/4 9
| e [ [ b ] [ Jeer ]
HVC 6-03 6 63.3 375 17 155 18 25 43 3/8 10
I LT B B B R A B R B
TR 4 = Py 17 155 m o e 18 75 o HVC 6-04 6 66.3 375 17 155 18 25 43 12 13
HVF 4-02 4 583 375 17 155 18 25 43 1/4 9 HVC 8-01 8 635 375 17 155 18 25 43 18 7.5
HVF 6-01 6 59.9 375 17 155 18 25 43 18 75
HVF 6.02 6 613 375 17 155 18 )5 .3 14 9 c HVC 8-02 8 64.8 375 17 155 18 25 43 1/4 9
HVF 6-03 6 63.3 37.5 17 155 18 25 4.3 3/8 10 HVC 8-03 8 66.8 375 17 155 18 25 43 3/8 10
PN
HVF 6-04 6 66.3 375 17 155 18 25 43 12 13 -
HVF 8-01 8 63.5 375 17 155 18 25 43 18 75 4 HvC 8-04 8 698 315 1 155 18 » 43 12 13
HVF 8-02 8 64.8 37.5 17 15.5 18 25 4.3 1/4 9 HVC 10-01 10 715 4.5 21 215 24 31 43 1/8 75
HVF 8-03 8 66.8 375 17 155 18 25 43 3/8 10
HVF 8-04 8 698 375 17 155 18 25 43 12 13 HVC 10-02 10 72.9 425 21 215 24 31 43 1/4 9
HVE10:01 10 L5 42> 21 215 2 31 43 18 1] HVC 10-03 10 74.9 425 21 215 24 31 43 3/8 10
HVF 10-02 10 72.9 05 21 215 24 31 43 1/4 9
rr—— W e T e pye - - Nz 38 W HVC 10-04 10 77.9 425 21 215 24 31 43 12 13
HVF 10-04 10 77.9 425 21 215 24 31 43 12 13 HVC 12-02 12 77.9 425 21 215 24 31 43 1/4 9
ow HVF 12-02 12 77.9 425 21 215 24 31 43 1/4 9
HVC 12-03 12 79.9 425 21 215 24 31 43 3/8 10
- G HVF 12-03 12 79.9 425 21 215 24 31 43 3/8 10

73 Zhejiang Ideal Bell Technology Co.,Ltd. 74



Hand Valves

FiEl

HVC

\

Item Code

HVC5/32-N01

HVC5/32-N02

HVC1/4-NO1

HVC1/4-N02

HVC1/4-N03

HVC1/4-N04

HVC5/16-N01

HVC5/16-N02

HVC5/16-N03

HVC5/16-N04

HVC3/8-N01

HVC3/8-N02

HVC3/8-N03

HVC3/8-N04

HVC1/2-N02

HVC1/2-N03

HVC1/2-N04

1/4

1/4

1/4

5/16

5/16

5/16

5/16

3/8

3/8

3/8

3/8

1/2

12

1/2

66.3

63.5

64.8

66.8

69.8

715

72.9

74.9

7.9

79.9

82.9

375

I

375

42.5

42.5

42.5

42.5

42.5

42.5

17

17

17

17

17

17

17

17

17

21

21

21

21

21

21

21

15.5

155

155

15.5

155

21.5

215

21.5

215

21.5

21.5

24

24

24

24

31

31

31

Sil

43

43

43

43

43

1/4

1/8

1/4

3/8

1/2

1/8

1/4

3/8

12

1/8

1/4

3/8

1/2

1/4

3/8

1/2

13

10

a3

www.ideal-bell.com

75

Zhejiang Ideal Bell Technology Co.,Ltd. 76




www.ideal-bell.com

Check Valve

R [0 i

Features/ 4¥1iE

- Uni-directionality of airflow is maintained while the flow of air in the opposite direction is completely prevented.
- Constant input and output air pressure is achieved due to the controlled directionality of airflow.
- Suitable for the pneumatic applications under low operational pressure conditions.

Flow direction as below: A is In type, B is OUT type

OUT Type

CvPC

CVSFM Eﬁ> ‘ <j

CvPUC —>

CVSF

Specifications/ R &%k

Applicable Fluid Type Compressed Air

Working Pressure Range -100KPa ~ 1Mpa

Negative Pressure 5kpa

-5~60°C (Air)

Working Temperature Range [PREIZIUN (NI}

Recommanded Tubings PA11, PA12, PA6, PE, PU,FEP,PFA

Zhejiang Ideal Bell Technology Co.,Ltd. 78




Che(k Valve www.ideal-bell.com
B

CVPC CVPUC

Tube  Thread-

Flow Direction Item Code Flow Direction Item Code Tube OD-mm Item Code Tube OD-mm
OD-Inch NPT

Item Code Tube  Thread-

OD-mm PT/G

CVPC4-01A 4 1/8 Thread to Tube CVPC5/32-NO1A  5/32 1/8 Thread to Tube CvPUC4 4 CVPUC5/32 5/32
CVPC4-02A 4 1/4 Thread to Tube CVPC5/32-N02A  5/32 1/4 Thread to Tube CvPUC6 6 CvPUC1/4 1/4
CVPC6-01A 6 1/8 Thread to Tube CVPC1/4-NOIA  1/4 1/8 Thread to Tube cvpPuCs8 8 CVPUC5/16 5/16
CVPC6-02A 6 1/4 Thread to Tube CVPC1/4-NO2A  1/4 1/4 Thread to Tube CvPUC 10 10 CVPUC'3/8 3/8
CVPC6-03A 6 3/8 Thread to Tube CVPC1/4-NO3A  1/4 3/8 Thread to Tube CvPuC 12 12 CVPUC'1/2 12
CVPC6-04A 6 1/2 Thread to Tube CVPC1/4-NO4A 1/4 1/2 Thread to Tube

CVPC8-01A 8 1/8 Thread to Tube CVPC5/16-NO1A  5/16 1/8 Thread to Tube

CVPC8-02A 8 1/4 Thread to Tube CVPC5/16-N02A  5/16 1/4 Thread to Tube

CVPC8-03A 8 3/8 Thread to Tube CVPC5/16-NO3A  5/16 3/8 Thread to Tube

CVPC8-04A 8 12 Thread to Tube CVPC5/16-N04A  5/16 1/2 Thread to Tube
CVPC10-01A 10 1/8 Thread to Tube CVPC3/8-NO1A 3/8 1/8 Thread to Tube
CVPC10-02A 10 1/4 Thread to Tube CVPC3/8-N02A 3/8 1/4 Thread to Tube CVS F
CVPC10-03A 10 3/8 Thread to Tube CVPC3/8-NO3A 3/8 3/8 Thread to Tube
GOm0 12 ThedoThe  ORCIBNGR 36 12 TheadioTube
CVPC12-02A 12 1/4 Thread to Tube CVPC1/2-N02A 1/2 1/4 Thread to Tube CVSF-01 1/8
CVPC12-03A 12 3/8 Thread to Tube CVPC1/2-NO3A  1/2 3/8 Thread to Tube CVSF-02 1/4
CVPC12-04A 12 12 Thread to Tube CVPC1/2-NO4A  1/2 1/2 Thread to Tube CVSF-03 3/8

CVSF-04 1/2
CVPC

Item Code OBLﬂem Tf;[re/aGd- Flow Direction Item Code O.Igljll;ih Tth;?rd' Flow Direction

CVPC4-01B 4 1/8 Tube to Thread CVPC5/32-NO1B  5/32 1/8 Tube to Thread

CVPC4-02B 4 1/4 Tube to Thread CVPC5/32-N02B  5/32 1/4 Tube to Thread

CVPC6-01B 6 1/8 Tube to Thread CVPC1/4-N01B 1/4 1/8 Tube to Thread

CVPC6-02B 6 1/4 Tube to Thread CVPC1/4-N02B 1/4 1/4 Tube to Thread

CVPC6-03B 6 3/8 Tube to Thread CVPC1/4-N03B 1/4 3/8 Tube to Thread CVS F M

CVPC6-04B 6 12 TubetoThread CVPCL/4-NO4B  1/4 12 TubetoThread T T Item Code  Thread-PT/G/NPT  Flow Direction
CVPC8-01B 8 1/8 Tube to Thread CVPC5/16-NO1B  5/16 1/8 Tube to Thread ‘ CVSFM-01A 1/8 Male To Female CVSFM-01B 1/8 Female to Male
CVPC8-028 8 1/4 Tube to Thread CVPC5/16-N02B  5/16 1/4 Tube to Thread e CVSFM-02A 1/4 Male To Female —_— CVSFM-028 1/4 Female to Male
CVPC8-03B 8 3/8  TubetoThread  CVPC5/16NO3B 516  3/8  TubetoThread E%»- I HOER e Nl o FemElE = CHEIANHIELE B el DN
CVPC8-04B 8 1/2 TubetoThread CVPC5/16-N04B  5/16 1/2  Tubeto Thread CVSFM-04A 12 Male To Female CVSFM-04B 12 Female to Male
CVPC10-01B 10 1/8 Tube to Thread CVPC3/8-N01B 3/8 1/8 Tube to Thread
CVPC10-02B 10 1/4 Tube to Thread CVPC3/8-N02B 3/8 1/4 Tube to Thread
CVPC10-03B 10 3/8 Tube to Thread CVPC3/8-N03B 3/8 3/8 Tube to Thread
CVPC10-04B 10 12 Tube to Thread CVPC3/8-N04B 3/8 1/2 Tube to Thread
CVPC12-02B 12 1/4 Tube to Thread CVPC1/2-N02B 1/2 1/4 Tube to Thread
CVPC12-03B 12 3/8 Tube to Thread CVPC1/2-N03B 12 3/8 Tube to Thread
CVPC12-04B 12 1/2 Tube to Thread CVPC1/2-N04B 1/2 1/2 Tube to Thread

79 Zhejiang Ideal Bell Technology Co.,Ltd. 80



www.ideal-bell.com

Brass Pipe Fittings

BSP #&3k

HTB HTB

Model Hose Barb Threac’j\‘g%e(R/G/ Model Hose Barb Threa?\liirz)e(R/G/

HTB02-01 1/8 1/8 HTB-03-M5 3mm M5
\ HTB03-01 3/16 1/8 \ HTB-04-01 4mm 1/8
\ HTB05-01 5/16 1/8 & HTB-06-01 E— 18
7%, RTB0G;01 3/8 1/8 7%, HTB-08-01 8mm 1/8
HTB03-02 3/16 1/4 prep—— pw— 18
LIEOH02 1/4 14 HTB-10-01 10mm 1/8

HTB05-02 5/16 1/4
HTB06.00 T T HTB-04-02 4mm 1/4
HTB08.00 7 N HTB-06-02 6mm 1/4
HTB03-03 3/16 38 BIEZ08.02 Il L
HTB04-03 14 38 HTB-09-02 9mm 1/4
HTB05-03 5/16 3/8 HTB-10-02 10mm 1/4
HTB06-03 3/8 3/8 HTB-12-02 12mm 1/4
HTB08-03 1/2 3/8 HTB-06-03 6mm 3/8
HTB04-04 1/4 1/2 HTB-09-03 9mm 3/8
HTB06-04 3/8 1/2 HTB-10-03 10mm 3/8
HTB08-04 12 12 HTB-12-03 12mm 3/8
HTB10-04 5/8 12 HTB-13-03 13mm 3/8
HTB12-04 3/4 1/2 HTB-16-03 16mm 3/8
LLEC6;00 g gr HTB-09-04 9mm 12
HTB0S-06 12 34 HTB-10-04 10mm 12
HTB12-06 3/4 3/4

TB16.06 . =z HTB-12-04 12mm 1/2
HTB12.08 7 L HTB-13-04 13mm 1/2
r——— 7 " HTB-16-04 16mm 1/2
HTB20-08 11/4 1 HTB-19-04 19mm 1/2

HTB24-12 11/2 11/2 HTB-25-08 25mm 1

HTB32-16 2 2 HTB-32-16 32mm 2

HTFB HTFB

Model HoseBarp  hread Size(R/G/ Thread Size(R/

) NPT) " Model Hose Barb G/NPT)
% HTFB04-01 1/4 1/8 i HTFB-06-01 6mm 1/8

HTFB04-02 1/4 1/4 ¢ HTFB-09-01 9mm 1/8
€ ——— 14 38 HTFB-06-02 6mm 1/4"
HTFBO4-04 14 12 HTFB-09-02 9mm 1/4"
T—— 38 38 HTFB-13-02 13mm 1/4
, HTFB-06-03 6mm 3/8"

. HTFB06-04 3/8 1/2
Features/ $$1E Specifications/ AR i HTFB-09-03 9mm 3/8"
. e : L HTFB08-02 12 1/4 .
BSP Fittings used for all air pressure piping * Fluid type ER7HA : water, air (k, =5) HTFB-13-03 13mm 3/8
SFELERTSESHELRS. . , HTFB08-03 1/2 3/8 HTFB-06-04 6mm 12"

) ) ) _ Working Pressure T{EFE7] : 30 bar/ 450PSI/30KG

* Different usages depending on the user’ s requirements. HTFB08-04 1/2 1/2 HTFB-09-04 9mm 1/2"
IRBR P NERRE, ARESHER, * Working temperature TFRE : -40°C to 80°C HTFB08-06 3/4 3/4 HTFB-13-04 13mm 12"
* Nickel plated brass body: anti-corrosion and anti-contamination. * Applicable Tube SEA%XE : PU, PE, Nylon/ PU &, PE &, BRE HTFB-13-06 13mm 3/4"

FEIRAVERRET LABS FE SR B 5 o
* Thread: BSPT, BSPP, NPT
B GIRL, RIRLL, NPT SE4ANi%, INFATEMEAIRG, BEEKRRA!

Pls feel free to contact us for special conditions! Thanks!

Zhejiang Ideal Bell Technology Co.,Ltd. 82




www.ideal-bell.com

Brass Pipe Fittings

BSP ##3k

HTBF HR PS PS

S Y —
W Size(Inch) HR02-02

PS-01 1/8 PS02-01

- o ;ﬁe iﬁz HR03-03 3/ 16 3/16 PS-02 Y pe0z 01 Rl il

T 14" 8" HR04-04 1/4 1/4 PS03 387 PS03-02 3/8” 1/4”
HRO05-05 5/16 5/16 . .

HTBF03-02 3/16 1/4" » / “ f . PS-04 12 PS04-02 1/2 1/4
HTBF04-02 14" /4" ‘ hiROGZ0, 2B 1/ ] / PS04-03 e 3/8”
T 5/16" 4" HR06-06 3/8 3/8 PS-06 3/4 peos.08 e o
HTBFO4-03 /4" 3/8" tiR03:04. a2 Lk PS-08 g . .
HTBF05-03 5/16" 3/8" HR08-06 1/2 3/8 Ps06-04 ! 12
HTBF06-03 3/8" 3/8" HR08-08 1/2 1/2 PS08-06 i 34"
HTBF08-03 1/2" 3/8" HR08-09 1/2" 9/16"
HTBF06-04 3/8" 1/2" HR10-10 5/8" 5/8"
HTBF08-04 1/2" 1/2" HR12-12 3/4 3/4
HTBF08-06 1/2" 3/4" HR16-16 1 1
HTBF10-06 5/8" 3/4"
HTBF12-06 3/4" 3/4"
HTBF16-08 1 1

HTBFW HSR PBHN

Model No. Size 2( R/G/NPT
Item Code gl‘;fflﬁilqb Thread Size(R/G/NPT) Model No.

m Size 1(R/G/NPT) | Size 2(R/G/NPT)

PBHNO1 PBHN02-01

HTBFW6.2mm-01  1/8" 1/8" HSRO3 3/16 PBHNO e
HTBFW04-01 1/4" 1/8" HSRO4 174 / PBHN03-01 3/8 1/8
HTBFW04-02 1/4" 1/8" PBHNO3 3/8" PBHNO03-02 3/8 1/4
HTBFWO05-02  5/16" /4" R il .

: - . PBHN04 1/2 PBHN04-02 12 1/4

HTBFW06-02 3/8 1/4 HSR06 3/8 -
HTBFW08-02 12" 1/4" HRos ' PBHNO6 3/4 PBHN04-03 1/2 3/8
HTBFW04-03 1/4" 3/8" PBHNO8 1" PBHN06-02 3/4 1/4
HTBFW06-03  5/16" 3/8" HSR12 3/4 oBHNGE.03 s e
HTBFWO08-03 1/2" 3/8" : / /
HTBFW06-04 5/16" 1/2" PBHN06-04 3/4 1/2
HTBFWO08-04 1/2" 1/2" e —— 1 34"
HTBFW08-06 1/2" 3/4"
HTBFW10-06 5/8" 3/4"
HTBFW12-06 3/4" 3/4"
HTBFW16-08 1 1

HTBF2 HHHT SU RB

Female Female
Male Thread(R/
Hose Barb Model No. Hose Barb Thread(R/G/ Malelhread(R/ Model Thread(R/G/
Item Code Siraallivelh) Thread Size(R/G/NPT) “ NPT) G/NPT) NPT) G/NPT)
1/8" 18"

HHHTO02 , 5

HTBF2 04-02 1/4" SU01-01 RB01-02 1/8 1/4
HTBF2 05.00 5/16" 2 HHHTO3 3/16 SU02-01 14" 8" RB01-03 1/8” 3/8”
g / i HHHTO4 1/4 SU02-02 1/4" 1/4" RB02-03 1/47 3/8”

HTBF2 06-02 3/8" 1/4" HHHTOS e SU03-01 3/8" 1/8" RB01-04 1/8” 1/2”
HTBF2 08-04 12" 1/2" i s SU03-02 3/8" 1/4" RB02-04 1;4” 1;2”
i i 7 RB03-04 3/8” 12
HTBF2 12-06 3/4" 3/4" SU03:03 3/8,, 3/8" RB02-06 1/4" 3/4"
HHHTO8 12 SU04-02 1/2 1/4 = =
HHHT12 3/4 SU04-03 1/2" 3/8" RB03-06 3/8" 3/4"

SU04-04 12" 12" RB04-06 12 3/4

HHHT16 1 RE02108 14" 1

RB03-08 3/8" 1

RB04-08 12" 1"

RB06-08 3/8" 1"

83 Zhejiang Ideal Bell Technology Co.,Ltd. 84



Brass Pipe Fittings
BSP &3k

PP-G FSP HPTF

Model No. Thread Size 2(R/G/NPT) e Model No. Thread Size 2(R/G/NPT) Model No. Thread Size 2(R/G/NPT) Model No. Thread Size 2(R/G/NPT)
PP-GO1 G1/8” SFP-01 1/8" HPTF-01 1/8” HPTM-01 1/8”
FP-02 1/4" » »
PP-G02 G1/4” SFP-0 / ; HPTF-02 1/4 HPTM-02 1/4
) Shhs08 3/8 HPTF-03 3/8” HPTM-03 3/8”
PP-G03 G3/8 ==Y 12" ‘
. HPTF-04 1/2” HPTM-04 1/2”
Preot ol SFP06 34 HPTF-06 3/4" HPTM-06 3/4"
PP-G06 G3/4” SFP-08 1" = =
HPTF-08 1 HPTM-08 1
% Model No. Thread Size 2(R/G/NPT) Model No. Thread Size 2(R/G/NPT)
Wity SP-01 1/8" HPLF-01 1/8” HPTFFM HPTFMF
SP-02 1/4" HPLF-02 1/4”
. HPLF-03 3/8”
SP-03 3/8 o 1; - Thread Size 2(R/G/NPT) Thread Size 2(R/G/N
SP-04 12" ’ . RO <4 HPSTFFM-01 18’ HPTM-01 18’
- HPLF-06 3/4
SP-06 3/4 . HPSTFFM-02 1/4” HPTM-02 1/4”
HPLF-08 1
SP-08 1" HPSTFFM-03 3/8” HPTM-03 3/8”
HPSTFFM-04 1/2” HPTM-04 1/2°
HPSTFFM-06 3/4" HPTM-06 34"
HPSTFFM-08 1" HPTM-08 1"

HPLM HPLFM
1/8” Q@ 8

HPLM-01 HPLMF-01

HPLM-02 1/4” HPLMF-02 1/4”
HPLM-03 3/8” HPLMF-03 3/8”
HPLM-04 1/2” HPLMF-04 1/2
HPLM-06 3/8" HPLMF-06 3/4"

HPLM-08 i HPLMF-08 i HPYF HPYFFM

Thread Size 2(R/G/NPT) Thread Size 2(R/G/NPT)
-

HPYF-01 1 HPYFFM-01 18’
S F HPYF-02 A HPYFFM-02 14
HPYF-03 3/8”
HPYFFM-03 3/8”
Thread Size 2(R/G/NPT) HPYF-04 12
SFO1 1/8" HPYFFM-04 1/2”
SF02 1/4"
SF03 3/8"
SF04 12"
SF06 3/4"

85 Zhejiang Ideal Bell Technology Co.,Ltd. 86



Barbed Fittings
INESS

RTU

Straight Connector for Air Tubing

Assembly: Slide on the hose to the stop. Disassembly: cut open the hose.

RTU2/2 2 2
RTU3/2 3 2
RTU3/3 3 3
RTU4/3 4 3
RTU4/4 4 4
RTU6/4 6 4
RTU6/6 (9 6

LPK

L-connector for Air Tubing
Materials: brass and plastic
Temperature range: -10 ° C to max. +60° C

Assembly: Slide on the hose to the stop. Disassembly: cut open the hose

LPK 300 S}
LPK 400 4
LPK 600 6

V-connector for Air Tubing
Materials: brass and plastic
Temperature range: -10 ° C to max. +60° C

Assembly: Slide on the hose to the stop. Disassembly: cut open the hose

VPK 300 3
VPK 400 4
VPK 600 6

www.ideal-bell.com

TPK

T-connector for Air Tubing
Materials: brass and plastic
Temperature range: -10 ° C to max.+60° C

Assembly: Slide on the hose to the stop. Disassembly: cut open the hose

TPK 300 3
TPK 400 4
TPK 600 6

YPK

Y-connector for Air Tubing
Materials: brass and plastic
Temperature range: -10 ° C to max. +60° C

Assembly: Slide on the hose to the stop. Disassembly: cut open the hose

YPK 300 3
YPK 400 4
YPK 600 6

87

Zhejiang Ideal Bell Technology Co.,Ltd. 88




www.ideal-bell.com

Brass Push On Fittings

RITERK

RITERTIZX

1. KRB EREX, ERTEEER. PUE, —RI(EENN 1.0MPa, ZRFHELEBERAE. REFE. BHIEETR. KRiREANZEES
BRI SR,
2. ERHMSHTENERE L, IBERERANEXL, BESIgEtELRT,

1.Suitable for joining the nylon pipe,pu pipe,maximum pressure is 1.0 Mpa.lt is easy used installing fastness and pressurizing trustiness.it is
instaslling at will with the terminal of piecing.

2.Demount the nut first,connect the pipe to the fitting and screw the nut.

FERKARSBE The Main Technical Parameter

4% (Material) #4A (Brass)

S EIRLL [BSP]

SAHIEIEE R4 [BSPP]

FEREIBLL (Threaded connection)

AHIBL (Metric thread)

A P R E AR AR ECHEERRA [NPT]

T1EEF (Working pressure) RAES 2.5Mpal AR, BURFEZRENME ]

E7e [PA]
#E#E (Connecting tube) BZJ% [PE]
Bals (PU]
4/2.5,6/4,8/6,10/8,12/10,15/12.5[](Out diameter/inside diameter)
N (Medium) EH=S [ ATFEMMENERE, E58ARKE |

SRR (Working temperature) -10-60°C [ EIRS S M AIEIEE S

Tube Outside Diameter You Can Choose As Follows: Thread SizeFor Four Choice As Follows:
T UERNSEIMERTUTF: o] USRI R T I0 T :

Code No. {3

Thread Size $24R~F

_ Metric Size/ A%IR~t Inch Size/ FE§IR~F

Code No. X5 4 6 8 10 | 12 | 5/32 | 1/4 | 5/16 | 3/8 1/2

Tube Outside Dia
=RHME 4 | O6 | $8 | d10| 12| d5/32| d1/4 | d5/16| $3/8 | dl/2 M5

1/2

Zhejiang Ideal Bell Technology Co.,Ltd. 90




www.ideal-bell.com

Brass Push On Fittings
RITERkL

RPC RPL-Rigid
Twew [ e [ T T

[ Tueop G [ N N R

RPC4x2.5-01 4 1/8" 12 [ok:] E*X ) RPL4x2.5-01-R 4 1/8" 11 17.5
RPC4x2.5-02 4 1/4" 9 23.5 14 DO8(ELX) RPL4x2.5-02-R 4 1/4" 14 17 22 O8(ELX)
RPC6x4-01 6 1/8" 8 233 12 10 RPL6x4-01-R 6 1/8" 11 19 20 10
RPC6x4-02 6 1/4" 9 24.8 14 10 RPL6x4-02-R 6 1/4" 14 19 22 10
RPC6x4-03 6 3/8" 10 26.3 17 10 RPL6x4-03-R 6 3/8" 14.5 21 24 10
RPC6x4-04 6 1/2" 11 27.8 21 10 RPL6x4-04-R 6 1/2" 19 22.3 325 10
RPC8x6-01 8 1/8" 8 24.5 13 13 RPL8x6-01-R 8 1/8" 11 21.5 20 13
RPC8x6-02 8 1/4" 9 26 14 13 RPL8x6-02-R 8 1/4" 14 20.5 22 13
RPC8x6-03 8 3/8" 10 27.5 17 13 RPL8x6-03-R 8 3/8" 14.5 21.5 24 13
RPC8x6-04 8 1/2" 11 29 21 13 RPL8x6-04-R 8 1/2" 19 23 325 13
RPC10x8-01 10 1/8" 8 27.5 15 15 RPL10x8-01-R 10 1/8" 11 24 21 15
RPC10x8-02 10 1/4" 9 28.5 15 15 RPL10x8-02-R 10 1/4" 14 24 24 15
RPC10x8-03 10 3/8" 10 30 17 15 RPL10x8-03-R 10 3/8" 14.5 24 24 15
RPC10x8-04 10 1/2" 11 315 21 15 RPL10x8-04-R 10 1/2" 19 26 325 15
RPC12x10-01 12 1/8" 8 28 17 17 RPL12x10-01-R 12 1/8" 11 25 22 17
RPC12x10-02 12 1/4" 9 29 17 17 RPL12x10-02-R 12 1/4" 14 25 25 17
RPC12x10-03 12 3/8" 10 30 17 17 RPL12x10-03-R 12 3/8" 14.5 25 25.5 17
RPC12x10-04 12 1/2" 11 315 21 17 RPL12x10-04-R 12 1/2" 19 26 325 17

| Tebeop s | [ [ [ ] [ fmweoo [ Br | [ [ | | T
PARTNO. D M . u_ | L | s | s | LA I O S N I N

RPC4x2.5-G01 4 M5x0.8 3.8 18.5 10 P(ELX) RPL4x2.5-01 4 1/8" 233 12 8(EL)
RPC4x2.5-G02 4 M6x1 3.8 18.5 10 [oXI@=t1g] RPL4x2.5-02 4 1/4" 9 4‘5 17 24.8 14 D EH)
RPC6x4-G01 6 G1/8" 513 21.6 12 10 RPL6x4-01 6 1/8" 8 4 19 20.5 12 10
RPC6x4-G02 6 G1/4" 6 23.8 12 10 RPL6x4-02 6 1/4" 9 4.5 19 22 14 10
RPC6x4-G03 6 G3/8" 7 25.8 14 10 RPL6x4-03 6 3/8" 10 5 19 23.5 17 10
RPC6x4-G04 6 G1/2" 9 27.8 17 10 RPL6x4-04 6 1/2" 11 5.5 19 25 21 10
RPC8x6-G01 8 G1/8" 5.3 23.8 12 13 RPL8x6-01 8 1/8" 8 4.5 215 20.5 12 13
RPC8x6-G02 8 G1/4" 6 25 12 13 RPL8x6-02 8 1/4" 9 4.5 215 22 14 13
RPC8x6-G03 8 G3/8" 7 27 14 13 RPL8x6-03 8 3/8" 10 5 215 23.5 17 i3
RPC8x6-G04 8 G1/2" 9 29 17 13 RPL8x6-04 8 12" 11 5.5 21.5 25 21 13
RPC10x8-G01 10 G1/8" 513 25.3 14 15 RPL10x8-01 10 1/8" 8 4.5 24 22 12 15
RPC10x8-G02 10 G1/4" 6 27.5 14 15 RPL10x8-02 10 1/4" 9 4.5 24 23 14 15
RPC10x8-G03 10 G3/8" 7 29.5 14 15 RPL10x8-03 10 3/8" 10 5 24 24.5 17 15
RPC10x8-G04 10 G1/2" 9 315 17 15 RPL10x8-04 10 1/2" 11 55 24 26 21 15
RPC12x10-G01 12 G1/8" 5.3 205,3) 16 17 RPL12x10-01 12 1/8" 8 4.5 25 2843 14 17
RPC12x10-G02 12 G1/4" 6 26 16 17 RPL12x10-02 12 1/4" 9 4.5 25 24.3 14 17
RPC12x10-G03 12 G3/8" 7 29.5 16 17 RPL12x10-03 12 3/8" 10 5 25 25.8 17 17
RPC12x10-G04 12 G1/2" 9 315 17 17 RPL12x10-04 12 1/2" 11 5.5 25 27.3 21 17

| Tubeoo B | | [ | Tupeop Bep | | 0 7
PART NO. -“____ PART NO. -—_—_—_

RPCF4x2.5-01 4 G1/8" P8(E4) RPLA4X2.5-M5 4 M5x0.8 19.8 10 8(EL)
EEE;‘X;?% i g;ﬁg 190 ;; 12 zzz gi ; RPLAX2.5-M6 4 M6x1 38 17 19.8 10 »8(EL)
X2.95- Z "
RPCF4x2.5-04 4 G1/2" 11 23 24 o8 EL) RPLOx4-GO1 6 61/ 8“ 53 19 188 12 10
RPCF6x4-01 6 G1/8" 7 203 13 10 RPL6x4-G02 6 Gl/4 6 9 21 12 10
RPCF6x4-02 6 G1/a" 9 223 6 0 RPL6x4-G03 6 G3/8" 7 19 23 14 10
RPCF6x4-03 6 G3/8" 10 233 19 10 RPL6x4-G04 6 G1/2" 9 19 25 17 10
RPCF6x4-04 6 G1/2" 11 243 2 10 RPL8X6-G01 8 G1/8" 53 215 18.8 12 13
RPCF8x6-01 8 G1/8" 7 215 13 13 RPL8x6-G02 8 G1/4" 6 215 21 12 13
RPCF8x6-02 8 G1/4" 9 235 16 13 RPL8x6-G03 8 G3/8" 7 215 23 14 13
RESRRXGE g G3/8" 10 245 19 13 RPL8X6-G04 8 G1/2" 9 215 25 17 13
RPCF8x6-04 8 61/2" 11 25.5 24 13 RPL10x8-G01 10 G1/8" 53 24 20.8 1 15
RPCFL0xE-01 10 alis ! Z L £ RPL10x8-G02 10 G1/4" 6 24 2 12 15
RPCPL0XE02 10 Gl ’ 2 16 b RPL10x8-G03 10 G3/8" 7 24 24 14 15
RPCF10x8-03 10 G3/8" 10 27 19 15
RPCF10x8-04 10 61/2" 1 % 2 1s RPL10x8-G04 10 G1/2" 9 24 26 17 15
RPCF12x10-01 12 G1/8" 7 24 17 17 ¥ RPL12x10-G01 12 G1/8" 53 25 211 14 17
RPCF12x10-02 12 G1/4" 9 26 17 17 RPL12x10-G02 12 G1/4" 6 25 233 14 17
RPCF12x10-03 12 G3/8" 10 27 19 17 RPL12x10-G03 12 G3/8" 7 25 253 14 17
RPCF12x10-04 12 G1/2" 11 28 24 17 RPL12x10-G04 12 G1/2" 9 25 273 17 17

91 Zhejiang Ideal Bell Technology Co.,Ltd. 92



www.ideal-bell.com

Brass Push On Fittings
RITERkL

RPLF-G RPT-G

[ [mwweoo [ B [ [ [ | | ]

| [mweoo [ e [ [ [ [ [ ]
PART NO I S S S A T N

paRTNO. |0l M UL s L s

RPLF4x2.5-G01 4 G1/8" 7 6 17 RPT4x2.5-M5 4 M5x0.8 3.8 17 19.8 D8(EX)
RPLF4x2.5-G02 4 G1/4" 9 6 17 20.7 16 D8(H) RPT4x2.5-M6 4 Méx1 3.8 17 19.8 10 »8(HEL)
RPLF6x4-GO1 6 G1/8" 7 6 19 18.7 13 10 RPT6x4-G01 6 G1/8" 5.3 19 18.8 12 10
RPLF6x4-G02 6 G1/4" 9 6 19 20.7 16 10 RPT6x4-G02 6 G1/4" 6 19 21 12 10
RPLF6x4-G03 6 G3/8" 10 6 19 21.7 19 10 . RPT6x4-G03 6 G3/8" 7 19 23 14 10
RPLF6x4-G04 6 G1/2" 11 6.5 19 22.7 24 10 RPT6x4-G04 6 G1/2" 9 19 25 17 10
RPLF8x6-G01 8 G1/8" 6 21.5 18.7 13 13 RPT8x6-G01 8 G1/8" 5.3 215 18.8 12 13
RPLF8x6-G02 8 G1/4" 9 6 215 20.7 16 13 RPT8x6-G02 8 G1/4" 6 215 21 12 13
‘ RPLF8x6-G03 8 G3/8" 10 6 21.5 21.7 19 13 RPT8x6-G03 8 G3/8" 7 215 23 14 13
i e RPLF8x6-G04 8 G1/2" 11 6.5 21.5 22.7 24 13 RPT8X6-G04 8 G1/2" 9 215 25 17 13
s a RPLF10x8-GO1 10 G1/8" 7 6 24 19.7 14 15 RPT10x8-G01 10 G1/8" 5.3 24 20.8 12 15
_ L RPLF10x8-G02 10 G1/4" 9 6 24 21.7 16 15 RPT10x8-G02 10 G1/4" 6 24 22 12 15
- ~ RPLF10x8-G03 10 G3/8" 10 6 24 22.7 19 15 RPT10x8-G03 10 G3/8" 7 24 24 14 15
= RPLF10x8-G04 10 G1/2" 11 6.5 24 23.7 24 15 RPT10x8-G04 10 G1/2" 9 24 26 17 15
b M RPLF12x10-G01 12 G1/8" 7 6 25 21 16 17 RPT12x10-G01 12 G1/8" 5.3 25 21.1 14 17
RPLF12x10-G02 12 G1/4" 9 6 25 23 16 17 RPT12x10-G02 12 G1/4" 6 25 23.3 14 17
RPLF12x10-G03 12 G3/8" 10 6 25 24 19 17 RPT12x10-G03 12 G3/8" 7 25 25.3 14 17
RPLF12x10-G04 12 G1/2" 11 6.5 25 25 24 17 RPT12x10-G04 12 G1/2" 9 25 27.3 17 17

RPT-Rigid RPST
I 2 2 A B

| | mbeon [ eser ______

| eetvo. 0 ] R u L L s PARTNO. D ] I T s
RPT4x2.5-01-R 4 1/8" 11 IS 20 [oXI@=t1g] RPST4x2.5-01 4 1/8" 2843 12 D8( Eé}‘( )
RPT4x2.5-02-R 4 1/4" 14 17 22 [oXI@=t2'g] RPST4x2.5-02 4 1/4" 9 4.5 17 24.8 14 D8 EHH)
RPT6x4-01-R 6 1/8" 11 19 20 10 RPST6x4-01 6 1/8" 8 4 19 20.5 12 10
RPT6x4-02-R 6 1/4" 14 19 22 10 RPST6x4-02 6 1/4" 9 4.5 19 22 14 10
RPT6x4-03-R 6 3/8" 145 21 24 10 RPST6x4-03 6 3/8" 10 5 19 23.5 17 10
RPT6x4-04-R 6 1/2" 19 22.3 32.5 10 RPST6x4-04 6 1/2" 11 55 19 25 21 10
RPT8x6-01-R 8 1/8" 11 21.5 20 13 RPST8x6-01 8 1/8" 8 4.5 21.5 20.5 12 13
RPT8x6-02-R 8 1/4" 14 20.5 22 13 RPST8x6-02 8 1/4" 9 45 215 22 14 13
RPT8x6-03-R 8 3/8" 14.5 21.5 24 i3 RPST8x6-03 8 3/8" 10 5 215 255 17 13
RPT8x6-04-R 8 1/2" 19 23 32.5 13 RPST8x6-04 8 1/2" 11 5.5 21.5 25 21 13
RPT10x8-01-R 10 1/8" 11 24 21 15 RPST10x8-01 10 1/8" 8 4.5 24 22 12 15
RPT10x8-02-R 10 1/4" 14 24 24 15 RPST10x8-02 10 1/4" 9 4.5 24 23 14 15
RPT10x8-03-R 10 3/8" 14.5 24 24 15 RPST10x8-03 10 3/8" 10 5 24 24.5 17 15
RPT10x8-04-R 10 1/2" 19 26 32.5 15 RPST10x8-04 10 1/2" 11 5.5 24 26 21 15
RPT12x10-01-R 12 1/8" 11 25 22 17 RPST12x10-01 12 1/8" 8 4.5 25 2548 14 17
RPT12x10-02-R 12 1/4" 14 25 25 17 RPST12x10-02 12 1/4" 9 4.5 25 24.3 14 17
RPT12x10-03-R 12 3/8" 145 25 25,5 17 RPST12x10-03 12 3/8" 10 5 25 25.8 17 17
RPT12x10-04-R 12 1/2" 19 26 32.5 17 RPST12x10-04 12 12" 11 55 25 27.3 21 17

RPST4x2.5-M5 4 M5x0.8 3.8 17 19.8 10 O8(HL)
RPT4x2.5-01 4 1/8" 233 D8(HL)
., RPST4x2.5-M6 4 M6x1 3.8 17 19.8 10 O8(HL)
RPT4x2.5-02 4 1/4 9 45 17 24.8 14 O8(HL) RPSTEXA-GOL . 18" s 19 188 b 10
RPT6x4-01 6 1/8" 8 4 19 20.5 12 10 ’ )
RPST6x4-G02 6 G1/4" 6 19 21 12 10
RPT6x4-02 6 1/4" 9 45 19 22 14 10
PTed 03 . e 0 . L as . 0 RPST6x4-G03 6 G3/8" 7 19 23 14 10
RPTGX4’O4 . 1/ o 0 o o zé 0 0 RPST6x4-G04 6 G1/2" 9 19 25 17 10
RPT8x6-01 . 1/ o . 4'5 s o 5 5 L RPST8x6-G01 8 G1/8" 53 215 18.8 12 13
X0 / : ’ : RPST8x6-G02 8 G1/4" 6 215 21 12 13
RPT8x6-02 8 1/4 9 45 215 22 14 13 T RPST8X6-GO3 8 38" 7 215 23 14 13
RPT8x6-03 8 3/8" 10 5 215 235 17 13 RPST8x6-G04 8 G1/2" 9 215 25 17 13
RPT8x6-04 8 12" 11 5.5 215 25 21 13 S1 RPST10x8-G01 10 G1/8" 5.3 24 20.8 12 15
RPT10x8-01 10 1/8" 8 4.5 24 22 12 15 B RPST10x8-G02 10 G1/4" 6 24 22 12 15
RPT10x8-02 10 1/4" 9 4.5 24 23 14 15 - = RPST10x8-G03 10 G3/8" 7 24 24 14 15
RPT10x8-03 10 3/8" 10 5 24 24.5 17 15 == RPST10x8-G04 10 G1/2" 9 24 26 17 15
RPT10x8-04 10 1/2" 11 5.5 24 26 21 15 = s RPST12x10-G01 12 G1/8" 5.3 25 21.1 14 17
RPT12x10-01 12 1/8" 8 4.5 25 233 14 17 o RPST12x10-G02 12 G1/4" 6 25 233 14 17
RPT12x10-02 12 1/4" 9 4.5 25 243 14 17 M RPST12x10-G03 12 G3/8" 7 25 25.3 14 17
RPT12x10-03 12 3/8" 10 5 25 25.8 17 17 RPST12x10-G04 12 G1/2" 9 25 27.3 17 17
RPT12x10-04 12 1/2" 11 5.5 25 27.3 21 17

93 Zhejiang Ideal Bell Technology Co.,Ltd. 94



Brass Push On Fittings
RITERkL

RPH

_ wbeoo | eser | [ [ [ [

I T S ) T O N
RPH4x2.5-M5 4 M5x0.8 183 8 8(ELX)
RPH6x4-M5 6 M5x0.8 5.8 17.5 18.3 8 10
RPH6x4-M6 6 Méx1 58 17.5 183 8 10
RPH6x4-01 6 1/8" 75 21.5 24.5 12 10
RPH6x4-02 6 1/4" 10 23 27.8 15 10
RPH6x4-03 6 3/8" 11 275 33.7 19 10
RPH6x4-04 6 1/2" 12 29.5 37 24 10
RPH8x6-01 8 1/8" 75 22 24.5 12 13
RPH8x6-02 8 1/4" 10 24.2 27.8 15 13
RPH8x6-03 8 3/8" 11 85 33.7 19 13
RPH8x6-04 8 1/2" 12 30 37 24 13
RPH10x8-01 10 1/8" 75 25 27.5 12 15
RPH10x8-02 10 1/4" 10 26.7 30.8 15 15
RPH10x8-03 10 3/8" 11 31 36.2 19 15
RPH10x8-04 10 1/2" 12 325 37 24 15
RPH12x10-02 12 1/4" 10 27.7 30.8 15 17
RPH12x10-03 12 3/8" 11 33 36.2 19 17
RPH12x10-04 12 1/2" 12 335 37 24 17

[ [ Tueob | Bsep [ BsT | | [ [ |
-__-_____ s s1

RPH4x2.5-G01 4 G1/8" 1/8" 7 295
RPH4x2.5-G02 4 G1/4" 1/4" 8 10 21.7 34.2 16 OY( B4 )
RPH6x4-G01 6 G1/8" 1/8" 7 7.5 215 295 13 10
RPH6x4-G02 6 G1/4" 1/4" 8 10 23 342 16 10
RPH6x4-G03 6 G3/8" 3/8" 9 12 275 39.7 19 10
RPH8x6-G01 8 G1/8" 1/8" 7 75 22 295 14 13
RPH8x6-G02 8 G1/4" 1/4" 8 10 24.2 34.2 16 13
RPH8x6-G03 8 G3/8" 3/8" 9 12 8.5 39.7 19 13
RPH8x6-G04 8 G1/2" 1/2" 10 13 30 45.5 24 13
RPH10x8-G01 10 G1/8" 1/8" 7 75 25 29.5 17 15
RPH10x8-G02 10 G1/4" 1/4" 8 10 26.7 342 17 15
RPH10x8-G03 10 G3/8" 3/8" 9 12 31 39.7 19 15
RPH10x8-G04 10 G1/2" 1/2" 10 13 325 45.5 24 15
RPH12x10-G02 12 G1/4" 1/4" 8 10 217 34.2 19 17
RPH12x10-G03 12 G3/8" 3/8" 9 12 33 39.7 19 17
RPH12x10-G04 12 G1/2" 1/2" 10 13 335 45.5 24 17

PART PART
NO, NO

RPUC- RPMM-
4x2.5 3.5 (gey() 4025 4 Méx1 315 ﬁ)
RUE | 5 | mg | BE | W | W RPMM- 6 mgx0.75 355 12 10
6x4 6x4
HEUE ) w ) ing | e | 13 RPMM- ¢ Mina 39 14 13
8x6 8x6
RPUC- RPMM-
VS 10 15 35 15 15 PN 10 M13a2s 45 17 1
RPUC- RPMM-
I I M 12 M52 46 19 17

---

RPUL-4x2.5
RPUL-6x4 6 19 10
RPUL-8x6 8 A5 13
RPUL-10x8 10 24 15
RPUL-12x10 12 25 17

PART NO. -_--

RPZA-4x2.5
RPZA-6x4 6 BINES) 10
RPZA-8x6 8 21 13
RPZA-10x8 10 24 15
RPZA-12x10 12 26 17

RPGT6x4-4x2.5
RPGT8x6-6x4
RPGT10x8-8x6
RPGT12x10-10x8
RPGT18X15-12x10

RPGJ04
RPGJ04-06
RPGJ04-08
RPGJ04-10
RPGJ06-04

RPGJ06
RPGJ06-08
RPGJ06-10
RPGJ08-04
RPGJ08-06

RPGJ08
RPGJ08-10
RPGJ08-12
RPGJ10-04
RPGJ10-06
RPGJ10-08

RPGJ10
RPGJ10-12
RPGJ12-04
RPGJ12-06
RPGJ12-08
RPGJ12-10

RPGJ12

® ® ®® Lo DDA D DD

10
10
10
10
12
12
12
12
12

o

[=]

www.ideal-bell.com

---

RPUT-4x2.5

RPUT-6x4
RPUT-8x6

RPUT-10x8
RPUT-12x10

©

10
12

19
25
24
25

10
13
15
17

IEIDRENOOE

RPG6x4-4x2.5

RPG8x6-6x4
RPG10x8-8x6

RPG12x10-10x8

RPG18X15-12x10

41.5
42.5
435
44.5
45.5

21.5
24
25
36

6

10
12
18

4

10
12

19
215
24
25

LS| aly) |2k

12I5) INIRSY1D 833
15 125 325
15 15 355
22 15 425

13
15
17
24

8( Eiﬁ )
Y(EL)
»8(HE)
D8(HL)

10

10

10

10

13

10

13
15
17
24

13
15
17
24

°8(E

4
6
?8

10
4
6
@8

10
4
6
@8

@10

12
4
6
8

®10

12
4
6
@8

10

12

ksz)
10

13
15
17

------

_____

95

Zhejiang Ideal Bell Technology Co.,Ltd.

96



Compression
FEHEL

FEERTIZEX

1. FEAERKERTERENER, &RAEIN 1.0Mpa

www.ideal-bell.com

2. SEME, EORTEER, BREBANELA (—EEBEIRT) , ABEEFE, HEFESFaERN, BRSEET, 1/3, B FEEERMEH,

3. RRVIFmERTRMERE, WRBERRBRENIBITEN A

1.Suitable for non-ferrous metal pipes,maximum pressure is 1.0Mpa.

2Trachea get rid of burr after cutting off,Insert the trachea in the piecing(must insert and leave on earth),then fasten nut.When it can not be-

rotated,continue fastening tight 1/3circle so can firm connection seal.

3. This series of products are suitable for two kinds of union pipes only,if nylon tube of the hard quality is needed,please point out on the order

sheet.

FERKARSBE The Main Technical Parameter

# Material)

5[ (Brass)

T B IR [BSP]

RHIEE RS [BSPP]

2L (Threaded connection)

NHIBLL (Metric thread)

¥R P R E AR A ECHEEIRL [NPT]

T{EE/ (working pressure)

0-1.0Mpal £, BURTFERENMIE ]

%% (Connecting tube)

£/E [METAL]

EEEE]R (Connecting diameter of tube)

4,6,8,10,12,18,22,28[ Mz ](Out diameter)

EH=S [ BTFEMMENERN, B5EARKR |

TIfERE (Working temperature)

-20-80°C [ EIBS S IIFTAERESH |

Tube Outside Diameter You Can Choose As Follows:
T UERNSEIMERTUTF:

_ Metric Size/ A%IR~t Inch Size/ FE§IR~F
Code No. X5 4 6 8 10 12 | 5/32 1/4 | 5/16 | 3/8 1/2

T”b‘;?éﬁgma 4 | o6 | 8 | ©l0| 12 | d5/32| dl/4 | 5/16| $3/8 | d1/2

Thread Size For Your Choice As Follows:
o] DUERRIBER T I0T :

Code No. {3

Thread Size $24R~F

M5 1/2

Zhejiang Ideal Bell Technology Co.,Ltd. 98



Compression Fittings
*EZEXk

CFPC
[ Twew [ ew T [ [ [ ]

CFPC4x2.5-01 4 1/8" 8 27.5 12 10
CFPC6x4-02 6 1/8" 8 28.5 12 12
CFPC6x4-03 6 1/4" 9 30 14 12
CFPC8x6-01 8 1/8" 8 29.5 13 14
CFPC8x6-02 8 1/4" 9 31 14 14
CFPC8x6-03 8 3/8" 10 32.5 17 14

CFPC10x8-01 10 1/8" 8 31 15 16

CFPC10x8-02 10 1/4" 9 32 15 16

CFPC10x8-03 10 3/8" 10 8885 17 16

CFPC10x8-04 10 1/2" 11 35 21 16

CFPC12x10-01 12 1/4" 9 8845 17 18

CFPC12x10-02 12 3/8" 10 34.5 17 18

CFPC12x10-03 12 1/2" 11 36 21 18

CFPC18x15-01 18 2G1/2" 11 38.5 25 25

CFPC-G

I O S I O S
o | o | v | o | L | s | a
10 10

CFPC4x2.5-M6 4 M6x1 6 26.5
CFPC4x2.5-M8 4 M8x1 7 27.5 12 10
CFPC4x2.5-G01 4 G1/8" 7 28 13 10
CFPC6X4-M8 6 M8x1 7 29.3 12 12
CFPC6X4-M10 6 M10x1 7 29.8 13 12
CFPC6X4-G01 6 G1/8" 7 29.8 13 12
CFPC6X4-G02 6 G1/4" §) L3 16 12
CFPC8x6-M10 8 M10x1 7 29.8 13 14
CFPC8x6-G01 8 G1/8" 7 29.8 13 14
CFPC8x6-G02 8 G1/4" 9 323 16 14
CFPC8x6-G03 8 G3/8" 10 343 19 14
CFPC10x8-M12 10 M12x1.25 9 333 15 16
CFPC10x8-G02 10 G1/4" §) 353 16 16
CFPC10x8-G03 10 G3/8" 10 34.8 19 16
CFPC10x8-G04 10 G1/2" 11 36.3 24 16
CFPC12x10-M16 12 M16x1.5 10 35.8 19 18
CFPC12x10-G02 12 G1/4" 9 34.8 17 18
CFPC12x10-G03 12 G3/8" 10 35.8 19 18
CFPC12x10-G04 12 G1/2" 11 373 24 18
CFPC18x10-M20 18 M20x1.5 11 37 25 25
CFPC18x10-G04 18 G1/2" 11 37 25 25

CFPCF-G

PART NO. ™ P - AU

CFPCF4x2.5-G01 4 G1/8" 7 24.5 13 10
CFPCF4x2.5-G02 4 G1/4" 9 26.5 16 10
CFPCF4x2.5-G03 4 G3/8" 10 27.5 19 10
CFPCF4x2.5-G04 4 G1/2" 11 28.5 24 10
CFPCF6x4-G01 6 G1/8" 7 205.3) 13 12
CFPCF6x4-G02 6 G1/4" 9 27.5 16 12
CFPCF6x4-G03 6 G3/8" 10 28.5 19 12
CFPCF6x4-G04 6 G1/2" 11 29.5 24 12
CFPCF8x6-G01 8 G1/8" 7 26.5 14 14
CFPCF8x6-G02 8 G1/4" 9 28.5 16 14
CFPCF8x6-G03 8 G3/8" 10 29.5 19 14
CFPCF8x6-G04 8 G1/2" 11 30.5 24 14
CFPCF10x8-G01 10 G1/8" 7 27.5 16 16
CFPCF10x8-G02 10 G1/4" 9 29.5 16 16
CFPCF10x8-G03 10 G3/8" 10 30.5 19 16
CFPCF10x8-G04 10 G1/2" 11 3L.5 24 16
CFPCF12x10-G01 12 G1/8" 7 28.5 18 18
CFPCF12x10-G02 12 G1/4" 9 30.5 18 18
CFPCF12x10-G03 12 G3/8" 10 S5 19 18
CFPCF12x10-G04 12 G1/2" 11 325 24 18

www.ideal-bell.com

CFPLF-G

PART NO. .o v | i [ L | LU | S|

CFPLF4x2.5-M6 4 Méx1 6 25.5 15.8 10

CFPLF4x2.5-M8 4 M8x1 7 255 17 10

CFPLF4x2.5-G01 4 G1/8" 7 26 18.2 10

CFPLF4x2.5-G02 4 G1/4" 9 27.5 22 10

CFPLF6x4-M6 6 Méx1 6 25.5 15.8 12

CFPLF6x4-M8 6 M8x1 7 255 17 12

CFPLF6x4-G01 6 G1/8" T 26 18.2 12

CFPLF6x4-G02 6 G1/4" 9 27.5 22 12

CFPLF6x4-G03 6 G3/8" 10 30 26 12

CFPLF6x4-G04 6 G1/2" 11 33 30.5 12

L ST CFPLF8x6-G01 8 G1/8" 7 245 18.2 14
CFPLF8x6-G02 8 G1/4" 9 26 22 14

CFPLF8x6-G03 8 G3/8" 10 285 26 14

E CFPLF8x6-G04 8 G1/2" 11 315 30.5 14
- CFPLF10x8-G01 10 G1/8" 7 28.5 19 16
CFPLF10x8-G02 10 G1/4" 9 285 22 16

CFPLF10x8-G03 10 G3/8" 10 31 26 16

CFPLF10x8-G04 10 G1/2" 11 34 30.5 16

CFPLF12x10-G01 12 G1/8" 7 S5 2415 18

CFPLF12x10-G02 12 G1/4" 9 315 24 18

CFPLF12x10-G03 12 G3/8" 10 Bit5 26 18

CFPLF12x10-G04 12 G1/2" 11 345 30.5 18

CFPL

| Tubeon Ber |
R0, | o | kR | o | 1 | T | s |
11 26 19 10

CFPL4x2.5-01 4 1/8"
CFPL6x4-01 6 1/8" 11 26 19 12
CFPL6x4-02 6 1/4" 14 26 22 12
CFPL8x6-01 8 1/8" 11 24.5 19 14
CFPL8x6-02 8 1/4" 14 24.5 22 14
CFPL8x6-03 8 3/8" 145 26.5 24 14
CFPL10x8-01 10 1/8" 11 28.5 20.5 16
CFPL10x8-02 10 1/4" 14 28.5 23.5 16
CFPL10x8-03 10 3/8" 14.5 285 24 16
CFPL10x8-04 10 12" 19 335 34 16
CFPL12x10-02 12 1/4" 14 35 26 18
CFPL12x10-03 12 3/8" 14.5 315 26.5 18
CFPL12x10-04 12 1/2" 19 34.5 34 18
CFPL18x15-04 18 12" 19 36 34 25

=

Tmbeon | e ||
RO, | > | w | o | | U | s | U s
26 19 10 10

CFPL4x2.5-M6 4 Mé6x1 11 6
CFPL4x2.5-M8 4 M8x1 13 7 26 21 12 10
CFPL4x2.5-G01 4 G1/8" 13 7 26 21 14 10
CFPL6x4-M8 6 M8x1 13 7 26 21 12 12
CFPL6x4-M10 6 M10x1 13 7 26 21 12 12
CFPL6x4-G01 6 G1/8" 13 7 26 21 14 12
CFPL6x4-G02 6 G1/4" 1515 9 26 7515 17 12
CFPL8x6-M10 8 M10x1 13 7 24.5 21 12 14
CFPL8x6-G01 8 G1/8" 13 7 24.5 21 14 14
CFPL8x6-G02 8 G1/4" 15.5 9 24.5 235 17 14
CFPL8x6-G03 8 G3/8" 17 9.5 26.5 26.5 19 14
CFPL10x8-M12 10 M12x1.25 155 9 28.5 25 17 16
CFPL10x8-G01 10 G1/8" 13 7 28.5 22.5 14 16
CFPL10x8-G02 10 G1/4" 155 9 285 25 17 16
CFPL10x8-G03 10 G3/8" 17 9.5 28.5 26.5 19 16
CFPL10x8-G04 10 G1/2" 19 11 335 34 24 16
CFPL12x10-M16 12 M16x1.5 17 9.5 S5 29 19 18
CFPL12x10-G02 12 G1/4" 15.5 9 3L.5 27.5 17 18
CFPL12x10-G03 12 G3/8" 17 0.5 L3 29 19 18
CFPL12x10-G04 12 G1/2" 19 11 345 34 24 18
CFPL18x15-M20 18 M20x1.5 19 11 36 34 24 25
CFPL18x15-G04 18 G1/2" 19 11 36 34 24 25

99

Zhejiang Ideal Bell Technology Co.,Ltd. 100



www.ideal-bell.com

Compression Fittings
*EZEXk

CFPT CFPST-G

I O S N I B S 2 S —————
T T S S - W
I T N O T T ' CPPSTHRSMG 4 Mod o1l 6 2 1 10 10
CFPT4x2.5-01 4 1/8" 11 26 19 10 CFPST4x2.5-M8 4 M8x1 13 7 26 21 12 10
CFPTOxA.01 . 18" n 2% 19 b CFPST4x2.5-G01 4 G1/8" 13 7 26 21 14 10
CFPST6x4-M8 6 M8x1 13 7 26 21 12 12
CFPT6x4-02 6 1 14 2 2 12 CFPST6x4-M10 6 M10x1 13 7 26 21 12 12
CFPT8x6-01 8 1/8" 1 24.5 19 14 CFPST6x4-G01 6 G1/8" 13 7 26 21 14 12
TG 3 14" W G - a CFPST6x4-G02 6 G1/4" 155 9 26 235 17 12
CFPST8x6-M10 8 M10x1 13 7 245 21 12 14
CFPT8x6-03 8 3/8" 145 265 24 14 CFPST8X6-GO1 8 Gl/8" 13 7 245 21 14 14
CFPT10x8-01 10 1/8" 1 28.5 20.5 16 CFPST8x6-G02 8 G1/4" 15.5 9 24.5 235 17 14
CFPT10x8-02 10 1/4" 14 285 235 16 CFPST8x6-G03 8 G3/8" 17 95 265 265 19 14
—— p= 38" S I ” = CFPST10x8-M12 10 M12x1.25 155 9 28.5 25 17 16
. CFPST10x8-G01 10 G1/8" 13 7 28.5 225 14 16
CFPT10x8-04 0 12 o 335 34 16 CFPST10x8-G02 10 G1/4" 155 9 28.5 25 17 16
CFPT12x10-02 12 1/4" 14 315 26 18 CFPST10x8-G03 10 G3/8" 17 95 285 265 19 16
CFPT12x10-03 12 3/8" 145 315 26.5 18 R CFPST10x8-G04 10 G1/2" 19 11 335 34 24 16
P————— > 12" 70 205 n - CFPST12x10-M16 12 M16x1.5 17 95 315 29 19 18
., CFPST12x10-G02 12 G1/4" 155 9 315 27.5 17 18
CFPT18x15-04 18 172 0 36 34 2 CFPST12x10-G03 12 G3/8" 17 95 315 29 19 18
CFPT-G CFPST12x10-G04 12 G1/2" 19 11 345 34 24 18
CFPST18x15-M20 18 M20x1.5 19 11 36 34 24 25
[ | Tupeop | BSPP | | [ [ ] CFPST18x15.G04 18 61/2" 1 1 6 3 0 55
T N N R N s 51
CFPT4x2.5-M6 4 M6x1 11 6 26 19 10 10 C F P H
CFPT4x2.5-M8 4 M8x1 13 7 26 21 12 10
CFPT4x2.5-G01 4 GL/8" 13 7 2% 21 14 10 [ | Tuweoo | eser | |} | | | ]
CFPT6x4-M10 6 M10x1 13 7 26 21 12 12 CFPH4X2.5-M5 4 M5x0.8 5.8 21 18.3 8 12
CFPT6x4-GO1 6 G1/8" 13 7 26 21 14 12 CFPH6X4-M5 6 M5x0.8 5.8 25.5 183 8 14
CFPT6x4-G02 6 G1/4" 155 9 26 235 17 12 e 5 " s 255 ) g 1
CFPT8x6-M10 8 M10x1 13 7 245 21 12 14 B
CFPT8x6-G01 8 G1/8" 13 7 245 21 14 14 CFPH6X4-01 6 1/8 15 215 245 12 14
CFPT8X6-G02 8 G1/4" 155 9 24.5 235 17 14 SERLEN0Z @ e 10 223 21 13 1
CFPT8x6-G03 8 G3/8" 17 95 265 26.5 19 14 CFPH8X6-01 8 1/8" 7.5 26.5 24.5 12 16
CFPT10x8-M12 10 M12x1.25 15.5 9 28.5 25 17 16 CFPH8X6-02 8 1/4" 10 28.5 27.8 15 16
CFPT10x8-G01 10 G1/8" 13 7 285 225 14 16 CFPH8X6-03 8 3/8" 11 305 337 19 16
CFPT10x8-G02 10 G1/4" 15.5 9 28.5 25 17 16 CFPH10X8-02 10 1/4" 10 30 30.8 15 18
CFPT10x8-G03 10 G3/8" 17 9.5 28.5 26.5 19 16 CFPH10X8-03 10 3/8" 11 32 36.2 19 18
CFPT10x8-G04 10 G1/2" 19 11 335 34 24 16 eI I 12" - = = o "
CFPT12x10-M16 12 M16x1.5 17 95 315 29 19 18 )
CFPT12x10-G02 12 G1/4" 155 9 315 27.5 17 18 CFPH12X10-02 12 Y 4“ 10 31 308 15 »
CFPT12x10-G03 12 G3/8" 17 9.5 315 29 19 18 GRS 12 B il g o2 1 23
CFPT12x10-G04 12 G1/2" 19 11 345 34 24 18 CFPH12X10-04 12 12 12 36 37 24 25
CFPT18x15-M20 18 M20x1.5 19 11 36 34 24 25
CFPT18x15-G04 18 G1/2" 19 11 36 34 24 25

I N Y N N B
IS R N IO S S NS CFPHF

CFPST6x4-02 6 1/4" 14 26 22 12 \ CFPHF6X4-01 6 G1/8" 1/8" 7 7.5 27.5 29.5 13 14
CFPST8x6-01 8 1/8" 11 245 19 14 CFPHF6X4-02 6 G1/4" 1/4" 8 10 29.5 34.2 16 14
CFPST8x6-02 8 1/4" 14 24.5 22 14 CFPHF8X6-01 8 G1/8" 1/8" 7 75 26.5 29.5 14 16
CFPST8x6-03 8 3/8" 14.5 26.5 24 14 CFPHF8X6-02 8 G1/4" 1/4" 8 10 28.5 34.2 16 16
CFPST10x8-01 10 1/8" 11 28.5 20.5 16 CFPHF8X6-03 8 G3/8" 3/8" 9 11 30.5 39.7 19 16
CFPST10x8-02 10 1/4" 14 28.5 235 16 CFPHF10X8-01 10 G1/4" 1/4" 8 10 30 34.2 17 18
CFPST10x8-03 10 3/8" 14.5 285 24 16 CFPHF10X8-02 10 G3/8" 3/8" 9 11 32 39.7 19 18
CFPST10x8-04 10 172" 19 335 34 16 CFPHF10X8-03 10 G1/2" 1/2" 10 12 35 455 24 18
CFPST12x10-02 12 1/4" 14 315 26 18 CFPHF12X10-02 12 G1/4" 1/4" 8 10 31 34.2 19 25
CFPST12x10-03 12 3/8" 14.5 315 26.5 18 CFPHF12X10-03 12 G3/8" 3/8" 9 11 33 39.7 19 25
CFPST12x10-04 12 1/2" 19 3415 8a 18 CFPHF12X10-04 12 G1/2" 1/2" 10 12 36 45.5 24 25
CFPST18x15-04 18 1/2" 19 36 34 25

101 Zhejiang Ideal Bell Technology Co.,Ltd. 102



www.ideal-bell.com

Compression Fittings
*EZEXk

CFPUC CFPMM

S CFPGT6X4-4x2.5
CFPUC-4x2.5 45 10 10 CFPMM-4x2.5 Mexl 485 12 10 CFPGCTEX6-6x4 8 6 245 235 1 2
CFPUC-6x4 6 375 12 12 CFPMM-6x4 6 MI10x1 515 14 12 CFPGT10x8-8x6 10 8 28.5 265 16 14
CFPUC-86 8 395 14 14 CFPMM-8x6 8 M1l 54 17 14 CEPGT12x10-10x8 " 10 315 30 18 16
CFPUC-10x8 10 42 16 16 CFPMM-10x8 10 M14xl 565 17 16
CEPGT18X15-12x10 18 12 36 34 25 18
CFPUC-12x10 12 445 18 18 CFPMM-12x10 12 M16x1 59 19 18
CFPUC-18x15 18 485 25 25 CFPMM-18x15 18 M22x1 635 24 24
I T S S S Y
PART N L] os ; PART O, L] s TN v S U Y-S
Q CFPGJ04 4 195 4 10 10 4
CFPUL-4x2.5 4 23 10 CFPUT-4x2.5 4 3 10 CFPGJ04-06 4 205 43 10 10 @6
: CFPGJ04-08 4 215 44 10 10 8
CFPUL-6x4 6 26 12 CFPUT-6x4 6 26 12 \ CFPGJ04-10 4 2.5 45 10 10 ®10
| ] CFPGJ06-04 6 19.5 43.8 12 12 o4
CFPUL-8x6 8 24.5 14 s CFPUT-8x6 8 245 14 CFPGJ0B 6 20.5 448 12 12 6
CFPGJ06-08 6 215 458 12 12 o8
CFPUL-10x8 10 285 16 5 CFPUT-10x8 10 285 16 CFPEI06.10 6 5 158 1 1 @10
CFPGJ08-04 8 195 443 13 14 4
CFPUL-12x10 12 315 18 N CFPUT-12x10 12 315 18 o080 . s 253 5 1 o6
CFPUL-18x15 18 36 25 CFPUT-18x15 18 36 25 el 8 2L 463 o I $8
CFPGJ08-10 8 225 473 13 14 ®10
CFPGJ08-12 8 25 473 13 14 12
CFPGJ10-06 10 205 46.8 15 16 6
CFPGJ10-08 10 21.5 47.8 15 16 »8
CFPGJ10 10 225 48.8 15 16 ®10
CFPGJ10-12 10 225 48.8 15 16 012
CFPGJ12-08 12 215 49.3 18 18 [OF]
CFPGJ12-10 12 25 50.3 18 18 ®10
CFPGJI2 12 225 503 18 18 12
CFPGJ18-10 18 22.5 50.5 25 25 10
C F P CA C F P G CFPGJ18-12 18 22.5 50.5 25 25 12

PART NO. L st PART NO. p1| L | s | st | s
Q CFPCA-4x2.5 4 23 10 CFPGEX4-4x25 6 4 36 12 12 10

CFPCA-6x4 6 26 12 CFPG8X6-6x4 8 6 385 14 14 12

CFPCA-8x6 8 245 14 CFPGLOX88x6 10 8 41 16 16 14

CFPCA-10x8 10 285 16 CEPGI2X10-10x8 12 10 43 18 18 16

CFPCA-12x10 12 315 18 GRS el i) | e | 25 | 25 |

12x10
CFPCA-18x15 18 36 25

103 Zhejiang Ideal Bell Technology Co.,Ltd. 104



Vacuum Generator
BT kx42s

HOW T0 ORDER
BT XA SHRA
SRR

(1) 2 (3) 4 ) () 8

1) B4 Vacuum Characteristics

SEZHE High-Vacuum Medium Flow

—_

o

HEZ A& Medium Vacuum Large Flow

m - T
B

o

SEZ/VAE High-Vacuum at Low air pressure supply type

(2) B ER Nozzle OD

W% EZ Nozzle Dia. H Type L Type E Type
E HTERE E HTENE AE HTERE
X5 Code Negative | Vacuum | Negative | Vacuum | Negative | Vacuum
(mm) in. Pressure Flow Pressure Flow Pressure Flow

('[(“P';g/ (L/min) | (kpa) | (L/min) (kpa) (L/min)

05 0.5 0.02 -90.4 7 -66.5 11 -93 3

07 0.7 0.03 -93 13 -66.5 24 -93 10

10 1.0 0.04 -93 27 -66.5 26 -93 20

**H # L BUNTSE S 0.5Mpa,E £y 0.35Mpa (IREH)
**The supply pressure for H and L types is 0.5Mpa; and that for E type is 0.35Mpa

(3) ®I12E Valve Type (4) E= iR~ Vacuum Port Size

FEE: No Code HiE Normally closed type
— (5T Double solenoid type(retention

X Code 4 6

type)
FRIFiE, HEARZE T Dia, o4 o6
TR iR, TEZR, F55E

(5) E=iEmR~T Air Supply port size (6) HESIHR~T Exhaust port size
®4 ®6 = ZEE D »6
(7) E=FH % Vacuum Switches (8) #E{Xx %% No. of manifold

X3 Code T No Code

i3 Code 02 04 06 08

# LED RRHIENBR
23 (=&t ) Pressure

#1& Specification sensor with LED
pressure indicator(two

switch outputs)

A hout AR NO.of
Manifold

* HINEBFE DC 24V: Voltage DC 24V
* EBRE RN\ BBE DC 24V: Solenoid valve voltage DC 24V

Zhejiang Ideal Bell Technology Co.,Ltd. 106




Vacuum Generator
BT k428

RIE:
ERTMEHUN—FhER  BIEBT. MR AL, SRR, BRENM. BINM. BRI, EFym. BRINR. BESISHM. SN,
BENW. NRAZFZSEEESTMRE,

As a means of achieving automation, it has been widely used in electronics, semiconductor component assembly, automotive assembly, automatic

handling machinery, light industrial machinery, food machinery, medical machinery, printing machinery, plastic products machinery, packaging

machinery, forging machinery, robots, etc,.

#§:=: Characteristics

B REBUEBFHAEERFE~EAEN—MIHE, 8%, FE, &5, NENETTHRYE, XEFEEEETSNME, IE— T HRATENFEIE
AENMAREGAELFEZMNS B,

A vacuum generator is a new type of high-efficiency, clean, economical, and compact vacuum component that uses a positive pressure source
to generate negative pressure. With the help of Vacuum Generator, it becomes easy and convenient to get negative pressures in conditions with

compressed air or in pneumatic systems which requires both positive and negative pressures.

IVX BIEZ A%, e#/ RERE. RY/) AES. WNREFR .

IVX Vacuum Generator: High-efficiency, Light weight, Compact size, High Negative Pressure and Fast
response

& 0.35Mpa [EEHIN, ErLAE -93kpa falEE:

Input only 0.35Mpa positive pressure can get -93kpa negative pressure;

AESEEE S RE 1.2W BHRIRE;

Only need a 1.2W solenoid valve to connect and disconnect the internal air circuit;

EE2RAE 72g, FENFAXEEN 92.5g;
Only 72g in weight, If with pressure switcher, weight is 92.5g;

EMIMLRT 104*55*10.5 MM, HEHDFXRRT 7 117762.5*10.5 MM:
Without pressure switcher Size: 104*55*10.5mm, with Pressure Switcher: 11762.5*10.5mm

BRigit, GENKR, EEASKERERER, MR, CEEEHERILFEMERE:

Resonable Configuration design increases air circulation speed, fast response, making repair or replacement of parts easier

EEM N REE, —MEHRESE, —MERIETIRIE, SEHNAERITZ;

Applied with 2 Solenoid valves, One controls vacuum generation, Another controls vacuum distruction, can be used in more applications.

www.ideal-bell.com

[ZF: Applications

BERERZNATILERL, M. BF. EH. G, R 2R 8 ASFa,

Vacuum generators are widely used in industrial automation, machinery, electronics, medicine, packaging, printing, plastics, robotics and other
fields.

5 Characteristics

fEAMNF: Fluid Media FIROESR (FRERRIER) (HESAKIESE) Compressed Air(Not Liquid)
iTIEFEE Lubrication Accuracy 10pum
TEESSEE Working Pressure 0.3 ~ 0.5Mpa
T{ERESEE Working Temperature 0.3~60°C
TEEZSERE Working Vacuum 0~ -100 kpa
HNEB[E Voltage DC 24V
EASE Applied Tubes PU,PA

5B 12 Nozzle Dia.

BiEEZ Nozzle Dia. H Type L Type E Type

falE HTRE AE HTRE AE BETRE
K15 Code Negative | Vacuum | Negative | Vacuum | Negative | Vacuum
(mm) in. Pressure Flow Pressure Flow Pressure Flow
(in.Hg/ . .
L/min) L/min)
0.5 7

05 0.02 -90.4 -66.5 11 -93 3
07 0.7 0.03 -03 13 -66.5 24 =93 10
10 1.0 0.04 -93 27 -66.5 26 -93 20

**H 0 L BN SES 0.5Mpa,E £y 0.35Mpa (TREH)
**The supply pressure for H and L types is 0.5Mpa; and that for E type is 0.35Mpa

Piping Example

Suction aolenoid valve

MIThis valve is to generate vacuum
suction.

Vacuum switch with LED display

W Vacuum level is easily adjusted by checking LED display.
2 types are available; One is 2 switch output and the

other is analog output type.Besides,vacuum switch with
analog output only which is reasonably priced is available.

Blow-off solenoid valve il

.This valve ensures releasing a
work-piece from a vacuum pad
securely.Blow-off air is supplied
during the power supply to the q
valve is ON.

=1\ ==H

- ~——" Filter

M Preventing foreign
substances sucked by

avacuum pad from
]
Blow-off air rate adjustment needle
M Turn the release needle to the right(clockwise)to reduce
blow-off air and to the left (counterclockwise)to increase
Filter regulator

WSelect a regulator which can secure the described
Compressor pressure and flow rate in the specifications.

Vacuum pad_—

107

Zhejiang Ideal Bell Technology Co.,Ltd. 108




Vacuum Generator

HTERERS

AR
Vacuum
Characteristics

[EImES:]
Valve Type

AR
Vacuum Port
Size

HREERT
Air Supply
port size

HSIRR
Exhaust port
size

HERFX
Vacuum
Switches

www.ideal-bell.com

E%% No.
of manifold

05

S, =
AR S
HEHE BIEER | s TR | HREERY | HRIERST =X o
Vacuum Nozzle VI;EI]\IIE%:E Vacuum Port | Air Supply | Exhaust port Vacuum %}jﬁfa::{c(’;‘lg
Characteristics DIEN yP Size port size size Switches
L 05 NO Code 6 4 No code No code 04
E 10 E 06
DE 08
IVX-HO7-46J

6 4 No code No code 04
E 10 E 06
DE 08

IVX-HO7-46J-DW-02

=y ey T =3 P, - =
Characteristics Dia. port size size Switches
IVX H 07 D 4 6 J DW 02
L 05 NO Code 6 4 No code No code 04
E 10 E 06
DE 08

IVX-HO7-46J-04

Zp =B R ZIg ==k SR s
Vecum | ‘Nowe, | R | (AR | Vocoum K351 o,
Characteristics Dia. Size port size size Switches
IVX H 07 D 4 6 J ) 02
L 05 NO Code 6 4 No code No code 04
E 10 E 06
DE 08

IVX-HO7-46J-DW-06

ZS i 12 e = = =
Vocam | ‘Nowie | AR acuum port| ir Suply | Exhaustpor Vocoum 35 No.
Characteristics Dia. Size port size size Switches
IVX H 07 D 4 6 J DW 02
L 05 NO Code 6 4 No code No code 04
E 10 E 06
DE 08

IVX-HO7-46J-DW

[y T —— — y—— = 25
Vecwm | Noe | (AN, Vacuum bor| ir Sugply | Edbautt port Yecuum 571 No
Characteristics IEN Size port size size Switches
IVX H 07 D 4 6 J DW 02
L 05 NO Code 6 4 No code No code 04
E 10 E 06
DE 08

IVX-HO7-46J-DW-08

109

Zhejiang Ideal Bell Technology Co.,Ltd. 110



Vacuum Generator
BT k428

A% BTN - f7E% PR
1 1IN
e
N {5l
EA 0.7MPa
IR ERE 0.45MPa P 10 R N -LH
‘ masel e B
RARIRERE 5-60°C
e . FERTRMEMFH—RITENMNIR. HEE
BEBEEFINE o6 GHSAKF=NO) 1. ﬂ&ﬁﬁfé BT mm

151 dmm

kPa

BAHTE

BRARNRE
I/min(ANR)

ESE |/
ming(ANR)

www.ideal-bell.com

*"SA:\E U539 NEE S |'-H;| o
RIERRT, TRERRE 1ZU05S 0.5 85 7 9.5 #1F o1 22 23 Q4 D6 ©8 | @10 | @15 | @20 ©25| ©30| @40 | @50 | @60 | @80 | @ 100|@ 150 | @ 200
*fERERIREL, BEHE, - BHEE o - - .
* ERFANASEME), B8R : 2. REME
1ZU05L 0.5 48 12 9.5
* iR S BEARTHEIE, ] eI
- e o1 o ” " 453 B shoreA | REETE wreEs | EmRaEe |TULDRIIE
N TR A55/S -20 ~ 120°C Z26 - @1~ 200 .
* ay—d SLESN
HHESET 0.45MPa BIERT S REIRR A55/S -50 ~ 220°C HE - @ 1~@ 200 -
SE SBER A55/S -30 ~ 180°C 2GR 10°~10°Q-cm @1~ 50 -
FS EEREZELN A55/S -30 ~ 180°C FARE) - @6~ 50 -
NE SETHER A65/S 0~ 120°C 2EIES 10°~10°Q-cm 21~ 50 .
F R AT0/S -10 ~ 230°C xE - @1~@ 50 B
FE SEEZR AT0/S 0~ 200°C Z2BEA 10°~10°Q-cm @1~ 50 .
821 21 D2 @3 D4 D6 28 @ 10
A REMBEEREESZ RN, HEMRKREEYREM, #ERIDE ARG, RPESFARRTHHES®, JPE, ENts. 7 RRAE, 7 RExo
XRIEE, MEHEERIRA AS/S; IBSAKRERESR, W XUEENTIERE, BERN A6C0/S, BShEBHER.
- AMERSTE] SMERSE F: k7 RIFEE, EEaE
BS [ A
|ZFC100-04B |ZFC100-68 1ZFC200-68 |ZFC200-08B * PO.7RM[] % PIRM[] % PL5RM[] * P2RM [ % P3RM []  P4RM [ *PiR!—\ *PiR!—\ *PiR!—\ * P4R[]
o 5z ]
EeEhE ) ad iad i T o Bt By B T8 i i i i
R =5, A5 . gth \gih T gl ~ B |, (-] . ] AT ﬂ
g 00.2 . 00.4 g 002 © [ 006 I _[e08 | P o o <
ERE/EE -100~0kpa 0z < o = s = FEe THEE o s
WIRRRARE 0-60°C ({BRK4E) * P6R ] * P8R ] * P10R[] * P15R [J * P20R [J * P25R [ * P30R [J * P40R [] * P50R []
ESTER 0.15MPa ‘ 2 o = o — —— I \ % | [ | 3‘; | . .% \
EERERE BR. WRR. PURE. WHKPUE i | 1] J ] | q J 2T =\j;EJ‘ Lj . ]
B (&) 1625 163 : =\ : ] : Ll [ Ll =]
iy - - o bl _ B - ‘ y‘ By o0 !’ 030 040 as0
i PR = = o 025 /-T—\ ﬁ
ﬁgﬁ% ﬁ%iﬁﬁiﬁ % P60R [ o % P8OR [} o % P100R [J » * P;i(;iﬂ e * Pé(:;iﬂ -
© 017 041 2
= © [ o10, | 5.‘;4 | 023 _ 4-05 !l Ia95
LR, BB, C[100 | [ 04 ] | R e e

1

B
L

*RiER, EESERE.
“ IR AE R,

280 2100

~ > ]
o ! Q ! | o3 | o3 |
228 ‘ 252 068

wERS IN-OUT B&EFIME N
*RARENEREN, ARETRGEIEEIES, 100 | B 20e/min(ANR) ae |awie|Eazm) ﬁ
*HEBE, #O5HOFER—&%E, REHE, 200 | B 20e/min(ANR) 04 o4 | zFc100 /T\ z \
PRSI, 0 | 96 | 7o S50

08 ®8 | ZFC200 D<10 10pcs/ 8 |

“K” RS, , WR—MRN1~31T . _ , N . N
D>10 | lpes/i | X PPRER EERR, WE-ENL~STIER o ) cRmasnEg (mm) . Smsssss

m Zhejiang Ideal Bell Technology Co.,Ltd. 112



Vacuum Pad

Bk

www.ideal-bell.com

E=IRE - fRER PR @HE=#EO H=RE - frER PR
K £ 20 {4 15 T8 HEEO BRAME | R PA BEXINER R inO - AL S8 mm PAL2/3MR  PAG/SR PALO/L5R
151 4) P4 HE B e
PR ob2 5 o o
6J o6 T s i @
P C 10 R N 6J -LH 8 ppe N gl H H
sgeem]  mamal mammEl ool Eemm] RIS b4 E 1 21 | M5X05 | 8 2 8 4 @l < ® = Ay
6B O6 E 2 . 21 | M5X0.5 8 2 8 4 | M P Hio
01 Rcl/8 - 3 21 | M5X0.5 8 2 8 4 V' ed od 2
B
OFE TS @ | ram | Z s Twwars | |2 Toos | -
- - - PA20/25/30/40/50R
PC PD PE PA | 8 N 26 | M8X0.75 | 10 | 2 | 105 | 55 o6t
— . — BlE ), R.Jﬁ)ﬁ Fs 36.5 | M8X0.75 | 10 2 15 8 T
ERREEees | wEXEEREn A 2| | P -
=0 15 p. 375 | Mexo7s | 10 | 2 | 15 | o !
1 = _ 20 6B |44 | mia | 14 | 4 | 15 | 10
s < (LI TH
AR Hl 25 45 | mix1 | 14 | 4 | 18 | 11
é EI % ﬁ" H 30 45 | M12x1 | 14 4 18 | 11 ° LM
=% ; BENRY!
40 48 | M1x1 | 14 | 4 | 18 | 14 i 1
50 49 | M1x1 | 14 | 4 | 18 | 15 -
@ RRARZ #fi: mm \ - Lo |
* IREMB {N S SE FS} A=, 55HA%E, MMttm. HeEMBRSEEHBAILE
B2 | 01 | 02 | 03| 04| 06| 08 |©10| @15 020 | ©25| 230 | @40 | @50 | @60 | @80 | 100| 2 150| @ 200 FEIZE. o« ARRBFSR P RIRBAERAGENT. 1 BERFR, 1§
8 (MR 7 L “ O 7 ®hEF. f5l: PAISR () 6B
® BEHE - —
T =
N— PB EEXMEE=IRO PB1/2/3/4R PB6/8R PB10/15R
B shoreA | (ERIBESEH GREIEE | ERREEE | O OOLMIR 012
D Cow o c
N THERER A55/S -20 ~ 120°C & - @1~ 200 . e ‘ j
S FERRAR A55/S -50 ~ 220°C =) - @1~ 200 - —~ ﬁqzm L] ©
SE SEER A55jS -30 ~ 180°C BEOgS 10°~10°Q-cm @1~ 50 - * 4* 4
Sk 1 2 | M5 | 5 | 15 | 11 | 4 : jﬁq o
Fs RIS AS55/S -30 ~ 180°C ae - 26~0 50 - S w 2 wmos | 5 [ 5  u] 4 - - HE 17| 8
NE SHTREE A65/S 0~ 120°C BEES 10~10°0'cm | @1~@50 . 3 #© [ Twmos | 5 T 15 1 0 | 4 | ed
e . : PA20/25/30/40/50R Lol
F ISR AT0/S -10 ~ 230°C ke - @1~ 50 - 4 22 M3X0.5 5 15 11 4 012 PAG0/80/100R
FE SBELKR AT0/S 0~ 200°C L=y 10°~10°Q-cm @1~ 50 . 6 27 | Maxo.7 8 18 12 7 M —1c m 917
. REMBIMERIESEHIN;, HEMBREEFIEM, #BEWDE AR, RPBEEFERRTHHEM, HHHE, ENhtts. 7 RRIE 7 ]REk. 8 25.5 | M4x0.7 8 18 12 | 55 ;"’I B \N EI
B Q|
SANER, MEEERIRA AS/S; BSNRESEA, W GLARENTIERE, BN A6/S, BSNEAEA, 10 % | Mo | 12 | 20 | 18 | 8 ——Mj" QN
15 N. S, 37| mext | 12 | 20 | 18 | 9 P S
A | SE. 6J %:HH N H
mest| 20 |rie| ey | 38| mea | 12 [ 20 | 18 | 10 ‘ 7] B
PA BEEXTREPETIHO - RiRIEK = = TREA| g5 | BRE| 39 mext | 12 | 20 | 18 | 11 AT —
ne 0 S R
> =i
PA1/2/3/4R PA6/8R PA10/15R PA20/25/30/40/50R H T 30 FE 39 M6X1 12 20 18 11 d - /77\
o4 40 @2 | mext | 12 | 20 | 18 | 14 ‘ — ‘
L 26 | M6X0.75 | 8 | 2 | 10 | 4 50 42 | wmext | 12 | 20 | 18 | 15
2 gy [ MOXO5 | 8 L 2 L 10 | 4 60 585 | M8X125 | 17 | 5 | 23 | 205
a 3 26 | Mex075 | 8 | 2 | 10 | 4 : : :
9 ) % w0 5 T 2 10 [ a 80 1 |61 | mexi2s | 17 | 5 | 23 | 23 PA150/200R
R mii 6 32 | MIOXL | 12 3 12 7 100 63 | M8x1.25 | 17 5 23 | 25 M 228
8 30.5] Mloxl | 12 | 3 | 12 | 55 150 , o] wex | 26 | 10 | 40 | 4 MIE
PA60/80/100R PA150/200R 10 34 | MI2XL L 14 | 4 | 20 | 8 200 15| mMex2 | 26 | 10 | 40 | 50 » ©
__Rel/8 _, Reti4 PA 15 NéES\ 35 M12X1 14 4 20 9 —
H H Ees| 20 |ripe| 3B 6) |375] miax1 | 17 | 4 | 20 | 10 . e o e ) . B
. . ’ A 25 || T 5 RPN S SE FS) V™ R, SUBIE, 1L, HEHRSBE N, @ T ke
- [ [l o | [ Lner = T FE 385 | M14x1 17 4 20 11 FEIEZEARE, X IWRPERMETER, 4B 4), X FHRLIEBBP R ‘ ‘
i | L | | 40 4L5| ML | 17 | 4 | 20 | 14 SIRBARRASENR, * EERBRAR, #L © MR~ 88 “ 0 i I N
———_—-— 50 425 miaxa | 17 | 4 | 20 | 15 i
: % ] o | 60 505 M20X1 | 24 | 5 | 20 | 205 fl: PBISR () 6 ‘ od
80 1 [ 53 [ mooxt | 24 | 5 | 20 | 23
¢ TRELHAIR N S SE FS}0Bateg, SIS, 1L, HEMRSEEALEE, Hsmesa. 100 55 | M20X1 | 24 | 5 | 20 | 25
5 HRPRE (1 <O d < S0mm} SRS HSRO N, FASE, ¥ FERARESE P 75 150 95 | m24x1 | 30 | 10 | 30 | 45
MERRAAEIE, * BERBAR, HI © (MF) " MR ¢ 0 7 B Bl PAISR 0 6J 200 2 oo T v T30 T 10 30 | 0
113 Zhejiang Ideal Bell Technology Co.,Ltd. 114




www.ideal-bell.com

Vacuum Pad

o
BTG E
BT - fRER PR HZRE - tEE PR
PC s ZE NN E im0 s mm PCL2I3/4R PC6/8R PC10/15R PC20/25/30/40/50R PEEIEREiZREDR S8 mm
RS B s S
REMBE | ETEO
n w3 M0 1l a 32 3 PE0.7/1/1.5/2/3/4RM  PE1/2/3R PE6/8R
2 45 | @3 |mixa |14 | 4 |13 4 3 o7 ? M3X0.5 4 i
3 4B [43|mix1| 14 | 4 [ 13] 4 3 i i 1 9 M3X0.5 4 & o Max05
M3x0.5 . X0 M5x0.8
4 43 | M12X1 | 14 4 13 4 3 15 RM Arste 9 M3X0.5 4 Ly j H5.5 lf
6 a3 mixa | 14| 4 |13 7 3 B ) o @ HSS el Gf ¢ == | o] Ha
2 9 M3X0.5 4 -
8 455| M12X1 | 14 | 4 | 13 | 55 3 - O = = d
10 60 | M4XL | 17 | 4 | 20 | 8 6 3 9 M3X0.5 4 od Al ed —i—l.ed
PC [ 15 N, S. 61 | miax1 | 17 [ 4 [ 20| 9 6 PC60/80/100R PE 4 N. S 9 M3X0.5 4
A0 |’ S | O [ [wma 17| 4 2010 6 PC150/200R BEL SE. S, :
2Am %R | Fs, | 6B e et 4 BEz ) NE. F\ 13 | M3X05 4
B 25 | s |NEF. 63 | MI4X1 | 17 | 4 | 20 | 11 6 0 . = 57 FE -
=HES FE 63 | Miax1 | 17 | 4 |20 | 11 6 wa | %ﬁ I 2 13 M3X0.5 4
40 66 | M14x1 | 17 | 4 | 20 | 14 6 = T | s . 5 | waos .
50 67 | M14X1 | 17 | 4 | 20 | 15 6 " a f : i v ;ﬁgg
60 755| M22XL | 27 | 5 | 26 | 205 6 " [ Jos ] T 4 13 | M3X05 4
80 1 |79 maxa] 27| 5 [ 26|23 6 [ Jme T s 6 15 | M5X0.8 7
100 8L | M22x1 | 27 | 5 | 26 | 25 6 ! | . s | wos | ss
150 , || msx2[36 | 10|48 45 6 S E— 5 }7
\ q |
200 169 M30X2 | 36 | 10 | 48 | 50 6 L Z 1 SCREMT (N S SE FS) SR, HHHE, WiNttS. HEHMRSEED
% IREEAAER {N S SE FS} =, S8, M tbs. REMRSEBEOFLUER, FILLE, FREEIAEL, ¢ FERRAIFER P RIIREFERAALSIR.
FEIEEERE, X IWRPERMERIER, 04B M 4), X IERELIBESHEP R % BIEAEER, BB ¢ (MBR) 7“0 7 #iF. I PESR ()
FIRBIITRASLENR, X BERFESRE, #L “ MR 7 88 “ ) 7 #F.
fl: PC15R () 6J N N
PA BEEXTREE im0 - FHEEL
EfiI: mm
PD #EAMEE=HO —  PD1/2/3/4R PD6/SR PF1/2/3/4R PF6/8R
B{I: mm M — M
| e
as fadia = his Fi = J M
=E R o um ] ol @ M ) © < <
b— ] 5 = 1 32 | Mmioxi| 95 3 4 ] 0
T H8|
1 40 |M8X0.75| 10 | 2 | 13 |165| 4 | 3 é *i ﬁﬂfiﬁfw O o o 2 32 | M10XL| 9.5 3 4 ol © o r
| 109/ ¢ & - WAL o0 |
z g [efmeebe s Tt e S e s w055 | e
. . i i'g I
4 40 [mexors| 10 | 2 [ 13 [165] 4 | 3 PD10/15R 4 32 |Miwoxt] 95 | 3 | 4 od o od ®
6 41 |M8x075] 10 | 2 |13 | 18| 7 | 3 6 32 |Mix1| 95 3 7
8 39.5/M8x075| 10 | 2 | 13 | 18 | 55| 3
8 N. S. | 305 |Mi0x1| 95 3 | 55 -
10 58 | M14X1 | 17 | 4 | 20 | 20 | 8 | 6 #';T i | SE PF10/15R PF20/25/30/40/50R
PD =l 10 || FS. 51 | N14X1| 115 6 8 219
o | 15 N S. 59| Miax1 | 17 | 4 |20 | 20 | 9 | 6 HER B || L 219
= | 20 5&@ £ o 6o [ muax1| 17 | 4 |20 [20 |10 6 @ _ _ =2 g5 FE 52 |Nxi| 115 | 6 | 9 " < M
BRI 25 | s (NEF 61| Miaxi | 17 | 4 |20 | 20 | 11| 6 @ 20 54 | N14X1| 115 | 6 | 10 < o ]
iEf'T’ 30 FE 61 | MI4X1 | 17 | 4 | 20 | 20 | 11 | 6 e 117 lo| ) H17
40 64 | M14X1 | 17 | 4 | 20 | 20 | 14 | 6 _.t C‘ k3 ;{ ﬁ o3 25 55 | N14X1| 115 6 11 N H17 a0
50 65| M1ax1 | 17 | 4 | 20 | 20 | 15 | 6 ir T 30 55 | N14x1| 115 | 6 | 11 ° 5 : \ 8 1 |
60 945 M2x1 | 27 | 5 | %6 | - 205 6 PD60/80/100R PD150/200R 40 58 | N14X1| 115 | 6 | 14 [ ]
80 1 Jor|maal 2| s 26| - [ 23] [ Tz [ [LHi2 w
100 99 | mx1 |27 | 5 | 26 | - | 25 | 6 . ?‘%%‘éi J F%%i 0 9 [MaxL] 1S | 6 | 1 R ?g 4 | &
» ©
150 164| M30x2 | 36 | 10 | 48 | - | 45 | 6 H H . _ - ©
o0 2 Fostwon a6 To Tas T 50 1 e 4 5 ' i 5 % IREEHR N S SE FS) M=, SUiE, MmtaE. HEMES od ad
H26 @ H35 . BEWMAILEMY, FEIEEEARE. X FHREEESE P RYIREM
FEHSEE S, RERLT, = 2T 5 AE o it o S RN « » PR
R N S SE SO, 50059, 111, REHRSERLTLEN, o nem | B e |, FIRABEINR, « BERBLE, L (HE) " 86 0 5,
HEESNAR, * LRTEEMEITER, 048704, X ERLUESEP R Bl PFIOR O
FIRBIFERARENR. * EERBRE, BHE “ MR ” #8 “ 0 7 T, - )7*{ "}77
: PDI5R () 6J od od

115 Zhejiang Ideal Bell Technology Co.,Ltd. 116



AIR TUBES

PU Tube

Features/ $¥1iE

*Good performance under high-pressure and extreme weather, resistant against
vibration, corrosion, worn-out and bending.

*Digital screen control of tubing OD & ID during production, keep tolerance within +/-
0.12MM.

*Use imported color toner, to make sure no color fading after longer time.

*Can be used together with various kinds of fittings.

Technical Data/ A&

Applicable Fluid Type Air, Water(No Drinking Water/Hot water)

Working Pressure Range -14~150 PSI -0.99~10 bar

Negative Pressure -29.5 in Hg(-14PSI) -750mmHg(-750Torr)
. Caner (a ae -5~60°C (Air)
Working Temperature Range 23~140 °F (Air)  32~104 °F (Water) 0~40°C (Water)
Connect With Push-to-connect fittings, barb-type and compression fittings

POLYURETHANE (PU) TUBING POLYURETHANE (PU) TUBING

2mm

PU-0320 3mm 200m/roll
PU1/8" 3.17mm 2mm 200m/roll

PU-0425 4mm 2.5mm 200m/roll
PU-0640 6mm 4mm 200m/roll PU5/32" 3.97mm 2.5mm 200m/roll
RlaCso0 S S 100m /ol PU3/16" 4.76mm 3.2mm 200m/roll

PU-0855 8mm 5.5mm 100m/roll
PU-0860 8mm 6mm 100mjroll PU1/4" 6.35mm 4.23mm 200m/roll
PU-1065 10mm 6.5mm 100m/roll PU5/16" 7.94mm 5mm 100m/roll

PU-1080 10 8 100 (s
mm mm m/ro PU3/8" 9.52mm 6.35mm 100m/roll

PU-1280 12mm 8mm 100m/roll
PU-1410 14mm 10mm 100m/roll PUL/2" 12.7mm 846mm 100m/roll
PU-1612 16mm 12mm 100m/roll PU5/8" 15.9mm 12mm 100m/roll

PU-1613 16mm 13mm 100m/roll

Available Colors: [Blue] [Clear] [black] [Red] [Orangel [Green] ---. Available Colors: [Blue] [Clear] [black] [Red] [Orange] [Green] ---.

117 Zhejiang Ideal Bell Technology Co.,Ltd. 118



AIR TUBES

=
=

I

Bonded PU Tubing H& Reinforced PU Air Hose 3£

Features/ % Features/ 431
« Time-Saving Measure for OEM Applications - Exceptional flexibility allows a lower degree of tubing curvature radius.
« Easier and quicker for assembling Durable, light weight, abrasion resistant, chemical resistant, and cost-
« Excellent performance under high-pressure and extreme weather, resistant against effective.
vibration, corrosion, worn-out and bending.
Technical Data/ ¥ R Technical Data/ £ A#E
Applicable Fluid Type Air, Water(No Drinking Water/Hot water) Applicable Fluid Type Air, Water(No Drinking Water/Hot water)
Working Pressure Range -14~150 PSI -0.99~10 bar Working Pressure Range -14~150 PSI -0.99~10 bar
Negative Pressure -29.5in Hg(-14PSI) -750mmHg(-750Torr) Negative Pressure -29.5in Hg(-14PSI) -750mmHg(-750Torr)
Working Temperature Range 23~140 °F (Air)  32~104 °F (Water) 0~54562 (C\l\sg\égr) Working Temperature Range 23~140 °F (Air)  32~104 °F (Water) o~54~o§>((); g/\;g;;)r)

Bonded PU Tubing PU HE Reinforced PU Air Hose PU 3e£b%

2BPU-04 2 Bores 20m/Roll

2BPU-06 2 Bores 6mm 4mm 20m/Roll
3BPU-04 3 Bores 4mm 2mm 20m/Roll AU 100m/roll
3BPU-06 3 Bores 6mm 4mm 20m/Roll
4BPU-04 4 Bores 4mm 2mm 20m/Roll RPU-1065 10mm 6.5mm 100m/roll
4BPU-06 4 Bores 6mm 4mm 20m/Roll
5BPU-04 5 Bores 4mm 2mm 20m/Roll
5BPU-06 5Bores 6mm 4mm 20m/Roll RPU-1280 12mm 8mm 100m/roll
6BPU-04 6 Bores 4mm 2mm 20m/Roll
6BPU-06 6 Bores 6mm 4mm 20m/Roll
7BPU-04 7Bores 4mm 2mm 20m/Roll RPU-1410 Lmm 10mm 100m/roll
7BPU-06 7 Bores 6mm 4mm 20m/Roll
8BPU-04 8 Bores 4mm 2mm 20m/Roll RPU-1612 16mm 12mm 100m/roll
8BPU-06 8 Bores 6mm 4mm 20m/Roll

119 Zhejiang Ideal Bell Technology Co.,Ltd. 120



IR TUBES

-

i

I

PE Tube Nylon Tube

Features/ 431

- Excellent resistance to solvents and lightweight

Features/ $¥1iE

- Low moisture absorption, has good chemical resistance, a high tensile strength
- Resistant to sunlight and other forms of ultra violet radiation and exellent coupling retention in high pressure, temperature and vibration
- made from 100% non-toxic ingredients. It s inert nature and FDA approved status environments
makes it perfect for food, water and beverage piping. - Electrical resistance, can act as insulator in some conditions
It is ideal for use in pneumatic, drain piping, lab use and chemical transfer - Self-retracting and self-storing coil tube characteristics with excellent memory.

applications which require an inexpensive tubing. - Hardness: Shore D 70

Technical Data/ AT Technical Data/ AR

Applicable Fluid Type Air, Water Applicable Fluid Type Air, Water(No Drinking Water), oil,

Working Pressure Range -14~150 PSI -0.99~10 bar Working Pressure Range -14~218 PSI -0.99~15Bar

Negative Pressure -29.5in Hg(-14PSI) -750mmHg(-750Torr) Negative Pressure -29.5in Hg(-14PSI) -750mmHg(-750Torr)

-5~60°C (Air)
0~40°C (Water)

-40~90°C (Air)

Working Temperature Range 23~140 °F (Air)  32~104 °F (Water) 0~40°C (Water)

Working Temperature Range 23~194 °F (Air)  32~104 °F (Water)

Connect With Push-to-connect fittings, barb-type and compression fittings Connect With Push-to-connect fittings, barb-type and compression fittings

POLYETHYLENE (PE) TUBING POLYETHYLENE (PE) TUBING
NYLON (PA) TUBING NYLON (PA) TUBING

| PACKIN
temcode |00 10| packinG
PE-0425 200m/roll Item Code PACKING 2mm

B 2o NY-0420 4mm 200m/roll
PE1/4" 6.35mm 4.35mm 200m/roll NY-0425 4mm 2.5mm 200m/roll
PE-0640 6mm 4mm 200m/roll NY1/4" 6.35mm 4.35mm 200m/roll NY-0530 i i 200m/roll
SR o 0 NY-0640 6mm 4mm 200m/roll
-085! 8mm Smm m/ro PES5/16" 7.9mm 5.9mm 100m/roll NY5/16" 7.9mm 5.9mm 100m/roll NY-0860 8mm 6mm 100m/roll
NY-1075 10mm 7.5mm 100m/roll
PE-0860 8mm 6mm 100m/roll
/ NY3/8" 9.5mm 6.5mm 100m/roll NY-1080 10mm 8mm 100m/roll
PE-1065 10mm 6.5mm 100myroll PE3/8 9.5mm 6.5mm 100m/roll NY-1210 12mm 10mm 100m/roll
NY1/2" 12.7mm 9.7mm 100m/roll NY-1209 12mm Smm 100m/roll
NY-1411 14mm 1lmm 50m/roll
PE-1280 12mm 8mm 100m/roll 3
PE1/2 12.7mm 9.7mm 100m/roll 5
/ / NY5/8" 15.8mm 12.8mm 50m/roll :: i:g izmm gmm zgmjro::
PE-1290 12mm 9mm 100m/roll - ni NN /L0
i " NY-1815 18mm 15mm 50m/roll
PE1612 Lomm Lomm Sl PES/8 15.8mm 12.8mm 100m/roll Available Colors: [Blue] [Clear] [black] [Red] [Orange] [Green] ---. Available Colors: [Blue] [Clear] [black] [Red] [Orange] [Green] ---.

12 Zhejiang Ideal Bell Technology Co.,Ltd. 122



AIR TUBES

=
=

g

PTFE Tube

PTFE Tubing: PTFE Tubing(Teflone tubing), which is extruded with very tight tolerances, is a good choice for many advanced applications. PTFE
straight tubes properties allow exceptional resistance to degeneration of mechanical properties under severe conditions. PTFE tubing does not

support combustion and has very good dielectric properties.

Features/ %¥1E

- Smooth, non-porous & dimensionally stable

- Ultra-pure & non-toxic

- Autoclavable

- UVresistant

- Temperature range: -270°C to 260°C /-450° F to 500° F
- Meets FDA standards

Applications/ R/

Demanding lab, chemical, electrical, mechanical, pharmaceutical, and automotive applications. Good for high-purity work. PTFE tubing

withstands extreme temperatures.

PTFE Tubing

- PaCklng/RO“ _ o

PTFEL/8 © 50m/roll

PTFE-0425 215 50m/roll
PTFES/32 © 4 25 50m/roll
PTFE-0604 6 4 50m/roll PTFEL/4 © -1/8 © 6.35 3.18 50m/roll
OTFE0806 . . somroll PTFEL/4 © -5/32 6.35 3.96 50m/roll
PTFEL/4 “ -3/16 ° 6.35 478 50m/roll

PTFE-1080 10 8 50m/roll
PTFE3/8 “ 9.53 6.35 50m/roll
PTFE-1210 1 10 S0m/roll PTFEL/2 © 127 9.53 50m/roll

* We can make different length per Roll as your request! Thanks!

www.ideal-bell.com

FEP Tubes

FEP Tubing: Fluorinated, ethylene propylene (FEP) is a chemically inert thermoplastic. This transparent, FEP tubing is excellent for acids (all
concentrations), aliphatic alcohols, aldehydes, bases, esters, hydrocarbons (aliphatic, aromatic and halogenated), ketones and strong oxidizing

agents.

Features/ $${E

The cost-effective brother of PTFE, FEP was developed as a conventionally melt-
processible fluoropolymer in response to the limitations and initial difficulties in
processing PTFE.

- Excellent physical & electrical properties

- Ultra-pure & non-toxic

- Non-corroding, non-oxidizing & non-stick

- Can be cleaned in boiling nitric acid & autoclavable

- Do not radiation sterilize

- UVresistant
/ - Temperature range: -240°C t0205°C /-400° F to 400° F
- Meets FDA & USP Class VI standards

Applications/ R/

Demanding lab, chemical, electrical, mechanical, pharmaceutical, and automotive applications. Excellent for the transfer of extreme temperature

or highly corrosive materials. Also good for high-purity work.

FEP TUBING

- PaCkmg/Rou _ ——

FEP1/8 “ 50m/roll

FEP-0425 2.5 50m/roll
FEP5/32 © 4 2.5 50m/roll
FEP-0604 6 4 50m/roll FEP1/4 © -1/8 ° 6.35 3.18 50m/roll
FEP-0806 8 6 50m/roll FEP1/4 © -5/32 ° 6.35 3.96 50m/roll
FEP1/4 © -3/16 © 6.35 4.78 50m/roll

FEP-1080 10 8 50m/roll
FEP3/8 © 9.53 6.35 50m/roll
FEP-1210 12 10 50m/roll FEP1/2 © 127 9.53 50m/roll

* We can make different length per Roll as your request! Thanks!

123

Zhejiang Ideal Bell Technology Co.,Ltd. 124




AIR TUBES

/=
=

I

Weld Spatter Resistant Tubing PEMAE Single-Core Weld Spatter Tubing

= R =
BEBRE
SPU: Single-Core Weld Spatter Tubing is a rubber/polyurethane blended material specifically designed for use near welding operations.

. . . - . . . e e OD(MM ID(MM Packing/Roll
Extruded from a single core, there is no extra process required, such as stripping away a jacket. It provides protection against indirect exposure to _
6mm 4mm

weld sparks. SPU-0604 100m/roll
SPU-0805 8mm 5mm 100m/roll
SPU-1065 10mm 6.5mm 100m/roll
TPU: Weld Spatter Resistant Tubing is made 2 layers, inside is PU and outside is anti-flaming jacket, it is specifically designed for use near SPU-1070 10mm - 100m/roll
welding operations. The protective olefin flame-resistant jacket provides protection against direct exposure to weld sparks
SPU-1280 12mm 8mm 100m/roll
SPU-1410 14mm 10mm 100m/roll
TAPU: Weld Spatter and Static Resistant Tubing: 3 layers: inside is PU, middle layer is an aluminum foil, outside is anti- SR Sl FLUIE 100m/roll

flaming jacket An aluminum foil is added between the outer layer and the inner tube to increase the flame retardant life. Compared with the TPU

series, the flame retardant life is extended by 2 times longer. Can be used in sparking environments such as arc welding and electric welding.

Weld Spatter Resistant Tubing

= Wk =5

WEFBIAE
TPU-0604 6mm 4mm 100m/roll
TPU-0805 8mm 5mm 100m/roll
TPU-1065 10mm 6.5mm 100m/roll
TPU-1070 10mm 7mm 100m/roll
TPU-1280 12mm 8mm 100m/roll
TPU-1410 14mm 10mm 100m/roll
TPU-1612 16mm 12mm 100m/roll

Technical Data/ B AN Weld Spatter and Static Resistant Tubing
— E=ERB WS O &
S . . =BEMRERETEFRE
Applicable Fluid Type Air, Water(No Drinking Water/Hot water)
S S ™ N
Working Pressure Range -14~150 PSI -0.99~10 bar
TAPU-0604 6mm 4mm 100m/roll
Negative Pressure -29.5in Hg(-14PSI) -750mmHg(-750Torr) TAPU-0805 8mm 6mm 100m/roll
Working Temperature Range 23~140 °F (Air)  32~104 °F (Water) 0~54~06°g f:V\EQtIQr) TAPU-1065 10mm gmm 100m/roll
TAPU-1280 12mm 10mm 100m/roll
Connected with Weld Fittings

RPU-1612 16mm 12mm 100m/roll

Outside Cover Color Available: Black, Blue, Red, White, Green

125 Zhejiang Ideal Bell Technology Co.,Ltd. 126



Features/ $¥1iE

* Installed at exhaust ports to diminish ventilating noise.
REA SO LR SRS,

*Very compact, can be easily installed in limited spaces.
ZWEE, ERNZTESTEE.

* Plastic Silencer are made from corrosion-resistant plastic to have long * Excellent noise reduction and filtering effect in dry conditions.

durability and be light-weight. TETREFHTEE S8R ERHESHER.

IR B S 28 R P MY B TR 2B KR, B

* We have BSPP thread, BSPT thread, NPT thread for your choice.

* Metal Silencer are available for high temperature and pressuf{i15 BSPP 241, BSPT $241, NPT i24UHE%E,
environments,

and they are durable against impact.

EREERIBETEESENRE, HAAZHE,

* We also can do according to customer’ s requirement or drawing.

FNEARIEZ ANERIEERE Mo

www.ideal-bell.com

A Type Series Muffler B Type Series Muffler

m Thread(R) S(mm)

A-M5 M5 9
" B-06 1/8" 12
A-06 1/8 13
A-08 1/4" 17 B-08 14" 5
A-10 3/8" 22
A-15 1/2" 24 B-10 3/8" 19
A-20 3/4" 30 .
5 B-15 1/2 22
A-25 1 36
A-32 11/4" 46 B-20 3/4" 27
A-40 11/2" 52
A-50 2" 64 B-25 1 36

SD Type Timing Muffler

m Thread(R) S(mm)

B Type Exhaust Muffling Throttle Valve

Thread(R) S(mm)

V Type Series Muffler

V-M5 M5 T

P

SD-06 1/8" 12 BE-06 1/8" 12
SD-08 1/4" 15 BE-08 1/4" 14
SD-10 3/8" 19 BE-10 3/8" 17
SD-15 1/2" 22 BE-15 1/2" 24
SD-20 3/4" 27 BE-20 3/4" 27
SD-25 1" 34 BE-25 1" 34

SU Type Plastic Muffler

1/8" 12

{ SU-06

V-06 1/8" 12

SU-08 1/4" 15
V-08 1/4" 15

SU-10 3/8" 19
V-10 3/8" 19

; SU-15 1/2" 22
V-15 1/2 22

V-20 3/4" 30 SU-20 3/4" 27

V-25 1" 36 SU-25 1" 34

Zhejiang Ideal Bell Technology Co.,Ltd. 128




PNEUMATIC SILENCER

o HESS

PSU Plastic Silencer (Grey) PSU Plastic Silencer (Blue)

e 5
PSU-M5 M5 18 PSU-M5 M5 18
PSU-06 G1/8" 41 PSU-06 G1/8" 41
PSU-08 G1/4" 64 PSU-08 G1/4" 64
PSU-10 G3/8" 84 PSU-10 G3/8" 84
PSU-15 G1/2" 94 PSU-15 G1/2" 94
PSU-20 G3/4" PSU-20 G3/4"

PSU-25 G1" PSU-25 G1"

PSE Plastic Silencer

Total
1/8" 13

PSE-06

PSE-08 1/4" 17
PSE-10 3/8" 25
PSE-15 1/2" 25
PSE-20 3/4" 37
PSE-25 1" 47

129 Zhejiang Ideal Bell Technology Co.,Ltd. 130



